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CONCLUSIONS PROCEDURE The results were processed according to JIS Z 8401:1999 guidelines

_ _ _ (4) and statistical analysis for the processed data was performed Table 11
1. Relative reproducibility standard deviation (RSDg) for Six sample pairs (A/B, C/D, E/F, G/H, 1/J and K/L) were provided according to JIS Z 8402-2:1999 guidelines (5) and the Consumer Statistical Summary of Results
determination of wheat protein content using FASPEK for study. _ o _ _ Affairs Agency Notice.
Wheat/Gluten(Gliadin) ELISA Kit Il ranged from 7.5 to In the website (2), it is shown that barley malt also gives slightly Sample Pair
20.1 %, and was judged acceptable. positive result with FASPEK Wheat/Gluten(Gliadin) ELISA Kit I1. A/B CD EF GH 1IJ KL
Therefore we chose one pair (A/B) as beer not containing wheat to RESULTS AND DISCUSSION Number of Laboratories 10 11 12 12 12 12
2. Recovery of wheat protein was 83.8 %, and was judged evaluate the value of false positive. We also chose one pair (K/L) Grand Mean (m) 141 6.55 6.28 15.13 12.82 10.98
acceptable. which was spiked about 10 pg/ml of wheat protein to sample pair The results for wheat protein content are shown in Table I. The Repeatability Standard Deviation (5. 007 022 024 090 092 0.29
(NB) to evaluate recovery. The measured value of the Splked data of which CV value is over 20 9% were excluded from the Relative Repeatability Standard Deviation (RSD,,%) 4.7 3.3 3.9 2.0 2.5 2.1

RECOMMENDATIONS :Vlllleat _proteinsthas 11.43 pg/ml. Recovery was calculated by the statistical analysis based on the Consumer Affairs Agency Notice. Reproducibility Standard Deviation (Sp) 028 1.24 108 1.84 216 0.83
Oliowing equation. The other data were checked for outliers using Mandel’s h and k

Relative Reproducibility Standard Deviation (RSDg,%) 20.1 189 172 122 169 7.5

_ Recovery(% )_Wheat protein content of sample K/L—Wheat protein content of sample A/B_, o, statistics, and Cochran and Grubbs outlier test, and outliers were
1. It was concluded that the ELISA method using FASPEK 11.43 not detected. The statistical summary of results is shown in Table I1. Recovery (%) - - - - - 38
Wheat/GIut(?n(Glladln? ELISA Kit !I Is capable of determining The samples were degassed at 20-30 °C and analysis was Each of the calculated analytical values ranged as follows: RSDr
Wheat protein content in beer containing 20 pg/ml or less. performed using FASPEK Wheat/Gluten(Gliadin) ELISA Kit 1. ranged from 2.0 to 4.7 %; RSD ranged from 7.5 to 20.1 %; and
. . All procedures were performed based on the manufacturer’s recovery was 83.8 %. These values were judged acceptable.
2. The subcommittee recommends that the ELISA method using manual (3). Sample was finally diluted 400-fold. Assays were It was concluded that the method is capable of determining wheat
!:ASPI_EK Wheat/GIuten(Glladln) ELISA Kit I1 be adopted for performed in triplicate. protein content in beer containing 20 pg/ml or less. The LITERATURE CITED
Inclusion in the Methods of Analysis of BCOJ. Microplate reader with a 450 nm and a 600-650 nm filter was used subcommittee recommends that the method should be adopted for
3. Discharge the subcommittee for measuring absorbance. Inclusion in the Methods of Analysis of BCOJ. (1) The Consumer Affairs Agency Notice ”Detection method of

Allergenic foods” 286,10th September, 2010.

| Table | | | http://www.caa.go.jp/foods/pdf/syokuhin495.pdf
ABSTRACT Wheat Protein Content (ng/ml) Determined Using (2) Morinaga Institute of Biological Science, Inc. Sensitivity report
FASPEK Wheat/Gluten(Gliadin) ELISA Kit 1 on website.
Barley malt is the main ingredient in most Japanese beer, but Sample Pair"  Sample Pair  Sample Pair  Sample Pair  Sample Pair  Sample Pair 3 rll\;tp:_/ / wwvvl.miqbs.coT{Bp_r(I)du_ct/ ;toSkL_Jtei/faslpek2/reactive.html
- - - - - Collaborator A B C D E F G H I J K L rin NSt I I 1en NnC.
Whe.at s also use.d as an |ngre_d|er_1t In some types of be.er' Itis 1 184 1.82 833 868 785 729 1671 17.10 1486 14.60 11.45 11.87 (3) W(f)l 7(%? St gjlt.e g I(E)IE)IQSZ?K'C Iel o C. |
desired to establish the quantitative method for allergic wheat 0 078 156 313 625 125 25 50 (ng/ml) 2 134" 108° 553 548 562 531 1497 1509 1407 1382 1072 11.01 @ ] eat IUtg”( 'Ial S'”) o thl ?peratlor;_man:cjfa f
; ; ; ; ; i ] ] : : : : : : : : : : : : trial Standards. Rules Tor rounding o1t 0

protein. It will be able to detect wheat protein contamination into Fio. | The color of the standard solution ’ LIS LT 500 b2 a2 4861115 1110 1088 1081 907 - 921 apanese Inaus _
wheat free beer through a production line. It will be useful to ) 5 171 161 797 853 715 687 1639 1601 1672 1697 1070 11.09 numerical values (Z 8401:1999). In: JIS _Ha_ndbOOk 57: Quality
assess the a”erglc Inﬂuence OoN consumers. 6 1.27 1.28 6.45 6.71 6.43 5.90 1440 14.43 10.76 11.32 11.79 11.35 COntrO| 2014 Japanese Standards ASSOCIatIOI’], TOkyO, Japan pp

The Consumer Affairs Agency in Japan indicates that the ELISA — s 1as 168 666 619 617 613 1364 1470 1055 1127 1065 1037 1539-1540, 2014.
method is applicable to quantitate allergic wheat protein, and ‘-12 190 1(1); 1'82 ;L.ZEIB 223 g.gg Z:ﬁ ﬁ.sla?j g.gg ig.gi 1833 18?2 1(1),2&13 (5) Japa_n(_ese Industrial Standards. Accuracy (trueness and |
foods with wheat protein contents exceeding 10 pg/g are evaluated A o8 . 11 127 113 771 759 625 662 1592 1647 1466 1412 1129 11.63 precision) of measurement.mEthOds and r.es.UItS' Part 2: BaSI.C. :
positive. The ELISA method has not been conducted with beer in < s — 12 187" 229" 724" 763" 824 864 1551 1568 1356 1353 1220 1182 method for the determination of repeatability and reproducibility
Japan until now 04 ,./ Mean 141 140 649 661 633 624 1511 1516 1273 1292 1092 11.04 of a standard measurement method (Z 8402-2:1999). In: JIS

' 0.2 Grand Mean 1.41 6.55 6.28 15.13 12.82 10.98 . .
: - - e~ Handbook 57: Quality Control 2014. Japanese Standards

The BCOJ subcommittee was charged le[h evaluatlr!g the | o L ; L . L L L ! Association. Tokyo, Japan. pp. 363.305, 2014
ELISA method. We evaluated wheat protein contents in beer with : a Data as false positive because sample A/B do not contain wheat ’ ! IR ! '
FASPEK Wheat/Gluten(Gliadin) ELISA Kit Il which met the Wheat protein content (ng/ml) b Outliers identified based on the Consumer Affairs Agency Notice and excluded from the statistical analysis.

guidelines determined by the Consumer Affairs Agency (1).
Fig. Il Standard Curve



プリン体 (ハズレ値除く)

				データを入力する。

				Ａ表（生データ:yijk）																				Ｂ表（平均値：yij）																				yij-yj				平均との差																(yij-yj)2		平均との差の２乗

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

		A1		1		1.7		1.9		3.0		6.4		8.5		7.3		11.0		14.3				1		1.65		2.00		3.00		6.30		8.50		7.25		10.90		14.20				1		-0.04		-0.40		0.13		0.20		0.43		-0.12		-0.22		-0.09				1		0.00		0.16		0.02		0.04		0.18		0.01		0.05		0.01

						1.6		2.1		3.0		6.2		8.5		7.2		10.8		14.1				2		1.40		2.05		2.45		5.70		7.50		6.50		10.40		12.55				2		-0.29		-0.35		-0.42		-0.40		-0.57		-0.87		-0.72		-1.74				2		0.09		0.12		0.18		0.16		0.33		0.76		0.51		3.02

		A2		2		1.4		2.0		2.4		5.7		7.5		6.6		10.2		12.6				3		1.40		1.90		2.30		4.90		6.45		5.70		8.85		11.30				3		-0.29		-0.50		-0.57		-1.20		-1.62		-1.67		-2.27		-2.99				3		0.09		0.25		0.33		1.44		2.63		2.80		5.14		8.93

						1.4		2.1		2.5		5.7		7.5		6.4		10.6		12.5				4		1.70		2.50		2.90		6.20		8.55		7.65		11.20		14.10				4		0.01		0.10		0.03		0.10		0.48		0.28		0.08		-0.19				4		0.00		0.01		0.00		0.01		0.23		0.08		0.01		0.04

		K		3		1.4		1.9		2.3		5.0		6.4		5.7		8.7		10.9				5		1.35		2.20		2.55		5.70		6.65		7.70		10.50		13.35				5		-0.34		-0.20		-0.32		-0.40		-1.42		0.33		-0.62		-0.94				5		0.12		0.04		0.10		0.16		2.02		0.11		0.38		0.88

						1.4		1.9		2.3		4.8		6.5		5.7		9.0		11.7				6		2.10		2.80		3.50		7.40		9.90		8.80		13.70		17.00				6		0.41		0.40		0.63		1.30		1.83		1.43		2.58		2.71				6		0.16		0.16		0.39		1.69		3.34		2.04		6.67		7.35

		Su1		4		1.8		2.5		3.0		6.2		8.5		7.9		11.0		14.2				7		1.90		2.90		2.90		5.75		7.80		7.50		10.65		16.45				7		0.21		0.50		0.03		-0.35		-0.27		0.13		-0.47		2.16				7		0.04		0.25		0.00		0.12		0.07		0.02		0.22		4.67

						1.6		2.5		2.8		6.2		8.6		7.4		11.4		14.0				8		1.70		2.60		3.00		6.40		8.70		7.60		11.75		14.00				8		0.01		0.20		0.13		0.30		0.63		0.23		0.63		-0.29				8		0.00		0.04		0.02		0.09		0.39		0.05		0.40		0.08

		Sp		5		1.3		2.2		2.6		5.9		6.7		7.8		10.6		13.1				9		2.05		2.65		3.25		6.55		8.60		7.65		12.10		15.65				9		0.36		0.25		0.38		0.45		0.53		0.28		0.98		1.36				9		0.13		0.06		0.14		0.20		0.28		0.08		0.97		1.85

						1.4		2.2		2.5		5.5		6.6		7.6		10.4		13.6				10																				10																				10

		O		6		2.1		2.8		3.5		7.3		9.9		8.7		13.8		16.9				11																				11																				11

						2.1		2.8		3.5		7.5		9.9		8.9		13.6		17.1				12																				12																				12

		帝京大学		7		2.0		3.1		3.0		5.5		8.2		8.1		10.8		17.4				13																				13																				13

						1.8		2.7		2.8		6.0		7.4		6.9		10.5		15.5				14																				14																				14

		島津製作所		8		1.7		2.6		3.0		6.4		8.7		7.6		11.7		14.2				15																				15																				15

						1.7		2.6		3.0		6.4		8.7		7.6		11.8		13.8				16																				16																				16

		酒類総研		9		2.0		2.6		3.3		6.6		8.5		7.6		12.2		15.6				17																				17																				17

						2.1		2.7		3.2		6.5		8.7		7.7		12.0		15.7				平均値		1.69		2.40		2.87		6.10		8.07		7.37		11.12		14.29																								Σ		0.63		1.10		1.18		3.92		9.48		5.94		14.35		26.84

																								Ｃ表（差:sij:|yij1-yij2|）																				sij2		(yij1-yij2)2		差の２乗

																										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

																								1		0.1		0.2		0.0		0.2		0.0		0.1		0.2		0.2				1		0.01		0.04		0.00		0.04		0.00		0.01		0.04		0.04

																								2		0.0		0.1		0.1		0.0		0.0		0.2		0.4		0.1				2		0.00		0.01		0.01		0.00		0.00		0.04		0.16		0.01

																								3		0.0		0.0		0.0		0.2		0.1		0.0		0.3		0.8				3		0.00		0.00		0.00		0.04		0.01		0.00		0.09		0.64

																								4		0.2		0.0		0.2		0.0		0.1		0.5		0.4		0.2				4		0.04		0.00		0.04		0.00		0.01		0.25		0.16		0.04

																								5		0.1		0.0		0.1		0.4		0.1		0.2		0.2		0.5				5		0.01		0.00		0.01		0.16		0.01		0.04		0.04		0.25

																								6		0.0		0.0		0.0		0.2		0.0		0.2		0.2		0.2				6		0.00		0.00		0.00		0.04		0.00		0.04		0.04		0.04

																								7		0.2		0.4		0.2		0.5		0.8		1.2		0.3		1.9				7		0.04		0.16		0.04		0.25		0.64		1.44		0.09		3.61

																								8		0.0		0.0		0.0		0.0		0.0		0.0		0.1		0.4				8		0.00		0.00		0.00		0.00		0.00		0.00		0.01		0.16

																								9		0.1		0.1		0.1		0.1		0.2		0.1		0.2		0.1				9		0.01		0.01		0.01		0.01		0.04		0.01		0.04		0.01

																								10																				10

																								11																				11

																								12																				12

																								13																				13

																								14																				14

				ラボ数ｐ＝		9														ハズレ値				15																				15

																								16																				16

																								17																				17

																																												Σ		0.11		0.22		0.11		0.54		0.71		1.83		0.67		4.80

				Mandel's k　（バラツキの評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.90		1.28		0.00		0.82		0.00		0.22		0.73		0.27

				2		0.00		0.64		0.90		0.00		0.00		0.44		1.47		0.14

				3		0.00		0.00		0.00		0.82		0.36		0.00		1.10		1.10

				4		1.81		0.00		1.81		0.00		0.36		1.11		1.47		0.27

				5		0.90		0.00		0.90		1.63		0.36		0.44		0.73		0.68

				6		0.00		0.00		0.00		0.82		0.00		0.44		0.73		0.27

				7		1.81		2.56		1.81		2.04		2.85		2.66		1.10		2.60

				8		0.00		0.00		0.00		0.00		0.00		0.00		0.37		0.55

				9		0.90		0.64		0.90		0.41		0.71		0.22		0.73		0.14

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				9ラボの場合、1%＝2.29、5%＝1.90

				Mandel's h　（平均値の評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		-0.16		-1.08		0.33		0.29		0.39		-0.14		-0.16		-0.05

				2		-1.05		-0.95		-1.10		-0.57		-0.53		-1.01		-0.54		-0.95

				3		-1.05		-1.35		-1.49		-1.72		-1.49		-1.94		-1.69		-1.63

				4		0.02		0.27		0.07		0.14		0.44		0.32		0.06		-0.10

				5		-1.23		-0.54		-0.84		-0.57		-1.31		0.38		-0.46		-0.51

				6		1.45		1.08		1.63		1.86		1.68		1.66		1.93		1.48

				7		0.73		1.35		0.07		-0.50		-0.25		0.15		-0.35		1.18

				8		0.02		0.54		0.33		0.43		0.58		0.26		0.47		-0.16

				9		1.27		0.68		0.98		0.64		0.48		0.32		0.73		0.74

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				9ラボの場合、1%＝2.13、5%＝1.78

				Cochran's test （バラツキの評価）																				Ｃ表（sij）異常値を除いて、大きい順に並べ替える。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		sij2				サンプルB						サンプルC						サンプルD						サンプルE						サンプルF						サンプルG						サンプルH

				Ｃ		0.3636		0.6667		0.3636		0.4630		0.5714		0.6410		0.2388		0.5378				4		0.2		0.04		1		0.2		0.04		4		0.2		0.04		7		0.5		0.25		9		0.2		0.04		4		0.5		0.25		2		0.4		0.16		3		0.8		0.64

				表からcritical valueを求める。																				7		0.2		0.04		2		0.1		0.01		7		0.2		0.04		5		0.4		0.16		3		0.1		0.01		2		0.2		0.04		4		0.4		0.16		5		0.5		0.25

				ラボ数		9		8		9		9		8		8		9		8				1		0.1		0.01		9		0.1		0.01		2		0.1		0.01		1		0.2		0.04		4		0.1		0.01		5		0.2		0.04		3		0.3		0.09		8		0.4		0.16

				1%		0.754		0.794		0.754		0.754		0.794		0.794		0.754		0.794				5		0.1		0.01		3		0.0		0		5		0.1		0.01		3		0.2		0.04		5		0.1		0.01		6		0.2		0.04		7		0.3		0.09		1		0.2		0.04

				5%		0.638		0.680		0.638		0.638		0.680		0.680		0.638		0.680				9		0.1		0.01		4		0.0		0		9		0.1		0.01		6		0.2		0.04		1		0.0		0		1		0.1		0.01		1		0.2		0.04		4		0.2		0.04

																								2		0.0		0		5		0.0		0		1		0.0		0		9		0.1		0.01		2		0.0		0		9		0.1		0.01		5		0.2		0.04		6		0.2		0.04

				9ラボの場合、1%＝0.754、5%＝0.638																				3		0.0		0		6		0.0		0		3		0.0		0		2		0.0		0		6		0.0		0		3		0.0		0		6		0.2		0.04		2		0.1		0.01

																								6		0.0		0		8		0.0		0		6		0.0		0		4		0.0		0		8		0.0		0		8		0.0		0		9		0.2		0.04		9		0.1		0.01

																								8		0.0		0						0		8		0.0		0		8		0.0		0						0						0		8		0.1		0.01						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0												0						0						0						0						0

																										Σ		0.11				Σ		0.06				Σ		0.11				Σ		0.54				Σ		0.07				Σ		0.39				Σ		0.67				Σ		1.19

				Grubb's test （平均値の評価）：上端の値、下端の値、大きい２つの値、小さい２つの値を検定する。

				異常値を除いて昇順に並べる。																				異常値を除いて降順に並べる。																								s02の計算		(yi-y)2																		sp-1,p2の計算				(yi-yp-1,p)2																s1,22の計算				(yi-y1,2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.35		1.90		2.30		4.90		6.45		5.70		8.85		11.30				1		2.10		2.80		3.50		7.40		9.90		8.80		13.70		17.00								1		0.1		0.2		0.3		1.4		2.7		2.7		5.1		7.4				1																				1

				2		1.40		2.00		2.45		5.70		6.65		6.50		10.40		12.55				2		2.05		2.65		3.25		6.55		8.70		7.70		12.10		15.65								2		0.1		0.1		0.2		0.2		2.1		0.7		0.5		2.2				2																				2

				3		1.40		2.05		2.55		5.70		7.50		7.25		10.50		13.35				3		1.90		2.60		3.00		6.40		8.60		7.65		11.75		14.20								3		0.1		0.1		0.1		0.2		0.4		0.0		0.4		0.4				3		0.1		0.2		0.1		0.3		0.8		0.4		1.3		0.9				3		0.1		0.2		0.2		0.4		1.3		0.3		1.1		1.9

				4		1.65		2.20		2.90		5.75		8.50		7.60		10.65		14.00				4		1.70		2.50		3.00		6.30		8.55		7.65		11.20		14.10								4		0.0		0.0		0.0		0.1		0.2		0.1		0.2		0.0				4		0.0		0.1		0.1		0.2		0.7		0.4		0.4		0.7				4		0.0		0.1		0.0		0.3		0.0		0.0		0.8		0.5

				5		1.70		2.50		2.90		6.20		8.55		7.65		10.90		14.10				5		1.70		2.20		2.90		6.20		8.50		7.60		10.90		14.00								5		0.0		0.0		0.0		0.0		0.2		0.1		0.0		0.0				5		0.0		0.0		0.0		0.1		0.6		0.3		0.1		0.6				5		0.0		0.0		0.0		0.0		0.0		0.0		0.4		0.4

				6		1.70		2.60		3.00		6.30		8.60		7.65		11.20		14.20				6		1.65		2.05		2.90		5.75		7.50		7.25		10.65		13.35								6		0.0		0.1		0.0		0.0		0.2		0.1		0.0		0.0				6		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				6		0.0		0.0		0.0		0.0		0.0		0.0		0.1		0.3

				7		1.90		2.65		3.00		6.40		8.70		7.70		11.75		15.65				7		1.40		2.00		2.55		5.70		6.65		6.50		10.50		12.55								7		0.0		0.1		0.0		0.1		0.4		0.1		0.4		2.7				7		0.0		0.0		0.0		0.0		1.1		0.3		0.0		0.5				7		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.9

				8		2.05		2.80		3.25		6.55		9.90		8.80		12.10		17.00				8		1.40		1.90		2.45		5.70		6.45		5.70		10.40		11.30								8		0.1		0.2		0.1		0.2		3.2		2.1		1.0		8.9				8		0.0		0.1		0.1		0.0		1.6		1.8		0.0		3.8				8		0.1		0.1		0.1		0.0		1.6		1.1		0.3		5.2

				9		2.10				3.50		7.40						13.70						9		1.35				2.30		4.90						8.85										9		0.2				0.4		1.7						6.7						9		0.1				0.2		0.9						3.1						9		0.1				0.2		1.1						4.7

				10																				10																								10																				10																				10

				11																				11																								11																				11																				11

				12																				12																								12																				12																				12

				13																				13																								13																				13																				13

				14																				14																								14																				14																				14

				15																				15																								15																				15																				15

				16																				16																								16																				16																				16

				Σ		15.25		18.70		25.85		54.90		64.85		58.85		100.05		112.15																												s02＝Σ		0.6		0.8		1.2		3.9		9.4		5.9		14.3		21.6				sp-1,p2＝Σ		0.3		0.4		0.5		1.6		4.9		3.2		4.9		6.5				s1,22＝Σ		0.4		0.4		0.5		1.9		2.9		1.4		7.4		9.1

				平均値		1.69		2.34		2.87		6.10		8.11		7.36		11.12		14.02

				標準偏差		0.28		0.34		0.38		0.70		1.16		0.92		1.34		1.76

				yp-1,p																				yp-1,p		1.59		2.21		2.73		5.85		7.71		7.06		10.61		13.25		大きいデータ2つを除いた平均値

				y1,2		1.79		2.47		3.01		6.33		8.63		7.78		11.54		14.72																						小さいデータ2つを除いた平均値

				One outlieing obserbation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		1.448		1.356		1.634		1.858		1.548		1.570		1.929		1.698				Gp=(yp-y)/s

				smallest		1.230		1.283		1.490		1.715		1.429		1.801		1.693		1.548				G1=(y-y1)/s

				表からcritical valueを求める。

				Critical value（これより小さければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		9		8		9		9		8		8		9		8

				1%		2.387		2.274		2.387		2.387		2.274		2.274		2.387		2.274

				5%		2.215		2.126		2.215		2.215		2.126		2.126		2.215		2.126

				異常値は無い。

				Two outlying observation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		0.404		0.494		0.423		0.405		0.519		0.538		0.341		0.301				G=sp-1,p2/s02

				smallest		0.580		0.502		0.452		0.498		0.311		0.235		0.517		0.422				G=s1,22/s02

				表からcritical valueを求める。

				Critical value（これより大きければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		9		8		9		9		8		8		9		8

				1%		0.0851		0.0563		0.0851		0.0851		0.0563		0.0563		0.0851		0.0563

				5%		0.1492		0.1101		0.1492		0.1492		0.1101		0.1101		0.1492		0.1101

				異常値は無い。

				統計量の計算

				異常値を除いて上にある表の値をコピーする。																																								異常値を除いて上にある表の値をコピーする。

				yi　（T1の計算）				yi																yi2　（T2の計算）				yi2																sij2　（T3の計算）				(yi1-yi2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.35		1.90		2.30		4.90		6.45		5.70		8.85		11.30				1		1.8		3.6		5.3		24.0		41.6		32.5		78.3		127.7				1		0.01		0.04		0.00		0.04		0.00		0.01		0.04		0.04

				2		1.40		2.00		2.45		5.70		6.65		6.50		10.40		12.55				2		2.0		4.0		6.0		32.5		44.2		42.3		108.2		157.5				2		0.00		0.01		0.01		0.00		0.00		0.04		0.16		0.01

				3		1.40		2.05		2.55		5.70		7.50		7.25		10.50		13.35				3		2.0		4.2		6.5		32.5		56.3		52.6		110.3		178.2				3		0.00		0.00		0.00		0.04		0.01		0.00		0.09		0.64

				4		1.65		2.20		2.90		5.75		8.50		7.60		10.65		14.00				4		2.7		4.8		8.4		33.1		72.3		57.8		113.4		196.0				4		0.04		0.00		0.04		0.00		0.01		0.25		0.16		0.04

				5		1.70		2.50		2.90		6.20		8.55		7.65		10.90		14.10				5		2.9		6.3		8.4		38.4		73.1		58.5		118.8		198.8				5		0.01		0.00		0.01		0.16		0.01		0.04		0.04		0.25

				6		1.70		2.60		3.00		6.30		8.60		7.65		11.20		14.20				6		2.9		6.8		9.0		39.7		74.0		58.5		125.4		201.6				6		0.00		0.00		0.00		0.04		0.00		0.04		0.04		0.04

				7		1.90		2.65		3.00		6.40		8.70		7.70		11.75		15.65				7		3.6		7.0		9.0		41.0		75.7		59.3		138.1		244.9				7		0.04				0.04		0.25						0.09

				8		2.05		2.80		3.25		6.55		9.90		8.80		12.10		17.00				8		4.2		7.8		10.6		42.9		98.0		77.4		146.4		289.0				8		0.00		0.00		0.00		0.00		0.00		0.00		0.01		0.16

				9		2.10				3.50		7.40						13.70						9		4.4		0.0		12.3		54.8		0.0		0.0		187.7		0.0				9		0.01		0.01		0.01		0.01		0.04		0.01		0.04		0.01

				10																				10		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				10

				11																				11		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				11

				12																				12		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				12

				13																				13		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				13

				14																				14		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				14

				15																				15		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				15

				16																				16		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				16

				T1=Σ		15.3		18.7		25.9		54.9		64.9		58.9		100.1		112.2				T2=Σ		26.5		44.5		75.4		338.8		535.1		438.8		1126.6		1593.8				T3=Σ		0.1		0.1		0.1		0.5		0.1		0.4		0.7		1.2

				統計量が計算される。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				p		9		8		9		9		8		8		9		8

				T1		15.3		18.7		25.9		54.9		64.9		58.9		100.1		112.2

				T2		26.5		44.5		75.4		338.8		535.1		438.8		1126.6		1593.8

				T3		0.1		0.1		0.1		0.5		0.1		0.4		0.7		1.2

				sr2		0.006		0.004		0.006		0.030		0.004		0.024		0.037		0.074

				sL2		0.075		0.114		0.145		0.474		1.340		0.834		1.775		3.046

				sR2		0.1		0.1		0.2		0.5		1.3		0.9		1.8		3.1

				m		1.7		2.3		2.9		6.1		8.1		7.4		11.1		14.0

				sr		0.08		0.06		0.08		0.17		0.07		0.16		0.19		0.27

				sR		0.29		0.34		0.39		0.71		1.16		0.93		1.35		1.77

				r95		0.22		0.17		0.22		0.48		0.19		0.44		0.54		0.76

				R95		0.80		0.96		1.09		1.99		3.25		2.59		3.77		4.95

				cvR		16.8		14.7		13.5		11.6		14.3		12.6		12.1		12.6

				cvPRED		14.8		14.1		13.6		12.2		11.7		11.8		11.1		10.8

				HorRat		1.1		1.0		1.0		1.0		1.2		1.1		1.1		1.2

		(206）×10		ｍ		16.9		23.4		28.7		61.0		81.1		73.6		111.2		140.2

				cvPRED		10.4		10.0		9.7		8.6		8.3		8.4		7.9		7.6

				HorRat R		1.6		1.5		1.4		1.4		1.7		1.5		1.5		1.7

				CVpred		7.0		6.6		6.4		5.7		5.5		5.6		5.2		5.1

				CVr		4.6		2.6		2.7		2.8		0.8		2.1		1.7		1.9

				HorRat r		0.7		0.4		0.4		0.5		0.1		0.4		0.3		0.4

				sr2=T3/2p

				sL2=(pT2-T12)/p(p-1)-sr2/2

				sR2=sL2+sr2

				m=T1/p

				cvPRED=2c-0.1505





プリン体 (ハズレ値除く)

		



サンプルA

サンプルB

サンプルC

サンプルD

サンプルE

サンプルF

サンプルG

サンプルH

Laboratories

k

Mandel's k (第1図）



グリアジン６参考

				データを入力する。																		SD				0.2788802013		1.3848877813		1.0038226935		2.3452862299		2.4677067627		1.0085868827

				Ａ表（生データ:yijk）																		CV		Ｂ表（平均値：yij）		19.025369047		20.1462642442		15.6969928617		15.3965943205		18.1493510373		9.1627243491								yij-yj				平均との差																(yij-yj)2		平均との差の２乗

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

		A		1		1.84		8.33		7.85		16.71		14.86		11.45								1		1.83		8.51		7.57		16.91		14.73		11.66		0.00		0.00				1		0.36		1.63		1.18		1.67		1.13		0.65		0.00		0.00				1		0.13		2.66		1.38		2.80		1.28		0.43		0.00		0.00

						1.82		8.68		7.29		17.10		14.60		11.87								2		1.21		5.51		5.47		15.03		13.95		10.87		0.00		0.00				2		-0.26		-1.37		-0.93		-0.20		0.35		-0.14		0.00		0.00				2		0.07		1.87		0.86		0.04		0.12		0.02		0.00		0.00

		K1		2		1.34		5.53		5.62		14.97		14.07		10.72								3		1.18		5.16		5.04		11.13		10.32		9.14		0.00		0.00				3		-0.29		-1.71		-1.36		-4.11		-3.28		-1.87		0.00		0.00				3		0.08		2.94		1.84		16.87		10.74		3.49		0.00		0.00

						1.08		5.48		5.31		15.09		13.82		11.01								4		1.65		7.25		7.12		17.72		14.70		11.92		0.00		0.00				4		0.18		0.37		0.73		2.49		1.10		0.91		0.00		0.00				4		0.03		0.14		0.53		6.19		1.22		0.82		0.00		0.00

		K2		3		1.18		5.05		5.22		11.15		10.33		9.07								5		1.66		8.25		7.01		16.20		16.85		10.90		0.00		0.00				5		0.19		1.38		0.62		0.97		3.25		-0.11		0.00		0.00				5		0.04		1.89		0.38		0.94		10.55		0.01		0.00		0.00

						1.17		5.27		4.86		11.10		10.31		9.21								6		1.28		6.58		6.17		14.42		11.04		11.57		0.00		0.00				6		-0.19		-0.29		-0.23		-0.82		-2.56		0.56		0.00		0.00				6		0.04		0.09		0.05		0.67		6.54		0.32		0.00		0.00

		宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83								7														0.00		0.00				7														0.00		0.00				7

						1.65		7.27		7.28		17.97		15.09		12.00								8																				8																				8

		森永		5		1.71		7.97		7.15		16.39		16.72		10.70								9																				9																				9

						1.61		8.53		6.87		16.01		16.97		11.09								10																				10																				10

		O		6		1.27		6.45		6.43		14.40		10.76		11.79								11																				11																				11

						1.28		6.71		5.90		14.43		11.32		11.35								12																				12																				12

		S		7		1.62		6.23		5.37		16.08		12.14		10.61								13																				13																				13

						1.52		6.16		5.51		16.62		12.39		10.79								14																				14																				14

																								15																				15																				15

																								16																				16																				16

																								17																				17																				17

																								平均値		1.47		6.87		6.40		15.23		13.60		11.01		0.00		0.00																								Σ		0.39		9.59		5.04		27.50		30.45		5.09		0.00		0.00

																								Ｃ表（差:sij:|yij1-yij2|）																				sij2		(yij1-yij2)2		差の２乗

																										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

																								1		0.0		0.4		0.6		0.4		0.3		0.4		0.0		0.0				1		0.00		0.12		0.31		0.15		0.07		0.18		0.00		0.00

																								2		0.3		0.0		0.3		0.1		0.3		0.3		0.0		0.0				2		0.07		0.00		0.10		0.01		0.06		0.08		0.00		0.00

																								3		0.0		0.2		0.4		0.1		0.0		0.1		0.0		0.0				3		0.00		0.05		0.13		0.00		0.00		0.02		0.00		0.00

																								4		0.0		0.0		0.3		0.5		0.8		0.2		0.0		0.0				4		0.00		0.00		0.10		0.25		0.61		0.03		0.00		0.00

																								5		0.1		0.6		0.3		0.4		0.3		0.4		0.0		0.0				5		0.01		0.31		0.08		0.14		0.06		0.15		0.00		0.00

																								6		0.0		0.3		0.5		0.0		0.6		0.4		0.0		0.0				6		0.00		0.07		0.28		0.00		0.31		0.19		0.00		0.00

																								7		0.1		0.1		0.1		0.5		0.3		0.2		0.0		0.0				7		0.01		0.00		0.02		0.29		0.06		0.03		0.00		0.00

																								8																				8

																								9																				9

																								10																				10

																								11																				11

																								12																				12

																								13																				13

																								14																				14

				ラボ数ｐ＝		6																		15																				15

																								16																				16

																								17																				17

																																												Σ		0.09		0.56		1.02		0.86		1.18		0.69		0.00		0.00

				Mandel's k　（バラツキの評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.16		1.14		1.36		1.03		0.59		1.24		0.00		0.00

				2		2.14		0.16		0.75		0.32		0.56		0.86		0.00		0.00

				3		0.08		0.72		0.87		0.13		0.05		0.41		0.00		0.00

				4		0.08		0.16		0.78		1.32		1.76		0.50		0.00		0.00

				5		0.82		1.83		0.68		1.01		0.56		1.15		0.00		0.00

				6		0.08		0.85		1.29		0.08		1.26		1.30		0.00		0.00

				7														0.00		0.00

				8														0.00		0.00

				9														0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				6ラボの場合、1%＝1.68、5%＝1.46

				Mandel's h　（平均値の評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.31		1.18		1.17		0.71		0.46		0.65		0.00		0.00

				2		-0.92		-0.99		-0.93		-0.09		0.14		-0.14		0.00		0.00

				3		-1.04		-1.24		-1.35		-1.75		-1.33		-1.85		0.00		0.00

				4		0.64		0.27		0.72		1.06		0.45		0.90		0.00		0.00

				5		0.70		0.99		0.61		0.41		1.32		-0.11		0.00		0.00

				6		-0.68		-0.21		-0.23		-0.35		-1.04		0.56		0.00		0.00

				7		0.00		0.00		0.00		0.00		0.00		0.00		0.00		0.00

				8		0.00		0.00		0.00		0.00		0.00		0.00		0.00		0.00

				9		0.00		0.00		0.00		0.00		0.00		0.00		0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				6ラボの場合、1%＝1.87、5%＝1.66

				Cochran's test （バラツキの評価）																				Ｃ表（sij）異常値を除いて、大きい順に並べ替える。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		sij2				サンプルB						サンプルC						サンプルD						サンプルE						サンプルF						サンプルG						サンプルH								Ｃ表（差:sij:|yij1-yij2|）

				Ｃ		0.4975		0.5294		0.5137		0.3862		0.5669		0.0000		0.0000		0.0000				5		0.0		0.00000009		3		0.0		0.00000009		3		0.0		0.00026569		1		0.0		0.00025281		6		0.0		0.00029241						0						0						0								サンプルA						サンプルB						サンプルC						サンプルD						サンプルE

				表からcritical valueを求める。																				3		0.0		0.00000004		5		0.0		0.00000004		1		0.0		0.00014161		6		0.0		0.00021904		1		0.0		0.00005476						0						0						0						5		0.0003				3		0.0003				3		0.0163				1		0.0159				6		0.0171

				ラボ数		7		7		7		7		7		0		0		0				2		0.0		0.00000004		4		0.0		0.00000001		4		0.0		0.00009801		4		0.0		0.00010201		3		0.0		0.00005476						0						0						0						3		0.0002				5		0.0002				1		0.0119				6		0.0148				1		0.0074

				1%		0.838		0.838		0.838		0.838		0.838		0.754		0.754		0.754				4		0.0		0.00000001		6		0.0		0.00000001		7		0.0		0.00000576		3		0.0		0.00006084		4		0.0		0.000049						0						0						0						2		0.0002				4		0.0001				4		0.0099				4		0.0101				3		0.0074

				5%		0.727		0.727		0.727		0.727		0.727		0.638		0.638		0.638				6		0.0		0.0000000009		2		0.0		0.00000001		2		0.0		0.00000529		5		0.0		0.00001296		7		0.0		0.00003721						0						0						0						4		0.0001				6		0.0001				7		0.0024				3		0.0078				4		0.007

																								1		0.0		0		7		0.0		0.00000001		5		0.0		0.00000064		7		0.0		0.00000625		2		0.0		0.00002704						0						0						0						6		0.00003				2		0.0001				2		0.0023				5		0.0036				7		0.0061

				7ラボの場合、1%＝0.727、5%＝0.838																				7		0.0		0		1		0.0		0		6		0.0		0.00000016		2		0.0		0.00000064		5		0.0		0.00000064						0						0						0						1		0				7		0.0001				5		0.0008				7		0.0025				2		0.0052

																												0						0						0						0						0						0						0						0						7		0				1		0				6		0.0004				2		0.0008				5		0.0008

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0												0						0						0						0						0

																										Σ		0.0000001809				Σ		0.00000017				Σ		0.00051716				Σ		0.00065455				Σ		0.00051582				Σ		0				Σ		0				Σ		0

				Grubb's test （平均値の評価）：上端の値、下端の値、大きい２つの値、小さい２つの値を検定する。

				異常値を除いて昇順に並べる。																				異常値を除いて降順に並べる。																								s02の計算		(yi-y)2																		sp-1,p2の計算				(yi-yp-1,p)2																s1,22の計算				(yi-y1,2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.00		0.02		0.43		0.36		0.72										1		0.01		0.02		0.44		0.37		0.78														1		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				1																				1

				2		0.00		0.02		0.43		0.36		0.72										2		0.01		0.02		0.44		0.37		0.76														2		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				2																				2

				3		0.00		0.02		0.43		0.36		0.73										3		0.01		0.02		0.44		0.37		0.75														3		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				3		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				3		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0

				4		0.00		0.02		0.43		0.36		0.73										4		0.00		0.02		0.43		0.36		0.73														4		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				4		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				4		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0

				5		0.01		0.02		0.44		0.37		0.75										5		0.00		0.02		0.43		0.36		0.73														5		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				5		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				5		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0

				6		0.01		0.02		0.44		0.37		0.76										6		0.00		0.02		0.43		0.36		0.72														6		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				6		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				6		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0

				7		0.01		0.02		0.44		0.37		0.78										7		0.00		0.02		0.43		0.36		0.72														7		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				7		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				7		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0

				8																				8																								8																				8																				8

				9																				9																								9																				9																				9

				10																				10																								10																				10																				10

				11																				11																								11																				11																				11

				12																				12																								12																				12																				12

				13																				13																								13																				13																				13

				14																				14																								14																				14																				14

				15																				15																								15																				15																				15

				16																				16																								16																				16																				16

				Σ		0.03		0.14		3.04		2.55		5.20		0.00		0.00		0.00																												s02＝Σ		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				sp-1,p2＝Σ		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				s1,22＝Σ		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0

				平均値		0.00		0.02		0.43		0.36		0.74		0.00		0.00		0.00

				標準偏差		0.00		0.00		0.01		0.01		0.02		0.00		0.00		0.00

				yp-1,p																				yp-1,p		0.00		0.02		0.43		0.36		0.73		0.00		0.00		0.00		大きいデータ2つを除いた平均値

				y1,2		0.00		0.02		0.44		0.37		0.75		0.00		0.00		0.00																						小さいデータ2つを除いた平均値

				One outlieing obserbation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		1.645		1.572		1.504		1.283		1.677		0.000		0.000		0.000				Gp=(yp-y)/s

				smallest		1.429		1.472		1.186		1.409		1.151		0.000		0.000		0.000				G1=(y-y1)/s						サンプルA				サンプルB				サンプルC				サンプルD				サンプルE

				表からcritical valueを求める。																										0.00525				0.0206				0.44495				0.37125				0.7784

				Critical value（これより小さければ正常）																										0.005015				0.02035				0.44135				0.3708				0.7574

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										0.005				0.02035				0.4378				0.3653				0.7525

				P		7		7		7		7		7		0		0		0										0.0049				0.0203				0.4335				0.36325				0.7337

				1%		2.139		2.139		2.139		2.139		2.139		2.139		2.139		2.139										0.0048				0.02025				0.43085				0.3632				0.73355

				5%		2.020		2.020		2.020		2.020		2.020		2.020		2.020		2.020										0.00475				0.02005				0.42895				0.35925				0.72265

				異常値は無い。																										0.0046				0.01995				0.427				0.3565				0.7174

				Two outlying observation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		0.343		0.431		0.265		0.280		0.260		0.000		0.000		0.000				G=sp-1,p2/s02

				smallest		0.419		0.267		0.488		0.353		0.501		0.000		0.000		0.000				G=s1,22/s02

				表からcritical valueを求める。

				Critical value（これより大きければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		7		7		7		7		7		0		0		0

				1%		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308

				5%		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708

				異常値は無い。

				統計量の計算

				異常値を除いて上にある表の値をコピーする。																																								異常値を除いて上にある表の値をコピーする。

				yi　（T1の計算）				yi																yi2　（T2の計算）				yi2																sij2　（T3の計算）				(yi1-yi2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.0050		0.0203		0.4290		0.3593		0.7174										1		0.0		0.0		0.2		0.1		0.5		0.0		0.0		0.0				1		0.0000		0.0000		0.0001		0.0003		0.0001		0.0000		0.0000		0.0000

				2		0.0048		0.0201		0.4309		0.3565		0.7337										2		0.0		0.0		0.2		0.1		0.5		0.0		0.0		0.0				2		0.0000		0.0000		0.0000		0.0000		0.0000		0.0000		0.0000		0.0000

				3		0.0046		0.0200		0.4450		0.3708		0.7525										3		0.0		0.0		0.2		0.1		0.6		0.0		0.0		0.0				3		0.0000		0.0000		0.0003		0.0001		0.0001		0.0000		0.0000		0.0000

				4		0.0048		0.0204		0.4414		0.3713		0.7784										4		0.0		0.0		0.2		0.1		0.6		0.0		0.0		0.0				4		0.0000		0.0000		0.0001		0.0001		0.0000		0.0000		0.0000		0.0000

				5		0.0053		0.0206		0.4378		0.3653		0.7574										5		0.0		0.0		0.2		0.1		0.6		0.0		0.0		0.0				5		0.0000		0.0000		0.0000		0.0000		0.0000		0.0000		0.0000		0.0000

				6		0.0050		0.0204		0.4270		0.3632		0.7336										6		0.0		0.0		0.2		0.1		0.5		0.0		0.0		0.0				6		0.0000		0.0000		0.0000		0.0002		0.0003		0.0000		0.0000		0.0000

				7		0.0049		0.0203		0.4335		0.3633		0.7227										7		0.0		0.0		0.2		0.1		0.5		0.0		0.0		0.0				7		0.0000		0.0000		0.0000		0.0000		0.0000		0.0000		0.0000		0.0000

				8																				8		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				8

				9																				9		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				9

				10																				10		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				10

				11																				11		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				11

				12																				12		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				12

				13																				13		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				13

				14																				14		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				14

				15																				15		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				15

				16																				16		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				16

				T1=Σ		0.0343		0.1419		3.0444		2.5496		5.1956		0.0		0.0		0.0				T2=Σ		0.0		0.0		1.3		0.9		3.9		0.0		0.0		0.0				T3=Σ		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0

				統計量が計算される。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				p		7		7		7		7		7		0		0		0

				T1		0.034		0.142		3.044		2.550		5.196		0.0		0.0		0.0

				T2		0.000		0.003		1.324		0.929		3.859		0.0		0.0		0.0

				T3		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0

				sr2		0.000000		0.000000		0.000037		0.000047		0.000037		0.000		0.000		0.000

				sL2		0.000000		0.000000		0.000026		0.000007		0.000447		0.000		0.000		0.000

				sR2		0.0000001		0.0000001		0.0000630		0.0000534		0.0004837		0.0		0.0		0.0

				m		0.0049		0.0203		0.4349		0.3642		0.7422		0.0		0.0		0.0

				sr		0.00011		0.00011		0.00608		0.00684		0.00607		0.00		0.00		0.00

				sR		0.00023		0.00023		0.00794		0.00731		0.02199		0.00		0.00		0.00

				r95		0.00032		0.00031		0.01702		0.01915		0.01700		0.00		0.00		0.00

				R95		0.00063		0.00064		0.02222		0.02046		0.06158		0.00		0.00		0.00

				cvR		4.61400		1.12169		1.82504		2.00642		2.96324		0.0		0.0		0.0

				cvPRED		35.6		28.8		18.1		18.6		16.7		0.0		0.0		0.0

				HorRat		0.1		0.0		0.1		0.1		0.2		0.0		0.0		0.0

		×１０		ｍ		0.049		0.203		4.349		3.642		7.422		0.0		0.0		0.0

				cvPRED		25.2		20.3		12.8		13.2		11.8		0.0		0.0		0.0

				HorRat R		0.2		0.1		0.1		0.2		0.3		0.0		0.0		0.0

				CVpred		16.8		13.6		8.5		8.8		7.9		0.0		0.0		0.0

				CVr		2.3		0.5		1.4		1.9		0.8		0.0		0.0		0.0

				HorRat r		0.1		0.0		0.2		0.2		0.1		0.0		0.0		0.0

				sr2=T3/2p

				sL2=(pT2-T12)/p(p-1)-sr2/2

				sR2=sL2+sr2

				m=T1/p

				cvPRED=2c-0.1505
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グリアジン７

				データを入力する。																		SD

				Ａ表（生データ:yijk）																		CV		Ｂ表（平均値：yij）																				yij-yj				平均との差																(yij-yj)2		平均との差の２乗

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

		A		1		1.84		8.33		7.85		16.71		14.86		11.45								1		1.83		8.51		7.57		16.91		14.73		11.66		0.00		0.00				1		0.37		1.69		1.28		1.67		1.40		0.66		0.00		0.00				1		0.13		2.85		1.65		2.79		1.96		0.43		0.00		0.00

						1.82		8.68		7.29		17.10		14.60		11.87								2		1.21		5.51		5.47		15.03		13.95		10.87		0.00		0.00				2		-0.25		-1.31		-0.82		-0.21		0.61		-0.14		0.00		0.00				2		0.06		1.72		0.67		0.04		0.38		0.02		0.00		0.00

		K1		2		1.34		5.53		5.62		14.97		14.07		10.72								3		1.18		5.16		5.04		11.13		10.32		9.14		0.00		0.00				3		-0.29		-1.66		-1.25		-4.11		-3.01		-1.86		0.00		0.00				3		0.08		2.74		1.55		16.90		9.06		3.47		0.00		0.00

						1.08		5.48		5.31		15.09		13.82		11.01								4		1.65		7.25		7.12		17.72		14.70		11.92		0.00		0.00				4		0.18		0.43		0.83		2.48		1.37		0.91		0.00		0.00				4		0.03		0.18		0.69		6.17		1.88		0.83		0.00		0.00

		K2		3		1.18		5.05		5.22		11.15		10.33		9.07								5		1.66		8.25		7.01		16.20		16.85		10.90		0.00		0.00				5		0.20		1.43		0.72		0.96		3.52		-0.11		0.00		0.00				5		0.04		2.06		0.52		0.93		12.36		0.01		0.00		0.00

						1.17		5.27		4.86		11.10		10.31		9.21								6		1.28		6.58		6.17		14.42		11.04		11.57		0.00		0.00				6		-0.19		-0.24		-0.12		-0.82		-2.29		0.57		0.00		0.00				6		0.04		0.06		0.01		0.67		5.24		0.32		0.00		0.00

		宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83								7		1.45		6.47		5.64		15.26		11.73		10.98		0.00		0.00				7		-0.01		-0.35		-0.65		0.02		-1.60		-0.02		0.00		0.00				7		0.00		0.12		0.42		0.00		2.56		0.00		0.00		0.00

						1.65		7.27		7.28		17.97		15.09		12.00								8																				8																				8

		森永		5		1.71		7.97		7.15		16.39		16.72		10.70								9																				9																				9

						1.61		8.53		6.87		16.01		16.97		11.09								10																				10																				10

		O		6		1.27		6.45		6.43		14.40		10.76		11.79								11																				11																				11

						1.28		6.71		5.90		14.43		11.32		11.35								12																				12																				12

		S		7		1.62		6.23		5.37		16.08		12.14		10.61								13																				13																				13

						1.52		6.16		5.51		16.62		12.39		10.79								14																				14																				14

																								15																				15																				15

																								16																				16																				16

																								17																				17																				17

																								平均値		1.46		6.82		6.29		15.24		13.33		11.00		0.00		0.00																								Σ		0.39		9.73		5.53		27.50		33.43		5.09		0.00		0.00

																								Ｃ表（差:sij:|yij1-yij2|）																				sij2		(yij1-yij2)2		差の２乗

																										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

																								1		0.0		0.4		0.6		0.4		0.3		0.4		0.0		0.0				1		0.00		0.12		0.31		0.15		0.07		0.18		0.00		0.00

																								2		0.3		0.0		0.3		0.1		0.3		0.3		0.0		0.0				2		0.07		0.00		0.10		0.01		0.06		0.08		0.00		0.00

																								3		0.0		0.2		0.4		0.1		0.0		0.1		0.0		0.0				3		0.00		0.05		0.13		0.00		0.00		0.02		0.00		0.00

																								4		0.0		0.0		0.3		0.5		0.8		0.2		0.0		0.0				4		0.00		0.00		0.10		0.25		0.61		0.03		0.00		0.00

																								5		0.1		0.6		0.3		0.4		0.3		0.4		0.0		0.0				5		0.01		0.31		0.08		0.14		0.06		0.15		0.00		0.00

																								6		0.0		0.3		0.5		0.0		0.6		0.4		0.0		0.0				6		0.00		0.07		0.28		0.00		0.31		0.19		0.00		0.00

																								7		0.1		0.1		0.1		0.5		0.3		0.2		0.0		0.0				7		0.01		0.00		0.02		0.29		0.06		0.03		0.00		0.00

																								8																				8

																								9																				9

																								10																				10

																								11																				11

																								12																				12

																								13																				13

																								14																				14

				ラボ数ｐ＝		7																		15																				15

																								16																				16

																								17																				17

																																												Σ		0.09		0.56		1.02		0.86		1.18		0.69		0.00		0.00

				Mandel's k　（バラツキの評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.18		1.24		1.47		1.12		0.63		1.34		0.00		0.00

				2		2.31		0.18		0.81		0.34		0.61		0.93		0.00		0.00

				3		0.09		0.78		0.94		0.14		0.05		0.45		0.00		0.00

				4		0.09		0.18		0.84		1.43		1.90		0.54		0.00		0.00

				5		0.89		1.98		0.73		1.09		0.61		1.24		0.00		0.00

				6		0.09		0.92		1.39		0.09		1.37		1.40		0.00		0.00

				7		0.89		0.25		0.37		1.54		0.61		0.57		0.00		0.00

				8		0.00		0.00		0.00		0.00		0.00		0.00		0.00		0.00

				9		0.00		0.00		0.00		0.00		0.00		0.00		0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				7ラボの場合、1%＝2.20、5%＝1.87

				Mandel's h　（平均値の評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.44		1.33		1.34		0.78		0.59		0.71		0.00		0.00

				2		-1.00		-1.03		-0.86		-0.10		0.26		-0.15		0.00		0.00

				3		-1.13		-1.30		-1.30		-1.92		-1.28		-2.02		0.00		0.00

				4		0.71		0.34		0.87		1.16		0.58		0.99		0.00		0.00

				5		0.77		1.13		0.75		0.45		1.49		-0.12		0.00		0.00

				6		-0.74		-0.19		-0.13		-0.38		-0.97		0.62		0.00		0.00

				7		-0.05		-0.27		-0.68		0.01		-0.68		-0.03		0.00		0.00

				8														0.00		0.00

				9														0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				7ラボの場合、1%＝1.98、5%＝1.71																																																																														サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

																																																																																		0.02		0.35		0.56		0.39		0.26		0.42		0		0

																																																																																		0.26		0.05		0.31		0.12		0.25		0.29		0		0

																																																																																		0.01		0.22		0.36		0.05		0.02		0.14		0		0

																																																																																		0.01		0.05		0.32		0.5		0.78		0.17		0		0

																																																																																		0.1		0.56		0.28		0.38		0.25		0.39		0		0

																																																																																		0.01		0.26		0.53		0.03		0.56		0.44		0		0

																																																																																		0.1		0.07		0.14		0.54		0.25		0.18		0		0

				Cochran's test （バラツキの評価）																				Ｃ表（sij）異常値を除いて、大きい順に並べ替える。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		sij2				サンプルB						サンプルC						サンプルD						サンプルE						サンプルF						サンプルG						サンプルH								Ｃ表（差:sij:|yij1-yij2|）

				Ｃ		0.7656		0.5580		0.3073		0.3407		0.5167		0.2818		0.0000		0.0000				2		0.3		0.0676		5		0.6		0.3136		1		0.6		0.3136		7		0.5		0.2916		4		0.8		0.6084		6		0.4		0.1936						0						0								サンプルA						サンプルB						サンプルC						サンプルD						サンプルE						サンプルF

				表からcritical valueを求める。																				7		0.1		0.01		1		0.4		0.1225		6		0.5		0.2809		4		0.5		0.25		6		0.6		0.3136		1		0.4		0.1764						0						0						2		0.26				5		0.56				1		0.56				7		0.54				4		0.78				6		0.44

				ラボ数		7		7		7		7		7		7		0		0				5		0.1		0.01		6		0.3		0.0676		3		0.4		0.1296		1		0.4		0.1521		1		0.3		0.0676		5		0.4		0.1521						0						0						7		0.1				1		0.35				6		0.53				4		0.5				6		0.56				1		0.42

				1%		0.838		0.838		0.838		0.838		0.838		0.754		0.754		0.754				1		0.0		0.0004		3		0.2		0.0484		4		0.3		0.1024		5		0.4		0.1444		2		0.3		0.0625		2		0.3		0.0841						0						0						5		0.1				6		0.26				3		0.36				1		0.39				1		0.26				5		0.39

				5%		0.727		0.727		0.727		0.727		0.727		0.638		0.638		0.638				3		0.0		0.0001		7		0.1		0.0049		2		0.3		0.0961		2		0.1		0.0144		5		0.3		0.0625		7		0.2		0.0324						0						0						1		0.02				3		0.22				4		0.32				5		0.38				2		0.25				2		0.29

																								4		0.0		0.0001		2		0.0		0.0025		5		0.3		0.0784		3		0.1		0.0025		7		0.3		0.0625		4		0.2		0.0289						0						0						3		0.01				7		0.07				2		0.31				2		0.12				5		0.25				7		0.18

				7ラボの場合、1%＝0.727、5%＝0.838																				6		0.0		0.0001		4		0.0		0.0025		7		0.1		0.0196		6		0.0		0.0009		3		0.0		0.0004		3		0.1		0.0196						0						0						4		0.01				2		0.05				5		0.28				3		0.05				7		0.25				4		0.17

																												0						0						0						0						0						0						0						0						6		0.01				4		0.05				7		0.14				6		0.03				3		0.02				3		0.14

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0												0						0						0						0						0

																										Σ		0.0883				Σ		0.562				Σ		1.0206				Σ		0.8559				Σ		1.1775				Σ		0.6871				Σ		0				Σ		0

				Grubb's test （平均値の評価）：上端の値、下端の値、大きい２つの値、小さい２つの値を検定する。

				異常値を除いて昇順に並べる。																				異常値を除いて降順に並べる。																								s02の計算		(yi-y)2																		sp-1,p2の計算				(yi-yp-1,p)2																s1,22の計算				(yi-y1,2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH				1.175		5.16		5.04		11.125		10.32		9.14

				1		1.18		5.16		5.04		11.13		10.32		9.14								1		1.83		8.51		7.57		17.72		16.85		11.92												1		0.1		2.7		1.6		16.9		9.1		3.5		0.0		0.0				1																				1																				1.21		5.505		5.465		14.415		11.04		10.865

				2		1.21		5.51		5.47		14.42		11.04		10.87								2		1.66		8.25		7.12		16.91		14.73		11.66												2		0.1		1.7		0.7		0.7		5.2		0.0		0.0		0.0				2																				2																				1.275		6.47		5.635		15.03		11.73		10.895

				3		1.28		6.47		5.64		15.03		11.73		10.90								3		1.65		7.25		7.01		16.20		14.70		11.57												3		0.0		0.1		0.4		0.0		2.6		0.0		0.0		0.0				3		0.1		1.1		1.3		3.2		5.5		0.8		0.0		0.0				3		0.1		0.9		1.1		1.4		7.1		0.3		0.0		0.0				1.45		6.58		6.165		15.255		13.945		10.98

				4		1.45		6.58		6.17		15.26		13.95		10.98								4		1.45		6.58		6.17		15.26		13.95		10.98												4		0.0		0.1		0.0		0.0		0.4		0.0		0.0		0.0				4		0.0		0.2		0.1		0.7		2.6		0.1		0.0		0.0				4		0.0		0.7		0.3		0.9		0.2		0.2		0.0		0.0				1.645		7.245		7.01		16.2		14.7		11.57

				5		1.65		7.25		7.01		16.20		14.70		11.57								5		1.28		6.47		5.64		15.03		11.73		10.90												5		0.0		0.2		0.5		0.9		1.9		0.3		0.0		0.0				5		0.0		0.1		0.1		0.4		0.4		0.0		0.0		0.0				5		0.0		0.0		0.1		0.0		0.1		0.0		0.0		0.0				1.66		8.25		7.12		16.905		14.73		11.66

				6		1.66		8.25		7.12		16.91		14.73		11.66								6		1.21		5.51		5.47		14.42		11.04		10.87												6		0.0		2.1		0.7		2.8		2.0		0.4		0.0		0.0				6		0.0		0.5		0.2		0.0		1.7		0.0		0.0		0.0				6		0.0		0.7		0.2		0.5		0.1		0.1		0.0		0.0				1.83		8.505		7.57		17.72		16.845		11.915

				7		1.83		8.51		7.57		17.72		16.85		11.92								7		1.18		5.16		5.04		11.13		10.32		9.14												7		0.1		2.9		1.6		6.2		12.4		0.8		0.0		0.0				7		0.0		1.1		0.7		10.8		4.1		2.4		0.0		0.0				7		0.1		1.2		0.8		2.2		6.0		0.3		0.0		0.0

				8																				8																								8																				8																				8																				1.83		8.505		7.57		17.72		16.845		11.915

				9																				9																								9																				9																				9																				1.66		8.25		7.12		16.905		14.73		11.66

				10																				10																								10																				10																				10																				1.645		7.245		7.01		16.2		14.7		11.57

				11																				11																								11																				11																				11																				1.45		6.58		6.165		15.255		13.945		10.98

				12																				12																								12																				12																				12																				1.275		6.47		5.635		15.03		11.73		10.895

				13																				13																								13																				13																				13																				1.21		5.505		5.465		14.415		11.04		10.865

				14																				14																								14																				14																				14																				1.175		5.16		5.04		11.125		10.32		9.14

				15																				15																								15																				15																				15

				16																				16																								16																				16																				16

				Σ		10.25		47.72		44.01		106.65		93.31		77.03		0.00		0.00																												s02＝Σ		0.4		9.7		5.5		27.5		33.4		5.1		0.0		0.0				sp-1,p2＝Σ		0.2		2.9		2.3		15.1		14.3		3.3		0.0		0.0				s1,22＝Σ		0.2		3.5		2.4		5.1		13.5		0.8		0.0		0.0

				平均値		1.46		6.82		6.29		15.24		13.33		11.00		0.00		0.00

				標準偏差		0.25		1.27		0.96		2.14		2.36		0.92		0.00		0.00

				yp-1,p																				yp-1,p		1.35		6.19		5.86		14.41		12.35		10.69		0.00		0.00		大きいデータ2つを除いた平均値

				y1,2		1.57		7.41		6.70		16.22		14.39		11.40		0.00		0.00																						小さいデータ2つを除いた平均値

				One outlieing obserbation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		1.439		1.326		1.337		1.160		1.489		0.990		0.000		0.000				Gp=(yp-y)/s

				smallest		1.133		1.301		1.298		1.920		1.275		2.024		0.000		0.000				G1=(y-y1)/s						サンプルA				サンプルB				サンプルC				サンプルD				サンプルE

				表からcritical valueを求める。																										0.00525				0.0206				0.44495				0.37125				0.7784

				Critical value（これより小さければ正常）																										0.005015				0.02035				0.44135				0.3708				0.7574

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										0.005				0.02035				0.4378				0.3653				0.7525

				P		7		7		7		7		7		7		0		0										0.0049				0.0203				0.4335				0.36325				0.7337

				1%		2.139		2.139		2.139		2.139		2.139		2.139		2.139		2.139										0.0048				0.02025				0.43085				0.3632				0.73355

				5%		2.020		2.020		2.020		2.020		2.020		2.020		2.020		2.020										0.00475				0.02005				0.42895				0.35925				0.72265

				異常値は無い。																										0.0046				0.01995				0.427				0.3565				0.7174

				Two outlying observation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		0.393		0.295		0.415		0.549		0.427		0.655		0.000		0.000				G=sp-1,p2/s02

				smallest		0.470		0.360		0.443		0.184		0.404		0.156		0.000		0.000				G=s1,22/s02

				表からcritical valueを求める。

				Critical value（これより大きければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		7		7		7		7		7		7		0		0

				1%		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308

				5%		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708

				異常値は無い。

				統計量の計算

				異常値を除いて上にある表の値をコピーする。																																								異常値を除いて上にある表の値をコピーする。

				yi　（T1の計算）				yi																yi2　（T2の計算）				yi2																sij2　（T3の計算）				(yi1-yi2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.18		5.16		5.04		11.13		10.32		9.14								1		1.4		26.6		25.4		123.8		106.5		83.5		0.0		0.0				1		0.0004		0.1225		0.3136		0.1521		0.0676		0.1764		0.0000		0.0000

				2		1.21		5.51		5.47		14.42		11.04		10.87								2		1.5		30.3		29.9		207.8		121.9		118.0		0.0		0.0				2		0.0676		0.0025		0.0961		0.0144		0.0625		0.0841		0.0000		0.0000

				3		1.28		6.47		5.64		15.03		11.73		10.90								3		1.6		41.9		31.8		225.9		137.6		118.7		0.0		0.0				3		0.0001		0.0484		0.1296		0.0025		0.0004		0.0196		0.0000		0.0000

				4		1.45		6.58		6.17		15.26		13.95		10.98								4		2.1		43.3		38.0		232.7		194.5		120.6		0.0		0.0				4		0.0001		0.0025		0.1024		0.2500		0.6084		0.0289		0.0000		0.0000

				5		1.65		7.25		7.01		16.20		14.70		11.57								5		2.7		52.5		49.1		262.4		216.1		133.9		0.0		0.0				5		0.0100		0.3136		0.0784		0.1444		0.0625		0.1521		0.0000		0.0000

				6		1.66		8.25		7.12		16.91		14.73		11.66								6		2.8		68.1		50.7		285.8		217.0		136.0		0.0		0.0				6		0.0001		0.0676		0.2809		0.0009		0.3136		0.1936		0.0000		0.0000

				7		1.83		8.51		7.57		17.72		16.85		11.92								7		3.3		72.3		57.3		314.0		283.8		142.0		0.0		0.0				7		0.0100		0.0049		0.0196		0.2916		0.0625		0.0324		0.0000		0.0000

				8																				8		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				8

				9																				9		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				9

				10																				10		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				10

				11																				11		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				11

				12																				12		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				12

				13																				13		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				13

				14																				14		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				14

				15																				15		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				15

				16																				16		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				16

				T1=Σ		10.2450		47.7150		44.0050		106.6500		93.3100		77.0		0.0		0.0				T2=Σ		15.4		335.0		282.2		1652.4		1277.3		852.6		0.0		0.0				T3=Σ		0.1		0.6		1.0		0.9		1.2		0.7		0.0		0.0

				統計量が計算される。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				p		7		7		7		7		7		7		0		0

				T1		10.245		47.715		44.005		106.650		93.310		77.0		0.0		0.0

				T2		15.383		334.975		282.168		1652.391		1277.257		852.6		0.0		0.0

				T3		0.1		0.6		1.0		0.9		1.2		0.7		0.0		0.0

				sr2		0.006307		0.040143		0.072900		0.061136		0.084107		0.049		0.000		0.000

				sL2		0.061694		1.601526		0.885781		4.553144		5.530371		0.823		0.000		0.000

				sR2		0.0680012		1.6416690		0.9586810		4.6142798		5.6144786		0.9		0.0		0.0

				m		1.4636		6.8164		6.2864		15.2357		13.3300		11.0		0.0		0.0

				sr		0.07942		0.20036		0.27000		0.24726		0.29001		0.22		0.00		0.00

				sR		0.26077		1.28128		0.97912		2.14809		2.36949		0.93		0.00		0.00

				r95		0.22237		0.56100		0.75600		0.69232		0.81203		0.62		0.00		0.00

				R95		0.73016		3.58757		2.74154		6.01464		6.63457		2.62		0.00		0.00

		◎		cvR		17.81740		18.79689		15.57518		14.09903		17.77561		8.5		0.0		0.0

				cvPRED		15.1		12.0		12.1		10.6		10.8		11.2		0.0		0.0

				HorRat		1.2		1.6		1.3		1.3		1.6		0.8		0.0		0.0

		×１０		ｍ		14.636		68.164		62.864		152.357		133.300		110.0		0.0		0.0

				cvPRED		10.7		8.5		8.6		7.5		7.7		7.9		0.0		0.0

				HorRat R		1.7		2.2		1.8		1.9		2.3		1.1		0.0		0.0

				CVpred		7.1		5.6		5.7		5.0		5.1		5.3		0.0		0.0

		◎		CVr		5.43		2.94		4.29		1.62		2.18		2.01		0.0		0.0

				HorRat r		0.8		0.5		0.8		0.3		0.4		0.4		0.0		0.0

				sr2=T3/2p

				sL2=(pT2-T12)/p(p-1)-sr2/2

				sR2=sL2+sr2

				m=T1/p

				cvPRED=2c-0.1505
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グリアジン７ (外れ値除く)

				データを入力する。																		SD

				Ａ表（生データ:yijk）																		CV		Ｂ表（平均値：yij）																				yij-yj				平均との差																(yij-yj)2		平均との差の２乗

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

		A		1		1.84		8.33		7.85		16.71		14.86		11.45								1		1.83		8.51		7.57		16.91		14.73		11.66		0.00		0.00				1		0.37		1.69		1.28		1.67		1.40		0.66		0.00		0.00				1		0.13		2.85		1.65		2.79		1.96		0.43		0.00		0.00

						1.82		8.68		7.29		17.10		14.60		11.87								2		1.21		5.51		5.47		15.03		13.95		10.87		0.00		0.00				2		-0.25		-1.31		-0.82		-0.21		0.61		-0.14		0.00		0.00				2		0.06		1.72		0.67		0.04		0.38		0.02		0.00		0.00

		K1		2		1.34		5.53		5.62		14.97		14.07		10.72								3		1.18		5.16		5.04		11.13		10.32		9.14		0.00		0.00				3		-0.29		-1.66		-1.25		-4.11		-3.01		-1.86		0.00		0.00				3		0.08		2.74		1.55		16.90		9.06		3.47		0.00		0.00

						1.08		5.48		5.31		15.09		13.82		11.01								4		1.65		7.25		7.12		17.72		14.70		11.92		0.00		0.00				4		0.18		0.43		0.83		2.48		1.37		0.91		0.00		0.00				4		0.03		0.18		0.69		6.17		1.88		0.83		0.00		0.00

		K2		3		1.18		5.05		5.22		11.15		10.33		9.07								5		1.66		8.25		7.01		16.20		16.85		10.90		0.00		0.00				5		0.20		1.43		0.72		0.96		3.52		-0.11		0.00		0.00				5		0.04		2.06		0.52		0.93		12.36		0.01		0.00		0.00

						1.17		5.27		4.86		11.10		10.31		9.21								6		1.28		6.58		6.17		14.42		11.04		11.57		0.00		0.00				6		-0.19		-0.24		-0.12		-0.82		-2.29		0.57		0.00		0.00				6		0.04		0.06		0.01		0.67		5.24		0.32		0.00		0.00

		宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83								7		1.45		6.47		5.64		15.26		11.73		10.98		0.00		0.00				7		-0.01		-0.35		-0.65		0.02		-1.60		-0.02		0.00		0.00				7		0.00		0.12		0.42		0.00		2.56		0.00		0.00		0.00

						1.65		7.27		7.28		17.97		15.09		12.00								8																				8																				8

		森永		5		1.71		7.97		7.15		16.39		16.72		10.70								9																				9																				9

						1.61		8.53		6.87		16.01		16.97		11.09								10																				10																				10

		O		6		1.27		6.45		6.43		14.40		10.76		11.79								11																				11																				11

						1.28		6.71		5.90		14.43		11.32		11.35								12																				12																				12

		S		7		1.62		6.23		5.37		16.08		12.14		10.61								13																				13																				13

						1.52		6.16		5.51		16.62		12.39		10.79								14																				14																				14

																								15																				15																				15

																								16																				16																				16

																								17																				17																				17

																								平均値		1.46		6.82		6.29		15.24		13.33		11.00		0.00		0.00																								Σ		0.39		9.73		5.53		27.50		33.43		5.09		0.00		0.00

																								Ｃ表（差:sij:|yij1-yij2|）																				sij2		(yij1-yij2)2		差の２乗

																										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

																								1		0.0		0.4		0.6		0.4		0.3		0.4		0.0		0.0				1		0.00		0.12		0.31		0.15		0.07		0.18		0.00		0.00

																								2		0.3		0.0		0.3		0.1		0.3		0.3		0.0		0.0				2		0.07		0.00		0.10		0.01		0.06		0.08		0.00		0.00

																								3		0.0		0.2		0.4		0.1		0.0		0.1		0.0		0.0				3		0.00		0.05		0.13		0.00		0.00		0.02		0.00		0.00

																								4		0.0		0.0		0.3		0.5		0.8		0.2		0.0		0.0				4		0.00		0.00		0.10		0.25		0.61		0.03		0.00		0.00

																								5		0.1		0.6		0.3		0.4		0.3		0.4		0.0		0.0				5		0.01		0.31		0.08		0.14		0.06		0.15		0.00		0.00

																								6		0.0		0.3		0.5		0.0		0.6		0.4		0.0		0.0				6		0.00		0.07		0.28		0.00		0.31		0.19		0.00		0.00

																								7		0.1		0.1		0.1		0.5		0.3		0.2		0.0		0.0				7		0.01		0.00		0.02		0.29		0.06		0.03		0.00		0.00

																								8																				8

																								9																				9

																								10																				10

																								11																				11

																								12																				12

																								13																				13

																								14																				14

				ラボ数ｐ＝		7																		15																				15

																								16																				16

																								17																				17

																																												Σ		0.09		0.56		1.02		0.86		1.18		0.69		0.00		0.00

				Mandel's k　（バラツキの評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.18		1.24		1.47		1.12		0.63		1.34		0.00		0.00

				2		2.31		0.18		0.81		0.34		0.61		0.93		0.00		0.00

				3		0.09		0.78		0.94		0.14		0.05		0.45		0.00		0.00

				4		0.09		0.18		0.84		1.43		1.90		0.54		0.00		0.00

				5		0.89		1.98		0.73		1.09		0.61		1.24		0.00		0.00

				6		0.09		0.92		1.39		0.09		1.37		1.40		0.00		0.00

				7		0.89		0.25		0.37		1.54		0.61		0.57		0.00		0.00

				8		0.00		0.00		0.00		0.00		0.00		0.00		0.00		0.00

				9		0.00		0.00		0.00		0.00		0.00		0.00		0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				7ラボの場合、1%＝2.20、5%＝1.87

				Mandel's h　（平均値の評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.44		1.33		1.34		0.78		0.59		0.71		0.00		0.00

				2		-1.00		-1.03		-0.86		-0.10		0.26		-0.15		0.00		0.00

				3		-1.13		-1.30		-1.30		-1.92		-1.28		-2.02		0.00		0.00

				4		0.71		0.34		0.87		1.16		0.58		0.99		0.00		0.00

				5		0.77		1.13		0.75		0.45		1.49		-0.12		0.00		0.00

				6		-0.74		-0.19		-0.13		-0.38		-0.97		0.62		0.00		0.00

				7		-0.05		-0.27		-0.68		0.01		-0.68		-0.03		0.00		0.00

				8														0.00		0.00

				9														0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				7ラボの場合、1%＝1.98、5%＝1.71																																																																														サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

																																																																																		0.02		0.35		0.56		0.39		0.26		0.42		0		0

																																																																																		0.26		0.05		0.31		0.12		0.25		0.29		0		0

																																																																																		0.01		0.22		0.36		0.05		0.02		0.14		0		0

																																																																																		0.01		0.05		0.32		0.5		0.78		0.17		0		0

																																																																																		0.1		0.56		0.28		0.38		0.25		0.39		0		0

																																																																																		0.01		0.26		0.53		0.03		0.56		0.44		0		0

																																																																																		0.1		0.07		0.14		0.54		0.25		0.18		0		0

				Cochran's test （バラツキの評価）																				Ｃ表（sij）異常値を除いて、大きい順に並べ替える。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		sij2				サンプルB						サンプルC						サンプルD						サンプルE						サンプルF						サンプルG						サンプルH								Ｃ表（差:sij:|yij1-yij2|）

				Ｃ		0.4831		0.5580		0.3073		0.3407		0.5167		0.2818		0.0000		0.0000				7		0.1		0.01		5		0.6		0.3136		1		0.6		0.3136		7		0.5		0.2916		4		0.8		0.6084		6		0.4		0.1936						0						0								サンプルA						サンプルB						サンプルC						サンプルD						サンプルE						サンプルF

				表からcritical valueを求める。																				5		0.1		0.01		1		0.4		0.1225		6		0.5		0.2809		4		0.5		0.25		6		0.6		0.3136		1		0.4		0.1764						0						0						2		0.26				5		0.56				1		0.56				7		0.54				4		0.78				6		0.44

				ラボ数		6		7		7		7		7		7		0		0				1		0.0		0.0004		6		0.3		0.0676		3		0.4		0.1296		1		0.4		0.1521		1		0.3		0.0676		5		0.4		0.1521						0						0						7		0.1				1		0.35				6		0.53				4		0.5				6		0.56				1		0.42

				1%		0.838		0.838		0.838		0.838		0.838		0.754		0.754		0.754				3		0.0		0.0001		3		0.2		0.0484		4		0.3		0.1024		5		0.4		0.1444		2		0.3		0.0625		2		0.3		0.0841						0						0						5		0.1				6		0.26				3		0.36				1		0.39				1		0.26				5		0.39

				5%		0.727		0.727		0.727		0.727		0.727		0.638		0.638		0.638				4		0.0		0.0001		7		0.1		0.0049		2		0.3		0.0961		2		0.1		0.0144		5		0.3		0.0625		7		0.2		0.0324						0						0						1		0.02				3		0.22				4		0.32				5		0.38				2		0.25				2		0.29

																								6		0.0		0.0001		2		0.0		0.0025		5		0.3		0.0784		3		0.1		0.0025		7		0.3		0.0625		4		0.2		0.0289						0						0						3		0.01				7		0.07				2		0.31				2		0.12				5		0.25				7		0.18

				7ラボの場合、1%＝0.727、5%＝0.838																								0		4		0.0		0.0025		7		0.1		0.0196		6		0.0		0.0009		3		0.0		0.0004		3		0.1		0.0196						0						0						4		0.01				2		0.05				5		0.28				3		0.05				7		0.25				4		0.17

																												0						0						0						0						0						0						0						0						6		0.01				4		0.05				7		0.14				6		0.03				3		0.02				3		0.14

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0												0						0						0						0						0

																										Σ		0.0207				Σ		0.562				Σ		1.0206				Σ		0.8559				Σ		1.1775				Σ		0.6871				Σ		0				Σ		0

				Grubb's test （平均値の評価）：上端の値、下端の値、大きい２つの値、小さい２つの値を検定する。

				異常値を除いて昇順に並べる。																				異常値を除いて降順に並べる。																								s02の計算		(yi-y)2																		sp-1,p2の計算				(yi-yp-1,p)2																s1,22の計算				(yi-y1,2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH				1.175		5.16		5.04		11.125		10.32		9.14

				1		1.18		5.16		5.04		11.13		10.32		9.14								1		1.83		8.51		7.57		17.72		16.85		11.92												1		0.1		2.7		1.6		16.9		9.1		3.5		0.0		0.0				1																				1																				1.275		5.505		5.465		14.415		11.04		10.865

				2		1.28		5.51		5.47		14.42		11.04		10.87								2		1.66		8.25		7.12		16.91		14.73		11.66												2		0.1		1.7		0.7		0.7		5.2		0.0		0.0		0.0				2																				2																				1.45		6.47		5.635		15.03		11.73		10.895

				3		1.45		6.47		5.64		15.03		11.73		10.90								3		1.65		7.25		7.01		16.20		14.70		11.57												3		0.0		0.1		0.4		0.0		2.6		0.0		0.0		0.0				3		0.1		1.1		1.3		3.2		5.5		0.8		0.0		0.0				3		0.0		0.9		1.1		1.4		7.1		0.3		0.0		0.0				1.645		6.58		6.165		15.255		13.945		10.98

				4		1.65		6.58		6.17		15.26		13.95		10.98								4		1.45		6.58		6.17		15.26		13.95		10.98												4		0.0		0.1		0.0		0.0		0.4		0.0		0.0		0.0				4		0.0		0.2		0.1		0.7		2.6		0.1		0.0		0.0				4		0.0		0.7		0.3		0.9		0.2		0.2		0.0		0.0				1.66		7.245		7.01		16.2		14.7		11.57

				5		1.66		7.25		7.01		16.20		14.70		11.57								5		1.28		6.47		5.64		15.03		11.73		10.90												5		0.0		0.2		0.5		0.9		1.9		0.3		0.0		0.0				5		0.0		0.1		0.1		0.4		0.4		0.0		0.0		0.0				5		0.0		0.0		0.1		0.0		0.1		0.0		0.0		0.0				1.83		8.25		7.12		16.905		14.73		11.66

				6		1.83		8.25		7.12		16.91		14.73		11.66								6		1.18		5.51		5.47		14.42		11.04		10.87												6		0.1		2.1		0.7		2.8		2.0		0.4		0.0		0.0				6		0.0		0.5		0.2		0.0		1.7		0.0		0.0		0.0				6		0.0		0.7		0.2		0.5		0.1		0.1		0.0		0.0						8.505		7.57		17.72		16.845		11.915

				7				8.51		7.57		17.72		16.85		11.92								7				5.16		5.04		11.13		10.32		9.14												7				2.9		1.6		6.2		12.4		0.8		0.0		0.0				7				1.1		0.7		10.8		4.1		2.4		0.0		0.0				7				1.2		0.8		2.2		6.0		0.3		0.0		0.0

				8																				8																								8																				8																				8																				1.83		8.505		7.57		17.72		16.845		11.915

				9																				9																								9																				9																				9																				1.66		8.25		7.12		16.905		14.73		11.66

				10																				10																								10																				10																				10																				1.645		7.245		7.01		16.2		14.7		11.57

				11																				11																								11																				11																				11																				1.45		6.58		6.165		15.255		13.945		10.98

				12																				12																								12																				12																				12																				1.275		6.47		5.635		15.03		11.73		10.895

				13																				13																								13																				13																				13																				1.175		5.505		5.465		14.415		11.04		10.865

				14																				14																								14																				14																				14																						5.16		5.04		11.125		10.32		9.14

				15																				15																								15																				15																				15

				16																				16																								16																				16																				16

				Σ		9.04		47.72		44.01		106.65		93.31		77.03		0.00		0.00																												s02＝Σ		0.3		9.7		5.5		27.5		33.4		5.1		0.0		0.0				sp-1,p2＝Σ		0.1		2.9		2.3		15.1		14.3		3.3		0.0		0.0				s1,22＝Σ		0.1		3.5		2.4		5.1		13.5		0.8		0.0		0.0

				平均値		1.51		6.82		6.29		15.24		13.33		11.00		0.00		0.00

				標準偏差		0.25		1.27		0.96		2.14		2.36		0.92		0.00		0.00

				yp-1,p																				yp-1,p		1.39		6.19		5.86		14.41		12.35		10.69		0.00		0.00		大きいデータ2つを除いた平均値

				y1,2		1.65		7.41		6.70		16.22		14.39		11.40		0.00		0.00																						小さいデータ2つを除いた平均値

				One outlieing obserbation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		1.293		1.326		1.337		1.160		1.489		0.990		0.000		0.000				Gp=(yp-y)/s

				smallest		1.320		1.301		1.298		1.920		1.275		2.024		0.000		0.000				G1=(y-y1)/s						サンプルA				サンプルB				サンプルC				サンプルD				サンプルE

				表からcritical valueを求める。																										0.00525				0.0206				0.44495				0.37125				0.7784

				Critical value（これより小さければ正常）																										0.005015				0.02035				0.44135				0.3708				0.7574

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										0.005				0.02035				0.4378				0.3653				0.7525

				P		6		7		7		7		7		7		0		0										0.0049				0.0203				0.4335				0.36325				0.7337

				1%		2.139		2.139		2.139		2.139		2.139		2.139		2.139		2.139										0.0048				0.02025				0.43085				0.3632				0.73355

				5%		2.020		2.020		2.020		2.020		2.020		2.020		2.020		2.020										0.00475				0.02005				0.42895				0.35925				0.72265

				異常値は無い。																										0.0046				0.01995				0.427				0.3565				0.7174

				Two outlying observation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		0.408		0.295		0.415		0.549		0.427		0.655		0.000		0.000				G=sp-1,p2/s02

				smallest		0.231		0.360		0.443		0.184		0.404		0.156		0.000		0.000				G=s1,22/s02

				表からcritical valueを求める。

				Critical value（これより大きければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		6		7		7		7		7		7		0		0

				1%		0.0116		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308

				5%		0.0349		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708

				異常値は無い。

				統計量の計算

				異常値を除いて上にある表の値をコピーする。																																								異常値を除いて上にある表の値をコピーする。

				yi　（T1の計算）				yi																yi2　（T2の計算）				yi2																sij2　（T3の計算）				(yi1-yi2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.18		5.16		5.04		11.13		10.32		9.14								1		1.4		26.6		25.4		123.8		106.5		83.5		0.0		0.0				1		0.0004		0.1225		0.3136		0.1521		0.0676		0.1764		0.0000		0.0000

				2		1.28		5.51		5.47		14.42		11.04		10.87								2		1.6		30.3		29.9		207.8		121.9		118.0		0.0		0.0				2				0.0025		0.0961		0.0144		0.0625		0.0841		0.0000		0.0000

				3		1.45		6.47		5.64		15.03		11.73		10.90								3		2.1		41.9		31.8		225.9		137.6		118.7		0.0		0.0				3		0.0001		0.0484		0.1296		0.0025		0.0004		0.0196		0.0000		0.0000

				4		1.65		6.58		6.17		15.26		13.95		10.98								4		2.7		43.3		38.0		232.7		194.5		120.6		0.0		0.0				4		0.0001		0.0025		0.1024		0.2500		0.6084		0.0289		0.0000		0.0000

				5		1.66		7.25		7.01		16.20		14.70		11.57								5		2.8		52.5		49.1		262.4		216.1		133.9		0.0		0.0				5		0.0100		0.3136		0.0784		0.1444		0.0625		0.1521		0.0000		0.0000

				6		1.83		8.25		7.12		16.91		14.73		11.66								6		3.3		68.1		50.7		285.8		217.0		136.0		0.0		0.0				6		0.0001		0.0676		0.2809		0.0009		0.3136		0.1936		0.0000		0.0000

				7				8.51		7.57		17.72		16.85		11.92								7		0.0		72.3		57.3		314.0		283.8		142.0		0.0		0.0				7		0.0100		0.0049		0.0196		0.2916		0.0625		0.0324		0.0000		0.0000

				8																				8		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				8

				9																				9		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				9

				10																				10		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				10

				11																				11		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				11

				12																				12		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				12

				13																				13		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				13

				14																				14		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				14

				15																				15		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				15

				16																				16		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				16

				T1=Σ		9.0350		47.7150		44.0050		106.6500		93.3100		77.0		0.0		0.0				T2=Σ		13.9		335.0		282.2		1652.4		1277.3		852.6		0.0		0.0				T3=Σ		0.0		0.6		1.0		0.9		1.2		0.7		0.0		0.0

				統計量が計算される。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				p		6		7		7		7		7		7		0		0

				T1		9.035		47.715		44.005		106.650		93.310		77.0		0.0		0.0

				T2		13.919		334.975		282.168		1652.391		1277.257		852.6		0.0		0.0

				T3		0.0		0.6		1.0		0.9		1.2		0.7		0.0		0.0

				sr2		0.001725		0.040143		0.072900		0.061136		0.084107		0.049		0.000		0.000

				sL2		0.061952		1.601526		0.885781		4.553144		5.530371		0.823		0.000		0.000

				sR2		0.0636767		1.6416690		0.9586810		4.6142798		5.6144786		0.9		0.0		0.0

				m		1.5058		6.8164		6.2864		15.2357		13.3300		11.0		0.0		0.0

				sr		0.04153		0.20036		0.27000		0.24726		0.29001		0.22		0.00		0.00

				sR		0.25234		1.28128		0.97912		2.14809		2.36949		0.93		0.00		0.00

				r95		0.11629		0.56100		0.75600		0.69232		0.81203		0.62		0.00		0.00

				R95		0.70656		3.58757		2.74154		6.01464		6.63457		2.62		0.00		0.00

		◎		cvR		16.75766		18.79689		15.57518		14.09903		17.77561		8.5		0.0		0.0

				cvPRED		15.0		12.0		12.1		10.6		10.8		11.2		0.0		0.0

				HorRat		1.1		1.6		1.3		1.3		1.6		0.8		0.0		0.0

		×１０		ｍ		15.058		68.164		62.864		152.357		133.300		110.0		0.0		0.0

				cvPRED		10.6		8.5		8.6		7.5		7.7		7.9		0.0		0.0

				HorRat R		1.6		2.2		1.8		1.9		2.3		1.1		0.0		0.0

				CVpred		7.1		5.6		5.7		5.0		5.1		5.3		0.0		0.0

		◎		CVr		2.8		2.9		4.3		1.6		2.2		2.0		0.0		0.0

				HorRat r		0.4		0.5		0.8		0.3		0.4		0.4		0.0		0.0

				sr2=T3/2p

				sL2=(pT2-T12)/p(p-1)-sr2/2

				sR2=sL2+sr2

				m=T1/p

				cvPRED=2c-0.1505
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グリアジン9

				データを入力する。

				Ａ表（生データ:yijk）																				Ｂ表（平均値：yij）																				yij-yj				平均との差																(yij-yj)2		平均との差の２乗

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

		アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45								1		1.83		8.51		7.57		16.91		14.73		11.66		0.00		0.00				1		0.35		1.80		1.43		1.45		1.73		0.72		0.00		0.00				1		0.12		3.25		2.04		2.09		2.98		0.52		0.00		0.00

						1.82		8.68		7.29		17.10		14.60		11.87								2		1.21		5.51		5.47		15.03		13.95		10.87		0.00		0.00				2		-0.27		-1.20		-0.68		-0.43		0.94		-0.07		0.00		0.00				2		0.07		1.43		0.46		0.18		0.88		0.01		0.00		0.00

		キリン1		2		1.34		5.53		5.62		14.97		14.07		10.72								3		1.18		5.16		5.04		11.13		10.32		9.14		0.00		0.00				3		-0.30		-1.54		-1.10		-4.33		-2.69		-1.80		0.00		0.00				3		0.09		2.38		1.22		18.78		7.21		3.24		0.00		0.00

						1.08		5.48		5.31		15.09		13.82		11.01								4		1.65		7.25		7.12		17.72		14.70		11.92		0.00		0.00				4		0.17		0.54		0.98		2.26		1.70		0.98		0.00		0.00				4		0.03		0.29		0.95		5.11		2.87		0.95		0.00		0.00

		キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07								5		1.66		8.25		7.01		16.20		16.85		10.90		0.00		0.00				5		0.18		1.55		0.87		0.74		3.84		-0.04		0.00		0.00				5		0.03		2.40		0.75		0.55		14.75		0.00		0.00		0.00

						1.17		5.27		4.86		11.10		10.31		9.21								6		1.28		6.58		6.17		14.42		11.04		11.57		0.00		0.00				6		-0.20		-0.12		0.02		-1.04		-1.97		0.63		0.00		0.00				6		0.04		0.01		0.00		1.09		3.86		0.40		0.00		0.00

		宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83								7		1.45		6.47		5.64		15.26		11.73		10.98		0.00		0.00				7		-0.03		-0.23		-0.51		-0.20		-1.28		0.04		0.00		0.00				7		0.00		0.05		0.26		0.04		1.63		0.00		0.00		0.00

						1.65		7.27		7.28		17.97		15.09		12.00								8		1.57		6.20		5.44		16.35		12.27		10.70		0.00		0.00				8		0.09		-0.51		-0.70		0.89		-0.74		-0.24		0.00		0.00				8		0.01		0.26		0.49		0.79		0.55		0.06		0.00		0.00

		森永		5		1.71		7.97		7.15		16.39		16.72		10.70								9		1.50		6.41		5.84		16.13		11.47		10.73		0.00		0.00				9		0.02		-0.29		-0.30		0.67		-1.54		-0.21		0.00		0.00				9		0.00		0.09		0.09		0.45		2.36		0.05		0.00		0.00

						1.61		8.53		6.87		16.01		16.97		11.09								10																				10																				10

		オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79								11																				11																				11

						1.28		6.71		5.90		14.43		11.32		11.35								12																				12																				12

		サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61								13																				13																				13

						1.52		6.16		5.51		16.62		12.39		10.79								14																				14																				14

		和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66								15																				15																				15

						1.68		6.19		6.13		14.70		11.27		10.37								16																				16																				16

		ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56								17																				17																				17

						1.06		5.25		5.32		12.74		10.64		11.01								平均値		1.48		6.70		6.14		15.46		13.01		10.94		0.00		0.00																								Σ		0.40		10.16		6.26		29.10		37.08		5.22		0.00		0.00

																								Ｃ表（差:sij:|yij1-yij2|）																				sij2		(yij1-yij2)2		差の２乗

																										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

																								1		0.0		0.4		0.6		0.4		0.3		0.4		0.0		0.0				1		0.00		0.12		0.31		0.15		0.07		0.18		0.00		0.00

																								2		0.3		0.0		0.3		0.1		0.3		0.3		0.0		0.0				2		0.07		0.00		0.10		0.01		0.06		0.08		0.00		0.00

																								3		0.0		0.2		0.4		0.1		0.0		0.1		0.0		0.0				3		0.00		0.05		0.13		0.00		0.00		0.02		0.00		0.00

																								4		0.0		0.0		0.3		0.5		0.8		0.2		0.0		0.0				4		0.00		0.00		0.10		0.25		0.61		0.03		0.00		0.00

																								5		0.1		0.6		0.3		0.4		0.3		0.4		0.0		0.0				5		0.01		0.31		0.08		0.14		0.06		0.15		0.00		0.00

																								6		0.0		0.3		0.5		0.0		0.6		0.4		0.0		0.0				6		0.00		0.07		0.28		0.00		0.31		0.19		0.00		0.00

																								7		0.1		0.1		0.1		0.5		0.3		0.2		0.0		0.0				7		0.01		0.00		0.02		0.29		0.06		0.03		0.00		0.00

																								8		0.0		0.5		0.7		1.0		1.8		0.1		0.0		0.0				8		0.00		0.25		0.44		0.96		3.39		0.02		0.00		0.00

																								9		0.2		0.5		0.0		0.9		0.7		0.3		0.0		0.0				9		0.04		0.22		0.00		0.88		0.52		0.08		0.00		0.00

																								10																				10

																								11																				11

																								12																				12

																								13																				13

																								14																				14

				ラボ数ｐ＝		9																		15																				15

																								16																				16

																								17																				17

																																												Σ		0.13		1.03		1.46		2.70		5.08		0.79		0.00		0.00

				Mandel's k　（バラツキの評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.17		1.03		1.39		0.71		0.35		1.42		0.00		0.00

				2		2.16		0.15		0.77		0.22		0.33		0.98		0.00		0.00

				3		0.08		0.65		0.89		0.09		0.03		0.47		0.00		0.00

				4		0.08		0.15		0.80		0.91		1.04		0.57		0.00		0.00

				5		0.83		1.65		0.70		0.69		0.33		1.32		0.00		0.00

				6		0.08		0.77		1.32		0.05		0.75		1.49		0.00		0.00

				7		0.83		0.21		0.35		0.99		0.33		0.61		0.00		0.00

				8		0.33		1.48		1.64		1.79		2.45		0.44		0.00		0.00

				9		1.66		1.39		0.10		1.72		0.96		0.98		0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				9ラボの場合、1%＝1.66、5%＝1.45

				Mandel's h　（平均値の評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.57		1.60		1.61		0.76		0.80		0.89		0.00		0.00

				2		-1.21		-1.06		-0.77		-0.22		0.44		-0.09		0.00		0.00

				3		-1.36		-1.37		-1.25		-2.27		-1.25		-2.23		0.00		0.00

				4		0.74		0.48		1.10		1.19		0.79		1.21		0.00		0.00

				5		0.81		1.37		0.98		0.39		1.78		-0.05		0.00		0.00

				6		-0.91		-0.11		0.03		-0.55		-0.91		0.78		0.00		0.00

				7		-0.13		-0.21		-0.57		-0.11		-0.59		0.05		0.00		0.00

				8		0.41		-0.45		-0.79		0.47		-0.34		-0.30		0.00		0.00

				9		0.09		-0.26		-0.34		0.35		-0.71		-0.26		0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				8ラボの場合、1%＝2.13、5%＝1.78

				Cochran's test （バラツキの評価）																				Ｃ表（sij）異常値を除いて、大きい順に並べ替える。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		sij2				サンプルB						サンプルC						サンプルD						サンプルE						サンプルF						サンプルG						サンプルH								サンプルA						サンプルB						サンプルC						サンプルD						サンプルE						サンプルF

				Ｃ		0.5204		0.3036		0.2988		0.3557		0.6663		0.2457		0.0000		0.0000				2		0.3		0.0676		5		0.6		0.3136		8		0.7		0.4356		8		1.0		0.9604		8		1.8		3.3856		6		0.4		0.1936						0						0				2		0.26				5		0.56				8		0.66				8		0.98				8		1.84				6		0.44

				表からcritical valueを求める。																				9		0.2		0.04		8		0.5		0.25		1		0.6		0.3136		9		0.9		0.8836		4		0.8		0.6084		1		0.4		0.1764						0						0				9		0.2				8		0.5				1		0.56				9		0.94				4		0.78				1		0.42

				ラボ数		9		9		9		9		9		9		0		0				7		0.1		0.01		9		0.5		0.2209		6		0.5		0.2809		7		0.5		0.2916		9		0.7		0.5184		5		0.4		0.1521						0						0				7		0.1				9		0.47				6		0.53				7		0.54				9		0.72				5		0.39

				1%		0.754		0.754		0.754		0.754		0.754		0.754		0.754		0.754				5		0.1		0.01		1		0.4		0.1225		3		0.4		0.1296		4		0.5		0.25		6		0.6		0.3136		9		0.3		0.0841						0						0				5		0.1				1		0.35				3		0.36				4		0.5				6		0.56				9		0.29

				5%		0.638		0.638		0.638		0.638		0.638		0.638		0.638		0.638				8		0.0		0.0016		6		0.3		0.0676		4		0.3		0.1024		1		0.4		0.1521		1		0.3		0.0676		2		0.3		0.0841						0						0				8		0.04				6		0.26				4		0.32				1		0.39				1		0.26				2		0.29

																								1		0.0		0.0004		3		0.2		0.0484		2		0.3		0.0961		5		0.4		0.1444		2		0.3		0.0625		7		0.2		0.0324						0						0				1		0.02				3		0.22				2		0.31				5		0.38				2		0.25				7		0.18

				9ラボの場合、1%＝0.754、5%＝0.638																				6		0.0		0.0001		7		0.1		0.0049		5		0.3		0.0784		2		0.1		0.0144		5		0.3		0.0625		4		0.2		0.0289						0						0				6		0.01				7		0.07				5		0.28				2		0.12				5		0.25				4		0.17

																								4		0.0		0.0001		2		0.0		0.0025		7		0.1		0.0196		3		0.1		0.0025		7		0.3		0.0625		3		0.1		0.0196						0						0				4		0.01				2		0.05				7		0.14				3		0.05				7		0.25				3		0.14

																								3		0.0		0.0001		4		0.0		0.0025		9		0.0		0.0016		6		0.0		0.0009		3		0.0		0.0004		8		0.1		0.0169						0						0				3		0.01				4		0.05				9		0.04				6		0.03				3		0.02				8		0.13

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0												0						0						0						0						0

																										Σ		0.1299				Σ		1.0329				Σ		1.4578				Σ		2.6999				Σ		5.0815				Σ		0.7881				Σ		0				Σ		0

				Grubb's test （平均値の評価）：上端の値、下端の値、大きい２つの値、小さい２つの値を検定する。

				異常値を除いて昇順に並べる。																				異常値を除いて降順に並べる。																								s02の計算		(yi-y)2																		sp-1,p2の計算				(yi-yp-1,p)2																s1,22の計算				(yi-y1,2)2																		1.175		5.16		5.04		11.125		10.32		9.14

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						1.21		5.505		5.44		14.415		11.04		10.7

				1		1.18		5.16		5.04		11.13		10.32		9.14								1		1.83		8.51		7.57		17.72		16.85		11.92												1		0.1		2.4		1.2		18.8		7.2		3.2		0.0		0.0				1																				1																						1.275		6.195		5.465		15.03		11.47		10.725

				2		1.21		5.51		5.44		14.42		11.04		10.70								2		1.66		8.25		7.12		16.91		14.73		11.66												2		0.1		1.4		0.5		1.1		3.9		0.1		0.0		0.0				2																				2																						1.45		6.41		5.635		15.255		11.73		10.865

				3		1.28		6.20		5.47		15.03		11.47		10.73								3		1.65		7.25		7.01		16.35		14.70		11.57												3		0.0		0.3		0.5		0.2		2.4		0.0		0.0		0.0				3		0.1		1.0		1.5		2.0		6.2		0.8		0.0		0.0				3		0.1		0.8		0.9		1.4		4.8		0.3		0.0		0.0						1.5		6.47		5.84		16.13		12.265		10.895

				4		1.45		6.41		5.64		15.26		11.73		10.87								4		1.57		6.58		6.17		16.20		13.95		10.98												4		0.0		0.1		0.3		0.0		1.6		0.0		0.0		0.0				4		0.0		0.1		0.1		1.6		3.0		0.1		0.0		0.0				4		0.0		0.5		0.6		0.9		3.8		0.1		0.0		0.0						1.57		6.58		6.165		16.2		13.945		10.98

				5		1.50		6.47		5.84		16.13		12.27		10.90								5		1.50		6.47		5.84		16.13		12.27		10.90												5		0.0		0.1		0.1		0.5		0.5		0.0		0.0		0.0				5		0.0		0.1		0.0		1.4		0.0		0.0		0.0		0.0				5		0.0		0.4		0.3		0.0		2.0		0.1		0.0		0.0						1.645		7.245		7.01		16.35		14.7		11.57

				6		1.57		6.58		6.17		16.20		13.95		10.98								6		1.45		6.41		5.64		15.26		11.73		10.87												6		0.0		0.0		0.0		0.5		0.9		0.0		0.0		0.0				6		0.0		0.0		0.0		0.1		0.2		0.0		0.0		0.0				6		0.0		0.3		0.1		0.0		0.1		0.1		0.0		0.0						1.66		8.25		7.12		16.905		14.73		11.66

				7		1.65		7.25		7.01		16.35		14.70		11.57								7		1.28		6.20		5.47		15.03		11.47		10.73												7		0.0		0.3		0.8		0.8		2.9		0.4		0.0		0.0				7		0.0		0.0		0.1		0.0		0.5		0.0		0.0		0.0				7		0.0		0.0		0.4		0.0		1.1		0.1		0.0		0.0						1.83		8.505		7.57		17.72		16.845		11.915

				8		1.66		8.25		7.12		16.91		14.73		11.66								8		1.21		5.51		5.44		14.42		11.04		10.70												8																				8																				8

				9		1.83		8.51		7.57		17.72		16.85		11.92								9		1.18		5.16		5.04		11.13		10.32		9.14												9																				9																				9																						1.83		8.505		7.57		17.72		16.845		11.915

				10																				10																								10																				10																				10																						1.66		8.25		7.12		16.905		14.73		11.66

				11																				11																								11																				11																				11																						1.645		7.245		7.01		16.35		14.7		11.57

				12																				12																								12																				12																				12																						1.57		6.58		6.165		16.2		13.945		10.98

				13																				13																								13																				13																				13																						1.5		6.47		5.84		16.13		12.265		10.895

				14																				14																								14																				14																				14																						1.45		6.41		5.635		15.255		11.73		10.865

				15																				15																								15																				15																				15																						1.275		6.195		5.465		15.03		11.47		10.725

				16																				16																								16																				16																				16																						1.21		5.505		5.44		14.415		11.04		10.7

				Σ		13.32		60.32		55.29		139.13		117.05		98.45		0.00		0.00																												s02＝Σ		0.2		4.5		3.3		21.9		19.4		3.7		0.0		0.0				sp-1,p2＝Σ		0.1		1.3		1.7		5.2		10.0		0.9		0.0		0.0				s1,22＝Σ		0.1		2.0		2.2		2.4		11.7		0.7		0.0		0.0						1.175		5.16		5.04		11.125		10.32		9.14

				平均値		1.48		6.70		6.14		15.46		13.01		10.94		0.00		0.00

				標準偏差		0.22		1.13		0.88		1.91		2.15		0.81		0.00		0.00

				yp-1,p																				yp-1,p		1.40		6.22		5.80		14.93		12.21		10.70		0.00		0.00		大きいデータ2つを除いた平均値

				y1,2		1.56		7.09		6.40		16.23		13.67		11.23		0.00		0.00																						小さいデータ2つを除いた平均値

				One outlieing obserbation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		1.569		1.599		1.613		1.186		1.784		1.209		0.000		0.000				Gp=(yp-y)/s

				smallest		1.362		1.368		1.246		2.273		1.247		2.227		0.000		0.000				G1=(y-y1)/s

				表からcritical valueを求める。

				Critical value（これより小さければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		9		9		9		9		9		9		0		0

				1%		2.387		2.387		2.387		2.387		2.387		2.387		2.387		2.387

				5%		2.215		2.215		2.215		2.215		2.215		2.215		2.215		2.215

				異常値は無い。

				Two outlying observation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		0.467		0.280		0.532		0.237		0.516		0.244		0.000		0.000				G=sp-1,p2/s02

				smallest		0.432		0.432		0.673		0.110		0.605		0.181		0.000		0.000				G=s1,22/s02

				表からcritical valueを求める。

				Critical value（これより大きければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		9		9		9		9		9		9		0		0

				1%		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308

				5%		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708

				異常値は無い。

				統計量の計算

				異常値を除いて上にある表の値をコピーする。																																								異常値を除いて上にある表の値をコピーする。

				yi　（T1の計算）				yi																yi2　（T2の計算）				yi2																sij2　（T3の計算）				(yi1-yi2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.18		5.16		5.04		11.13		10.32		9.14								1		1.4		26.6		25.4		123.8		106.5		83.5		0.0		0.0				1		0.0004		0.1225		0.3136		0.1521		0.0676		0.1764

				2		1.57		6.20		5.44		16.35		12.27		10.70								2		2.5		38.4		29.6		267.3		150.4		114.5		0.0		0.0				2		0.0676		0.0025		0.0961		0.0144		0.0625		0.0841

				3		1.21		5.51		5.47		15.03		13.95		10.87								3		1.5		30.3		29.9		225.9		194.5		118.0		0.0		0.0				3		0.0001		0.0484		0.1296		0.0025		0.0004		0.0196

				4		1.66		8.25		7.01		16.20		16.85		10.90								4		2.8		68.1		49.1		262.4		283.8		118.7		0.0		0.0				4		0.0001		0.0025		0.1024		0.2500		0.6084		0.0289

				5		1.45		6.47		5.64		15.26		11.73		10.98								5		2.1		41.9		31.8		232.7		137.6		120.6		0.0		0.0				5		0.0100		0.3136		0.0784		0.1444		0.0625		0.1521

				6		1.28		6.58		6.17		14.42		11.04		11.57								6		1.6		43.3		38.0		207.8		121.9		133.9		0.0		0.0				6		0.0001		0.0676		0.2809		0.0009		0.3136		0.1936

				7		1.83		8.51		7.57		16.91		14.73		11.66								7		3.3		72.3		57.3		285.8		217.0		136.0		0.0		0.0				7		0.0100		0.0049		0.0196		0.2916		0.0625		0.0324

				8		1.65		7.25		7.12		17.72		14.70		11.92								8		2.7		52.5		50.7		314.0		216.1		142.0		0.0		0.0				8		0.0016		0.2500		0.4356		0.9604		3.3856		0.0169

				9																				9		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				9		0.0400		0.2209		0.0016		0.8836		0.5184		0.0841

				10																				10		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				10

				11																				11		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				11

				12																				12		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				12

				13																				13		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				13

				14																				14		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				14

				15																				15		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				15

				16																				16		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				16

				T1=Σ		11.8150		53.9100		49.4450		123.0000		105.5750		87.7		0.0		0.0				T2=Σ		17.8		373.4		311.8		1919.7		1427.7		967.1		0.0		0.0				T3=Σ		0.1		1.0		1.5		2.7		5.1		0.8		0.0		0.0

				統計量が計算される。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				p		8		8		8		8		8		8		0		0

				T1		11.82		53.91		49.45		123.00		105.58		87.7		0.0		0.0

				T2		17.85		373.35		311.76		1919.71		1427.69		967.1		0.0		0.0

				T3		0.13		1.03		1.46		2.70		5.08		0.8		0.0		0.0

				sr2		0.01		0.06		0.09		0.17		0.32		0.05		0.000		0.000

				sL2		0.05		1.41		0.83		4.00		4.76		0.71		0.000		0.000

				sR2		0.06		1.47		0.93		4.17		5.08		0.76		0.0		0.0

				m		1.48		6.74		6.18		15.38		13.20		11.0		0.0		0.0

				sr		0.09		0.25		0.30		0.41		0.56		0.2		0.00		0.00

				sR		0.25		1.21		0.96		2.04		2.25		0.9		0.00		0.00

				r95		0.25		0.71		0.85		1.15		1.58		0.6		0.00		0.00

				R95		0.69		3.40		2.69		5.72		6.31		2.4		0.00		0.00

				cvR		16.73		17.99		15.57		13.28		17.07		8.0		0.0		0.0

				cvPRED		15.08		12.00		12.16		10.60		10.85		11.2		0.0		0.0

				HorRat		1.11		1.50		1.28		1.25		1.57		0.7		0.0		0.0

		×１０		ｍ		14.77		67.39		61.81		153.75		131.97		109.7		0.0		0.0

				cvPRED		10.67		8.49		8.60		7.50		7.67		7.9		0.0		0.0

				HorRat R		1.57		2.12		1.81		1.77		2.23		1.0		0.0		0.0

				CVpred		7.11		5.66		5.73		5.00		5.11		5.3		0.0		0.0

				CVr		6.10		3.77		4.88		2.67		4.27		2.0		0.0		0.0

				HorRat r		0.9		0.7		0.9		0.5		0.8		0.4		0.0		0.0

				sr2=T3/2p

				sL2=(pT2-T12)/p(p-1)-sr2/2

				sR2=sL2+sr2

				m=T1/p

				cvPRED=2c-0.1505
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グリアジン9 (外れ値除く)

				データを入力する。

				Ａ表（生データ:yijk）																				Ｂ表（平均値：yij）																				yij-yj				平均との差																(yij-yj)2		平均との差の２乗

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

		アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45								1		1.83		8.51		7.57		16.91		14.73		11.66		0.00		0.00				1		0.35		1.80		1.43		1.45		1.73		0.72		0.00		0.00				1		0.12		3.25		2.04		2.09		2.98		0.52		0.00		0.00

						1.82		8.68		7.29		17.10		14.60		11.87								2		1.21		5.51		5.47		15.03		13.95		10.87		0.00		0.00				2		-0.27		-1.20		-0.68		-0.43		0.94		-0.07		0.00		0.00				2		0.07		1.43		0.46		0.18		0.88		0.01		0.00		0.00

		キリン1		2		1.34		5.53		5.62		14.97		14.07		10.72								3		1.18		5.16		5.04		11.13		10.32		9.14		0.00		0.00				3		-0.30		-1.54		-1.10		-4.33		-2.69		-1.80		0.00		0.00				3		0.09		2.38		1.22		18.78		7.21		3.24		0.00		0.00

						1.08		5.48		5.31		15.09		13.82		11.01								4		1.65		7.25		7.12		17.72		14.70		11.92		0.00		0.00				4		0.17		0.54		0.98		2.26		1.70		0.98		0.00		0.00				4		0.03		0.29		0.95		5.11		2.87		0.95		0.00		0.00

		キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07								5		1.66		8.25		7.01		16.20		16.85		10.90		0.00		0.00				5		0.18		1.55		0.87		0.74		3.84		-0.04		0.00		0.00				5		0.03		2.40		0.75		0.55		14.75		0.00		0.00		0.00

						1.17		5.27		4.86		11.10		10.31		9.21								6		1.28		6.58		6.17		14.42		11.04		11.57		0.00		0.00				6		-0.20		-0.12		0.02		-1.04		-1.97		0.63		0.00		0.00				6		0.04		0.01		0.00		1.09		3.86		0.40		0.00		0.00

		宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83								7		1.45		6.47		5.64		15.26		11.73		10.98		0.00		0.00				7		-0.03		-0.23		-0.51		-0.20		-1.28		0.04		0.00		0.00				7		0.00		0.05		0.26		0.04		1.63		0.00		0.00		0.00

						1.65		7.27		7.28		17.97		15.09		12.00								8		1.57		6.20		5.44		16.35		12.27		10.70		0.00		0.00				8		0.09		-0.51		-0.70		0.89		-0.74		-0.24		0.00		0.00				8		0.01		0.26		0.49		0.79		0.55		0.06		0.00		0.00

		森永		5		1.71		7.97		7.15		16.39		16.72		10.70								9		1.50		6.41		5.84		16.13		11.47		10.73		0.00		0.00				9		0.02		-0.29		-0.30		0.67		-1.54		-0.21		0.00		0.00				9		0.00		0.09		0.09		0.45		2.36		0.05		0.00		0.00

						1.61		8.53		6.87		16.01		16.97		11.09								10																				10																				10

		オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79								11																				11																				11

						1.28		6.71		5.90		14.43		11.32		11.35								12																				12																				12

		サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61								13																				13																				13

						1.52		6.16		5.51		16.62		12.39		10.79								14																				14																				14

		和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66								15																				15																				15

						1.68		6.19		6.13		14.70		11.27		10.37								16																				16																				16

		ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56								17																				17																				17

						1.06		5.25		5.32		12.74		10.64		11.01								平均値		1.48		6.70		6.14		15.46		13.01		10.94		0.00		0.00																								Σ		0.40		10.16		6.26		29.10		37.08		5.22		0.00		0.00

																								Ｃ表（差:sij:|yij1-yij2|）																				sij2		(yij1-yij2)2		差の２乗

																										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

																								1		0.0		0.4		0.6		0.4		0.3		0.4		0.0		0.0				1		0.00		0.12		0.31		0.15		0.07		0.18		0.00		0.00

																								2		0.3		0.0		0.3		0.1		0.3		0.3		0.0		0.0				2		0.07		0.00		0.10		0.01		0.06		0.08		0.00		0.00

																								3		0.0		0.2		0.4		0.1		0.0		0.1		0.0		0.0				3		0.00		0.05		0.13		0.00		0.00		0.02		0.00		0.00

																								4		0.0		0.0		0.3		0.5		0.8		0.2		0.0		0.0				4		0.00		0.00		0.10		0.25		0.61		0.03		0.00		0.00

																								5		0.1		0.6		0.3		0.4		0.3		0.4		0.0		0.0				5		0.01		0.31		0.08		0.14		0.06		0.15		0.00		0.00

																								6		0.0		0.3		0.5		0.0		0.6		0.4		0.0		0.0				6		0.00		0.07		0.28		0.00		0.31		0.19		0.00		0.00

																								7		0.1		0.1		0.1		0.5		0.3		0.2		0.0		0.0				7		0.01		0.00		0.02		0.29		0.06		0.03		0.00		0.00

																								8		0.0		0.5		0.7		1.0		1.8		0.1		0.0		0.0				8		0.00		0.25		0.44		0.96		3.39		0.02		0.00		0.00

																								9		0.2		0.5		0.0		0.9		0.7		0.3		0.0		0.0				9		0.04		0.22		0.00		0.88		0.52		0.08		0.00		0.00

																								10																				10

																								11																				11

																								12																				12

																								13																				13

																								14																				14

				ラボ数ｐ＝		9																		15																				15

										外れ値		実験室３のサンプルＤとＦ				（平均で外す）								16																				16

												実験室８のサンプルＥ				（バラツキで外す）								17																				17

																																												Σ		0.13		1.03		1.46		2.70		5.08		0.79		0.00		0.00

				Mandel's k　（バラツキの評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.17		1.03		1.39		0.71		0.35		1.42		0.00		0.00

				2		2.16		0.15		0.77		0.22		0.33		0.98		0.00		0.00

				3		0.08		0.65		0.89		0.09		0.03		0.47		0.00		0.00

				4		0.08		0.15		0.80		0.91		1.04		0.57		0.00		0.00

				5		0.83		1.65		0.70		0.69		0.33		1.32		0.00		0.00

				6		0.08		0.77		1.32		0.05		0.75		1.49		0.00		0.00

				7		0.83		0.21		0.35		0.99		0.33		0.61		0.00		0.00

				8		0.33		1.48		1.64		1.79		2.45		0.44		0.00		0.00

				9		1.66		1.39		0.10		1.72		0.96		0.98		0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				9ラボの場合、1%＝1.66、5%＝1.45

				Mandel's h　（平均値の評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.57		1.60		1.61		0.76		0.80		0.89		0.00		0.00

				2		-1.21		-1.06		-0.77		-0.22		0.44		-0.09		0.00		0.00

				3		-1.36		-1.37		-1.25		-2.27		-1.25		-2.23		0.00		0.00

				4		0.74		0.48		1.10		1.19		0.79		1.21		0.00		0.00

				5		0.81		1.37		0.98		0.39		1.78		-0.05		0.00		0.00

				6		-0.91		-0.11		0.03		-0.55		-0.91		0.78		0.00		0.00

				7		-0.13		-0.21		-0.57		-0.11		-0.59		0.05		0.00		0.00

				8		0.41		-0.45		-0.79		0.47		-0.34		-0.30		0.00		0.00

				9		0.09		-0.26		-0.34		0.35		-0.71		-0.26		0.00		0.00

				10

				11

				12

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				9ラボの場合、1%＝2.13、5%＝1.78

				Cochran's test （バラツキの評価）																				Ｃ表（sij）異常値を除いて、大きい順に並べ替える。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		sij2				サンプルB						サンプルC						サンプルD						サンプルE						サンプルF						サンプルG						サンプルH								サンプルA						サンプルB						サンプルC						サンプルD						サンプルE						サンプルF

				Ｃ		0.5204		0.3036		0.2988		0.3560		0.3587		0.2519		0.0000		0.0000				2		0.3		0.0676		5		0.6		0.3136		8		0.7		0.4356		8		1.0		0.9604		4		0.8		0.6084		6		0.4		0.1936						0						0				2		0.26				5		0.56				8		0.66				8		0.98				8		1.84				6		0.44

				表からcritical valueを求める。																				9		0.2		0.04		8		0.5		0.25		1		0.6		0.3136		9		0.9		0.8836		9		0.7		0.5184		1		0.4		0.1764						0						0				9		0.2				8		0.5				1		0.56				9		0.94				4		0.78				1		0.42

				ラボ数		9		9		9		8		8		8		0		0				7		0.1		0.01		9		0.5		0.2209		6		0.5		0.2809		7		0.5		0.2916		6		0.6		0.3136		5		0.4		0.1521						0						0				7		0.1				9		0.47				6		0.53				7		0.54				9		0.72				5		0.39

				1%		0.754		0.754		0.754		0.754		0.754		0.754		0.754		0.754				5		0.1		0.01		1		0.4		0.1225		3		0.4		0.1296		4		0.5		0.25		1		0.3		0.0676		9		0.3		0.0841						0						0				5		0.1				1		0.35				3		0.36				4		0.5				6		0.56				9		0.29

				5%		0.638		0.638		0.638		0.638		0.638		0.638		0.638		0.638				8		0.0		0.0016		6		0.3		0.0676		4		0.3		0.1024		1		0.4		0.1521		2		0.3		0.0625		2		0.3		0.0841						0						0				8		0.04				6		0.26				4		0.32				1		0.39				1		0.26				2		0.29

																								1		0.0		0.0004		3		0.2		0.0484		2		0.3		0.0961		5		0.4		0.1444		5		0.3		0.0625		7		0.2		0.0324						0						0				1		0.02				3		0.22				2		0.31				5		0.38				2		0.25				7		0.18

				9ラボの場合、1%＝0.754、5%＝0.638																				6		0.0		0.0001		7		0.1		0.0049		5		0.3		0.0784		2		0.1		0.0144		7		0.3		0.0625		4		0.2		0.0289						0						0				6		0.01				7		0.07				5		0.28				2		0.12				5		0.25				4		0.17

																								4		0.0		0.0001		2		0.0		0.0025		7		0.1		0.0196		6		0.0		0.0009		3		0.0		0.0004		8		0.1		0.0169						0						0				4		0.01				2		0.05				7		0.14				3		0.05				7		0.25				3		0.14

																								3		0.0		0.0001		4		0.0		0.0025		9		0.0		0.0016						0						0						0						0						0				3		0.01				4		0.05				9		0.04				6		0.03				3		0.02				8		0.13

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0												0						0						0						0						0

																										Σ		0.1299				Σ		1.0329				Σ		1.4578				Σ		2.6974				Σ		1.6959				Σ		0.7685				Σ		0				Σ		0

				Grubb's test （平均値の評価）：上端の値、下端の値、大きい２つの値、小さい２つの値を検定する。

				異常値を除いて昇順に並べる。																				異常値を除いて降順に並べる。																								s02の計算		(yi-y)2																		sp-1,p2の計算				(yi-yp-1,p)2																s1,22の計算				(yi-y1,2)2																		1.175		5.16		5.04		11.125		10.32		9.14

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						1.21		5.505		5.44		14.415		11.04		10.7

				1		1.18		5.16		5.04		14.42		10.32		10.70								1		1.83		8.51		7.57		17.72		16.85		11.92												1		0.1		2.4		1.2		2.5		7.7		0.2		0.0		0.0				1																				1																						1.275		6.195		5.465		15.03		11.47		10.725

				2		1.21		5.51		5.44		15.03		11.04		10.73								2		1.66		8.25		7.12		16.91		14.73		11.66												2		0.1		1.4		0.5		0.9		4.2		0.2		0.0		0.0				2																				2																						1.45		6.41		5.635		15.255		11.73		10.865

				3		1.28		6.20		5.47		15.26		11.47		10.87								3		1.65		7.25		7.01		16.35		14.70		11.57												3		0.0		0.3		0.5		0.6		2.6		0.1		0.0		0.0				3		0.1		1.0		1.5		0.6		6.2		0.4		0.0		0.0				3		0.1		0.8		0.9		1.4		5.9		0.2		0.0		0.0						1.5		6.47		5.84		16.13		12.265		10.895

				4		1.45		6.41		5.64		16.13		11.73		10.90								4		1.57		6.58		6.17		16.20		13.95		10.98												4		0.0		0.1		0.3		0.0		1.9		0.1		0.0		0.0				4		0.0		0.1		0.1		0.4		3.0		0.0		0.0		0.0				4		0.0		0.5		0.6		0.1		4.7		0.2		0.0		0.0						1.57		6.58		6.165		16.2		13.945		10.98

				5		1.50		6.47		5.84		16.20		13.95		10.98								5		1.50		6.47		5.84		16.13		11.73		10.90												5		0.0		0.1		0.1		0.0		0.7		0.0		0.0		0.0				5		0.0		0.1		0.0		0.3		0.2		0.0		0.0		0.0				5		0.0		0.4		0.3		0.1		0.0		0.1		0.0		0.0						1.645		7.245		7.01		16.35		14.7		11.57

				6		1.57		6.58		6.17		16.35		14.70		11.57								6		1.45		6.41		5.64		15.26		11.47		10.87												6		0.0		0.0		0.0		0.1		2.6		0.2		0.0		0.0				6		0.0		0.0		0.0		0.1		0.5		0.0		0.0		0.0				6		0.0		0.3		0.1		0.0		0.6		0.1		0.0		0.0						1.66		8.25		7.12		16.905		14.73		11.66

				7		1.65		7.25		7.01		16.91		14.73		11.66								7		1.28		6.20		5.47		15.03		11.04		10.73												7		0.0		0.3		0.8		0.8		2.7		0.2		0.0		0.0				7		0.0		0.0		0.1		0.3		1.3		0.1		0.0		0.0				7		0.0		0.0		0.4		0.2		0.7		0.1		0.0		0.0						1.83		8.505		7.57		17.72		16.845		11.915

				8		1.66		8.25		7.12		17.72		16.85		11.92								8		1.21		5.51		5.44		14.42		10.32		10.70												8																				8																				8

				9		1.83		8.51		7.57														9		1.18		5.16		5.04																		9																				9																				9																						1.83		8.505		7.57		17.72		16.845		11.915

				10																				10																								10																				10																				10																						1.66		8.25		7.12		16.905		14.73		11.66

				11																				11																								11																				11																				11																						1.645		7.245		7.01		16.35		14.7		11.57

				12																				12																								12																				12																				12																						1.57		6.58		6.165		16.2		13.945		10.98

				13																				13																								13																				13																				13																						1.5		6.47		5.84		16.13		12.265		10.895

				14																				14																								14																				14																				14																						1.45		6.41		5.635		15.255		11.73		10.865

				15																				15																								15																				15																				15																						1.275		6.195		5.465		15.03		11.47		10.725

				16																				16																								16																				16																				16																						1.21		5.505		5.44		14.415		11.04		10.7

				Σ		13.32		60.32		55.29		128.01		104.78		89.31		0.00		0.00																												s02＝Σ		0.2		4.5		3.3		5.0		22.4		1.0		0.0		0.0				sp-1,p2＝Σ		0.1		1.3		1.7		1.7		11.4		0.4		0.0		0.0				s1,22＝Σ		0.1		2.0		2.2		1.7		12.0		0.7		0.0		0.0						1.175		5.16		5.04		11.125		10.32		9.14

				平均値		1.48		6.70		6.14		16.00		13.10		11.16		0.00		0.00

				標準偏差		0.22		1.13		0.88		1.07		2.28		0.47		0.00		0.00

				yp-1,p																				yp-1,p		1.40		6.22		5.80		15.56		12.20		10.96		0.00		0.00		大きいデータ2つを除いた平均値

				y1,2		1.56		7.09		6.40		16.43		13.90		11.31		0.00		0.00																						小さいデータ2つを除いた平均値

				One outlieing obserbation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		1.569		1.599		1.613		1.612		1.642		1.582		0.000		0.000				Gp=(yp-y)/s

				smallest		1.362		1.368		1.246		1.486		1.217		0.977		0.000		0.000				G1=(y-y1)/s

				表からcritical valueを求める。

				Critical value（これより小さければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		9		9		9		8		8		8		0		0

				1%		2.387		2.387		2.387		2.387		2.387		2.387		2.387		2.387

				5%		2.215		2.215		2.215		2.215		2.215		2.215		2.215		2.215

				異常値は無い。

				Two outlying observation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		0.467		0.280		0.532		0.344		0.508		0.437		0.000		0.000				G=sp-1,p2/s02

				smallest		0.432		0.432		0.673		0.349		0.534		0.665		0.000		0.000				G=s1,22/s02

				表からcritical valueを求める。

				Critical value（これより大きければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		9		9		9		8		8		8		0		0

				1%		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308		0.0308

				5%		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708		0.0708

				異常値は無い。

				統計量の計算

				異常値を除いて上にある表の値をコピーする。																																								異常値を除いて上にある表の値をコピーする。

				yi　（T1の計算）				yi																yi2　（T2の計算）				yi2																sij2　（T3の計算）				(yi1-yi2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.18		5.16		5.04		14.42		10.32		10.70								1		1.4		26.6		25.4		207.8		106.5		114.5		0.0		0.0				1		0.0004		0.1225		0.3136		0.1521		0.0676		0.1764

				2		1.21		5.51		5.44		15.03		11.04		10.73								2		1.5		30.3		29.6		225.9		121.9		115.0		0.0		0.0				2		0.0676		0.0025		0.0961		0.0144		0.0625		0.0841

				3		1.28		6.20		5.47		15.26		11.47		10.87								3		1.6		38.4		29.9		232.7		131.6		118.0		0.0		0.0				3		0.0001		0.0484		0.1296		0.0025		0.0004		0.0196

				4		1.45		6.41		5.64		16.13		11.73		10.90								4		2.1		41.1		31.8		260.2		137.6		118.7		0.0		0.0				4		0.0001		0.0025		0.1024		0.1444		0.6084		0.1521

				5		1.50		6.47		5.84		16.20		13.95		10.98								5		2.3		41.9		34.1		262.4		194.5		120.6		0.0		0.0				5		0.0100		0.3136		0.0784		0.0009		0.0625		0.1936

				6		1.57		6.58		6.17		16.35		14.70		11.57								6		2.5		43.3		38.0		267.3		216.1		133.9		0.0		0.0				6		0.0001		0.0676		0.2809		0.2916		0.3136		0.0324

				7		1.65		7.25		7.01		16.91		14.73		11.66								7		2.7		52.5		49.1		285.8		217.0		136.0		0.0		0.0				7		0.0100		0.0049		0.0196		0.9604		0.0625		0.0169

				8		1.66		8.25		7.12		17.72		16.85		11.92								8		2.8		68.1		50.7		314.0		283.8		142.0		0.0		0.0				8		0.0016		0.2500		0.4356		0.8836		0.5184		0.0841

				9		1.83		8.51		7.57														9		3.3		72.3		57.3		0.0		0.0		0.0		0.0		0.0				9		0.0400		0.2209		0.0016

				10																				10		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				10

				11																				11		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				11

				12																				12		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				12

				13																				13		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				13

				14																				14		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				14

				15																				15		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				15

				16																				16		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				16

				T1=Σ		13.3150		60.3200		55.2850		128.0050		104.7800		89.3		0.0		0.0				T2=Σ		20.1		414.4		345.9		2056.1		1408.8		998.6		0.0		0.0				T3=Σ		0.1		1.0		1.5		2.4		1.7		0.8		0.0		0.0

				統計量が計算される。																						回収率計算

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH		判定（室間精度25％以下でOK）						調製時グリアジン濃度
（μg／mL）		比率								回収率（％）				判定（50～150％でOK）

				p		9		9		9		8		8		8		0		0		－				ヱビスビール		1.21		0.975						サンプルF		実測値比		計算値比

				T1		13.32		60.32		55.29		128.01		104.78		89.3		0.0		0.0						小麦含有ビール		458.33		0.025				1		11.66		100.6		92.3		○

				T2		20.10		414.44		345.87		2056.12		1408.82		998.61		0.0		0.0						調製ビール（実測値）		11.59		―				2		10.87		93.7		86.0		○

				T3		0.13		1.03		1.46		2.45		1.70		0.8		0.0		0.0						調製ビール（計算値）		12.64		―				3		9.14		78.9		72.3		○

				sr2		0.01		0.06		0.08		0.15		0.11		0.05		0.000		0.000														4		11.92		102.8		94.3		○

				sL2		0.05		1.24		0.74		1.06		5.16		0.20		0.000		0.000														5		10.90		94.0		86.2		○

				sR2		0.05		1.30		0.82		1.21		5.26		0.25		0.0		0.0														6		11.57		99.8		91.5		○

				m		1.48		6.70		6.14		16.00		13.10		11.2		0.0		0.0														7		10.98		94.7		86.9		○

				sr		0.08		0.24		0.28		0.39		0.33		0.2		0.00		0.00														8		10.70		92.3		84.7		○

				sR		0.23		1.14		0.91		1.10		2.29		0.5		0.00		0.00														9		10.73		92.5		84.9		○

				r95		0.24		0.67		0.80		1.10		0.91		0.6		0.00		0.00

				R95		0.65		3.19		2.54		3.09		6.42		1.4		0.00		0.00

				cvR		15.64		17.01		14.77		6.89		17.51		4.5		0.0		0.0		○

				cvPRED		15.08		12.01		12.17		10.54		10.86		11.1		0.0		0.0

				HorRat		1.04		1.42		1.21		0.65		1.61		0.4		0.0		0.0

		×１０		ｍ		14.79		67.02		61.43		160.01		130.98		111.6		0.0		0.0

				cvPRED		10.66		8.50		8.61		7.45		7.68		7.9		0.0		0.0

				HorRat R		1.47		2.00		1.72		0.92		2.28		0.6		0.0		0.0

				CVpred		7.11		5.66		5.74		4.97		5.12		5.2		0.0		0.0

				CVr		5.74		3.57		4.63		2.45		2.49		2.0		0.0		0.0		－

				HorRat r		0.8		0.6		0.8		0.5		0.5		0.4		0.0		0.0

				sr2=T3/2p

				sL2=(pT2-T12)/p(p-1)-sr2/2

				sR2=sL2+sr2

				m=T1/p

				cvPRED=2c-0.1505
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グリアジン12

				データを入力する。

				Ａ表（生データ:yijk）																				Ｂ表（平均値：yij）																				yij-yj				平均との差																(yij-yj)2		平均との差の２乗

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

		アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45								1		1.83		8.51		7.57		16.91		14.73		11.66		0.00		0.00				1		0.38		1.88		1.29		1.77		1.91		0.68		0.00		0.00				1		0.15		3.55		1.65		3.14		3.63		0.46		0.00		0.00

						1.82		8.68		7.29		17.10		14.60		11.87								2		1.21		5.51		5.47		15.03		13.95		10.87		0.00		0.00				2		-0.24		-1.12		-0.82		-0.10		1.12		-0.12		0.00		0.00				2		0.06		1.25		0.67		0.01		1.26		0.01		0.00		0.00

		キリン1		2		1.34		5.53		5.62		14.97		14.07		10.72								3		1.18		5.16		5.04		11.13		10.32		9.14		0.00		0.00				3		-0.27		-1.46		-1.24		-4.01		-2.50		-1.84		0.00		0.00				3		0.07		2.14		1.55		16.07		6.27		3.40		0.00		0.00

						1.08		5.48		5.31		15.09		13.82		11.01								4		1.65		7.25		7.12		17.72		14.70		11.92		0.00		0.00				4		0.20		0.62		0.84		2.59		1.88		0.93		0.00		0.00				4		0.04		0.39		0.70		6.69		3.52		0.87		0.00		0.00

		キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07								5		1.66		8.25		7.01		16.20		16.85		10.90		0.00		0.00				5		0.21		1.63		0.73		1.07		4.02		-0.09		0.00		0.00				5		0.05		2.65		0.53		1.14		16.17		0.01		0.00		0.00

						1.17		5.27		4.86		11.10		10.31		9.21								6		1.28		6.58		6.17		14.42		11.04		11.57		0.00		0.00				6		-0.17		-0.04		-0.12		-0.72		-1.78		0.59		0.00		0.00				6		0.03		0.00		0.01		0.52		3.18		0.34		0.00		0.00

		宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83								7		1.57		6.20		5.44		16.35		12.27		10.70		0.00		0.00				7		0.12		-0.43		-0.84		1.22		-0.56		-0.28		0.00		0.00				7		0.02		0.18		0.71		1.48		0.31		0.08		0.00		0.00

						1.65		7.27		7.28		17.97		15.09		12.00								8		1.58		6.43		6.15		15.17		10.91		10.52		0.00		0.00				8		0.13		-0.20		-0.13		0.04		-1.91		-0.47		0.00		0.00				8		0.02		0.04		0.02		0.00		3.66		0.22		0.00		0.00

		森永		5		1.71		7.97		7.15		16.39		16.72		10.70								9		1.09		5.02		5.48		12.83		10.61		10.79		0.00		0.00				9		-0.36		-1.61		-0.80		-2.30		-2.21		-0.20		0.00		0.00				9		0.13		2.58		0.65		5.31		4.90		0.04		0.00		0.00

						1.61		8.53		6.87		16.01		16.97		11.09								10		1.06		5.49		5.10		14.06		10.59		10.28		0.00		0.00				10		-0.39		-1.13		-1.18		-1.07		-2.24		-0.70		0.00		0.00				10		0.15		1.28		1.40		1.15		5.01		0.49		0.00		0.00

		オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79								11		1.20		7.65		6.44		16.20		14.39		11.46		0.00		0.00				11		-0.25		1.03		0.15		1.06		1.57		0.48		0.00		0.00				11		0.06		1.06		0.02		1.13		2.45		0.23		0.00		0.00

						1.28		6.71		5.90		14.43		11.32		11.35								12		2.08		7.44		8.44		15.61		13.55		12.01		0.00		0.00				12		0.63		0.81		2.16		0.48		0.72		1.03		0.00		0.00				12		0.40		0.66		4.65		0.23		0.52		1.05		0.00		0.00

		サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61								13																				13																				13

						1.52		6.16		5.51		16.62		12.39		10.79								14																				14																				14

		和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66								15																				15																				15

						1.68		6.19		6.13		14.70		11.27		10.37								16																				16																				16

		ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56								17																				17																				17

						1.06		5.25		5.32		12.74		10.64		11.01								平均値		1.45		6.62		6.28		15.13		12.82		10.98		0.00		0.00																								Σ		1.17		15.77		12.56		36.85		50.89		7.20		0.00		0.00

		酒類総研		10		1.02		5.41		5.09		14.16		10.24		10.18

						1.09		5.57		5.11		13.96		10.93		10.38								Ｃ表（差:sij:|yij1-yij2|）																				sij2		(yij1-yij2)2		差の２乗

		サントリー1		11		1.27		7.71		6.25		15.92		14.66		11.29										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

						1.13		7.59		6.62		16.47		14.12		11.63								1		0.0		0.4		0.6		0.4		0.3		0.4		0.0		0.0				1		0.00		0.12		0.31		0.15		0.07		0.18		0.00		0.00

		サントリー2		12		1.87		7.24		8.24		15.54		13.56		12.20								2		0.3		0.0		0.3		0.1		0.3		0.3		0.0		0.0				2		0.07		0.00		0.10		0.01		0.06		0.08		0.00		0.00

						2.29		7.63		8.64		15.68		13.53		11.82								3		0.0		0.2		0.4		0.1		0.0		0.1		0.0		0.0				3		0.00		0.05		0.13		0.00		0.00		0.02		0.00		0.00

																								4		0.0		0.0		0.3		0.5		0.8		0.2		0.0		0.0				4		0.00		0.00		0.10		0.25		0.61		0.03		0.00		0.00

																								5		0.1		0.6		0.3		0.4		0.3		0.4		0.0		0.0				5		0.01		0.31		0.08		0.14		0.06		0.15		0.00		0.00

																								6		0.0		0.3		0.5		0.0		0.6		0.4		0.0		0.0				6		0.00		0.07		0.28		0.00		0.31		0.19		0.00		0.00

																								7		0.1		0.1		0.1		0.5		0.3		0.2		0.0		0.0				7		0.01		0.00		0.02		0.29		0.06		0.03		0.00		0.00

																								8		0.2		0.5		0.0		0.9		0.7		0.3		0.0		0.0				8		0.04		0.22		0.00		0.88		0.52		0.08		0.00		0.00

																								9		0.1		0.5		0.3		0.2		0.1		0.4		0.0		0.0				9		0.00		0.22		0.10		0.03		0.00		0.20		0.00		0.00

																								10		0.1		0.2		0.0		0.2		0.7		0.2		0.0		0.0				10		0.00		0.03		0.00		0.04		0.48		0.04		0.00		0.00

																								11		0.1		0.1		0.4		0.5		0.5		0.3		0.0		0.0				11		0.02		0.01		0.14		0.30		0.29		0.12		0.00		0.00

																								12		0.4		0.4		0.4		0.1		0.0		0.4		0.0		0.0				12		0.18		0.15		0.16		0.02		0.00		0.14		0.00		0.00

																								13																				13

																								14																				14

				ラボ数ｐ＝		12																		15																				15

																								16																				16

																								17																				17

																																												Σ		0.33		1.20		1.42		2.13		2.47		1.27		0.00		0.00

				Mandel's k　（バラツキの評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.12		1.11		1.63		0.92		0.57		1.29		0.00		0.00

				2		1.56		0.16		0.90		0.28		0.55		0.89		0.00		0.00

				3		0.06		0.70		1.05		0.12		0.04		0.43		0.00		0.00

				4		0.06		0.16		0.93		1.19		1.72		0.52		0.00		0.00

				5		0.60		1.77		0.81		0.90		0.55		1.20		0.00		0.00

				6		0.06		0.82		1.54		0.07		1.23		1.35		0.00		0.00

				7		0.60		0.22		0.41		1.28		0.55		0.55		0.00		0.00

				8		1.20		1.49		0.12		2.23		1.59		0.89		0.00		0.00

				9		0.30		1.49		0.93		0.43		0.13		1.38		0.00		0.00

				10		0.42		0.51		0.06		0.47		1.52		0.61		0.00		0.00

				11		0.84		0.38		1.07		1.30		1.19		1.04		0.00		0.00

				12		2.53		1.24		1.16		0.33		0.07		1.17		0.00		0.00

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				12ラボの場合、1%＝2.36、5%＝1.92

				Mandel's h　（平均値の評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.17		1.57		1.20		0.97		0.89		0.84		0.00		0.00

				2		-0.73		-0.93		-0.77		-0.06		0.52		-0.15		0.00		0.00

				3		-0.83		-1.22		-1.16		-2.19		-1.16		-2.28		0.00		0.00

				4		0.61		0.52		0.78		1.41		0.87		1.15		0.00		0.00

				5		0.65		1.36		0.68		0.58		1.87		-0.11		0.00		0.00

				6		-0.53		-0.03		-0.11		-0.39		-0.83		0.73		0.00		0.00

				7		0.38		-0.36		-0.79		0.66		-0.26		-0.35		0.00		0.00

				8		0.41		-0.16		-0.13		0.02		-0.89		-0.58		0.00		0.00

				9		-1.11		-1.34		-0.75		-1.26		-1.03		-0.24		0.00		0.00

				10		-1.20		-0.94		-1.11		-0.59		-1.04		-0.87		0.00		0.00

				11		-0.76		0.86		0.14		0.58		0.73		0.59		0.00		0.00

				12		1.94		0.68		2.02		0.26		0.34		1.27		0.00		0.00

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				12ラボの場合、1%＝2.25、5%＝1.83

				Cochran's test （バラツキの評価）																				Ｃ表（sij）異常値を除いて、大きい順に並べ替える。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		sij2				サンプルB						サンプルC						サンプルD						サンプルE						サンプルF						サンプルG						サンプルH								サンプルA						サンプルB						サンプルC						サンプルD						サンプルE						サンプルF

				Ｃ		0.5318		0.2622		0.2205		0.4141		0.2465		0.1590		0.0000		0.0000				12		0.4		0.1764		5		0.6		0.3136		1		0.6		0.3136		8		0.9		0.8836		4		0.8		0.6084		9		0.4		0.2025						0						0				12		0.42				5		0.56				1		0.56				8		0.94				4		0.78				9		0.45

				表からcritical valueを求める。																				2		0.3		0.0676		8		0.5		0.2209		6		0.5		0.2809		11		0.5		0.3025		8		0.7		0.5184		6		0.4		0.1936						0						0				2		0.26				8		0.47				6		0.53				11		0.55				8		0.72				6		0.44

				ラボ数		12		12		12		12		12		12		0		0				8		0.2		0.04		9		0.5		0.2209		12		0.4		0.16		7		0.5		0.2916		10		0.7		0.4761		1		0.4		0.1764						0						0				8		0.2				9		0.47				12		0.4				7		0.54				10		0.69				1		0.42

				1%		0.653		0.653		0.653		0.653		0.653		0.653		0.653		0.653				11		0.1		0.0196		12		0.4		0.1521		11		0.4		0.1369		4		0.5		0.25		6		0.6		0.3136		5		0.4		0.1521						0						0				11		0.14				12		0.39				11		0.37				4		0.5				6		0.56				5		0.39

				5%		0.541		0.541		0.541		0.541		0.541		0.541		0.541		0.541				7		0.1		0.01		1		0.4		0.1225		3		0.4		0.1296		1		0.4		0.1521		11		0.5		0.2916		12		0.4		0.1444						0						0				7		0.1				1		0.35				3		0.36				1		0.39				11		0.54				12		0.38

																								5		0.1		0.01		6		0.3		0.0676		4		0.3		0.1024		5		0.4		0.1444		1		0.3		0.0676		11		0.3		0.1156						0						0				5		0.1				6		0.26				4		0.32				5		0.38				1		0.26				11		0.34

				12ラボの場合、1%＝0.653、5%＝0.541																				10		0.1		0.0049		3		0.2		0.0484		9		0.3		0.1024		10		0.2		0.04		2		0.3		0.0625		8		0.3		0.0841						0						0				10		0.07				3		0.22				9		0.32				10		0.2				2		0.25				8		0.29

																								9		0.1		0.0025		10		0.2		0.0256		2		0.3		0.0961		9		0.2		0.0324		5		0.3		0.0625		2		0.3		0.0841						0						0				9		0.05				10		0.16				2		0.31				9		0.18				5		0.25				2		0.29

																								1		0.0		0.0004		11		0.1		0.0144		5		0.3		0.0784		12		0.1		0.0196		7		0.3		0.0625		10		0.2		0.04						0						0				1		0.02				11		0.12				5		0.28				12		0.14				7		0.25				10		0.2

																								3		0.0		0.0001		7		0.1		0.0049		7		0.1		0.0196		2		0.1		0.0144		9		0.1		0.0036		7		0.2		0.0324						0						0				3		0.01				7		0.07				7		0.14				2		0.12				9		0.06				7		0.18

																								4		0.0		0.0001		2		0.0		0.0025		8		0.0		0.0016		3		0.1		0.0025		12		0.0		0.0009		4		0.2		0.0289						0						0				4		0.01				2		0.05				8		0.04				3		0.05				12		0.03				4		0.17

																								6		0.0		0.0001		4		0.0		0.0025		10		0.0		0.0004		6		0.0		0.0009		3		0.0		0.0004		3		0.1		0.0196						0						0				6		0.01				4		0.05				10		0.02				6		0.03				3		0.02				3		0.14

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0												0						0						0						0						0

																										Σ		0.3317				Σ		1.1959				Σ		1.4219				Σ		2.134				Σ		2.4681				Σ		1.2737				Σ		0				Σ		0

																																																																																																														1.055		5.015		5.04		11.125		10.32		9.14

																																																																																																														1.085		5.16		5.1		12.83		10.585		10.28

				Grubb's test （平均値の評価）：上端の値、下端の値、大きい２つの値、小さい２つの値を検定する。																																																																																																										1.175		5.49		5.44		14.06		10.61		10.515

				異常値を除いて昇順に並べる。																				異常値を除いて降順に並べる。																								s02の計算		(yi-y)2																		sp-1,p2の計算				(yi-yp-1,p)2																s1,22の計算				(yi-y1,2)2																		1.2		5.505		5.465		14.415		10.91		10.7

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						1.21		6.195		5.48		15.03		11.04		10.785

				1		1.06		5.02		5.04		11.13		10.32		9.14								1		2.08		8.51		8.44		17.72		16.85		12.01												1		0.2		2.6		1.5		16.1		6.3		3.4		0.0		0.0				1																				1																						1.275		6.425		6.15		15.17		12.265		10.865

				2		1.09		5.16		5.10		12.83		10.59		10.28								2		1.83		8.25		7.57		16.91		14.73		11.92												2		0.1		2.1		1.4		5.3		5.0		0.5		0.0		0.0				2																				2																						1.57		6.58		6.165		15.61		13.545		10.895

				3		1.18		5.49		5.44		14.06		10.61		10.52								3		1.66		7.65		7.12		16.35		14.70		11.66												3		0.1		1.3		0.7		1.2		4.9		0.2		0.0		0.0				3		0.1		1.9		1.4		2.7		6.1		0.8		0.0		0.0				3		0.1		2.1		1.2		2.9		7.2		0.5		0.0		0.0						1.58		7.245		6.435		16.195		13.945		11.46

				4		1.20		5.51		5.47		14.42		10.91		10.70								4		1.65		7.44		7.01		16.20		14.39		11.57												4		0.1		1.2		0.7		0.5		3.7		0.1		0.0		0.0				4		0.1		1.4		1.1		2.3		4.7		0.6		0.0		0.0				4		0.1		2.0		1.1		1.8		5.7		0.3		0.0		0.0						1.645		7.435		7.01		16.2		14.39		11.57

				5		1.21		6.20		5.48		15.03		11.04		10.79								5		1.58		7.25		6.44		16.20		13.95		11.46												5		0.1		0.2		0.6		0.0		3.2		0.0		0.0		0.0				5		0.1		1.0		0.2		2.2		2.9		0.5		0.0		0.0				5		0.1		0.5		1.1		0.5		5.1		0.2		0.0		0.0						1.66		7.65		7.12		16.35		14.7		11.66

				6		1.28		6.43		6.15		15.17		12.27		10.87								6		1.57		6.58		6.17		15.61		13.55		10.90												6		0.0		0.0		0.0		0.0		0.3		0.0		0.0		0.0				6		0.1		0.1		0.1		0.8		1.7		0.0		0.0		0.0				6		0.1		0.3		0.1		0.4		1.1		0.1		0.0		0.0						1.83		8.25		7.57		16.905		14.73		11.915

				7		1.57		6.58		6.17		15.61		13.55		10.90								7		1.28		6.43		6.15		15.17		12.27		10.87												7		0.0		0.0		0.0		0.2		0.5		0.0		0.0		0.0				7		0.0		0.0		0.0		0.2		0.0		0.0		0.0		0.0				7		0.0		0.1		0.1		0.0		0.1		0.1		0.0		0.0						2.08		8.505		8.44		17.72		16.845		12.01

				8		1.58		7.25		6.44		16.20		13.95		11.46								8		1.21		6.20		5.48		15.03		11.04		10.79												8		0.0		0.4		0.0		1.1		1.3		0.2		0.0		0.0				8		0.0		0.0		0.2		0.1		1.4		0.0		0.0		0.0				8		0.0		0.1		0.0		0.2		0.4		0.0		0.0		0.0

				9		1.65		7.44		7.01		16.20		14.39		11.57								9		1.20		5.51		5.47		14.42		10.91		10.70												9		0.0		0.7		0.5		1.1		2.5		0.3		0.0		0.0				9		0.0		0.6		0.2		0.1		1.7		0.0		0.0		0.0				9		0.0		0.3		0.2		0.2		1.2		0.1		0.0		0.0						2.08		8.505		8.44		17.72		16.845		12.01

				10		1.66		7.65		7.12		16.35		14.70		11.66								10		1.18		5.49		5.44		14.06		10.61		10.52												10		0.0		1.1		0.7		1.5		3.5		0.5		0.0		0.0				10		0.0		0.6		0.3		0.4		2.6		0.1		0.0		0.0				10		0.0		0.5		0.4		0.3		2.0		0.2		0.0		0.0						1.83		8.25		7.57		16.905		14.73		11.915

				11		1.83		8.25		7.57		16.91		14.73		11.92								11		1.09		5.16		5.10		12.83		10.59		10.28												11		0.1		2.7		1.7		3.1		3.6		0.9		0.0		0.0				11		0.1		1.2		0.7		3.5		2.7		0.3		0.0		0.0				11		0.1		1.7		1.1		1.3		2.1		0.5		0.0		0.0						1.66		7.65		7.12		16.35		14.7		11.66

				12		2.08		8.51		8.44		17.72		16.85		12.01								12		1.06		5.02		5.04		11.13		10.32		9.14												12		0.4		3.5		4.6		6.7		16.2		1.1		0.0		0.0				12		0.1		1.6		0.8		12.8		3.7		2.7		0.0		0.0				12		0.3		2.5		3.7		3.8		12.6		0.6		0.0		0.0						1.645		7.435		7.01		16.2		14.39		11.57

				13																				13																								13																				13																				13																						1.58		7.245		6.435		16.195		13.945		11.46

				14																				14																								14																				14																				14																						1.57		6.58		6.165		15.61		13.545		10.895

				15																				15																								15																				15																				15																						1.275		6.425		6.15		15.17		12.265		10.865

				16																				16																								16																				16																				16																						1.21		6.195		5.48		15.03		11.04		10.785

				Σ		17.37		79.46		75.42		181.61		153.89		131.80		0.00		0.00																												s02＝Σ		1.2		15.8		12.6		36.9		50.9		7.2		0.0		0.0				sp-1,p2＝Σ		0.5		8.3		5.1		25.1		27.6		4.9		0.0		0.0				s1,22＝Σ		0.8		10.1		9.0		11.5		37.4		2.7		0.0		0.0						1.2		5.505		5.465		14.415		10.91		10.7

				平均値		1.45		6.62		6.28		15.13		12.82		10.98		0.00		0.00																																																																																										1.175		5.49		5.44		14.06		10.61		10.515

				標準偏差		0.33		1.20		1.07		1.83		2.15		0.81		0.00		0.00																																																																																										1.085		5.16		5.1		12.83		10.585		10.28

				yp-1,p																				yp-1,p		1.35		6.27		5.94		14.70		12.23		10.79		0.00		0.00		大きいデータ2つを除いた平均値																																																																				1.055		5.015		5.04		11.125		10.32		9.14

				y1,2		1.52		6.93		6.53		15.77		13.30		11.24		0.00		0.00																						小さいデータ2つを除いた平均値

				One outlieing obserbation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		1.940		1.573		2.017		1.413		1.870		1.269		0.000		0.000				Gp=(yp-y)/s

				smallest		1.202		1.341		1.165		2.190		1.164		2.277		0.000		0.000				G1=(y-y1)/s

				表からcritical valueを求める。

				Critical value（これより小さければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		12		12		12		12		12		12		0		0

				1%		2.636		2.636		2.636		2.636		2.636		2.636		2.636		2.636

				5%		2.412		2.412		2.412		2.412		2.412		2.412		2.412		2.412

				異常値は無い。

				Two outlying observation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		0.444		0.529		0.404		0.682		0.542		0.680		0.000		0.000				G=sp-1,p2/s02

				smallest		0.708		0.641		0.718		0.312		0.734		0.370		0.000		0.000				G=s1,22/s02

				表からcritical valueを求める。

				Critical value（これより大きければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		12		12		12		12		12		12		0		0

				1%		0.1738		0.1738		0.1738		0.1738		0.1738		0.1738		0.1738		0.1738

				5%		0.2537		0.2537		0.2537		0.2537		0.2537		0.2537		0.2537		0.2537

				異常値は無い。

				統計量の計算

				異常値を除いて上にある表の値をコピーする。																																								異常値を除いて上にある表の値をコピーする。

				yi　（T1の計算）				yi																yi2　（T2の計算）				yi2																sij2　（T3の計算）				(yi1-yi2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.06		5.02		5.04		11.13		10.32		9.14								1		1.1		25.2		25.4		123.8		106.5		83.5		0.0		0.0				1		0.0004		0.1225		0.3136		0.1521		0.0676		0.1764		0.0000		0.0000

				2		1.09		5.16		5.10		12.83		10.59		10.28								2		1.2		26.6		26.0		164.6		112.0		105.7		0.0		0.0				2		0.0676		0.0025		0.0961		0.0144		0.0625		0.0841		0.0000		0.0000

				3		1.18		5.49		5.44		14.06		10.61		10.52								3		1.4		30.1		29.6		197.7		112.6		110.6		0.0		0.0				3		0.0001		0.0484		0.1296		0.0025		0.0004		0.0196		0.0000		0.0000

				4		1.20		5.51		5.47		14.42		10.91		10.70								4		1.4		30.3		29.9		207.8		119.0		114.5		0.0		0.0				4		0.0001		0.0025		0.1024		0.2500		0.6084		0.0289		0.0000		0.0000

				5		1.21		6.20		5.48		15.03		11.04		10.79								5		1.5		38.4		30.0		225.9		121.9		116.3		0.0		0.0				5		0.0100		0.3136		0.0784		0.1444		0.0625		0.1521		0.0000		0.0000

				6		1.28		6.43		6.15		15.17		12.27		10.87								6		1.6		41.3		37.8		230.1		150.4		118.0		0.0		0.0				6		0.0001		0.0676		0.2809		0.0009		0.3136		0.1936		0.0000		0.0000

				7		1.57		6.58		6.17		15.61		13.55		10.90								7		2.5		43.3		38.0		243.7		183.5		118.7		0.0		0.0				7		0.0100		0.0049		0.0196		0.2916		0.0625		0.0324		0.0000		0.0000

				8		1.58		7.25		6.44		16.20		13.95		11.46								8		2.5		52.5		41.4		262.3		194.5		131.3		0.0		0.0				8		0.0400		0.2209		0.0016		0.8836		0.5184		0.0841		0.00		0.00

				9		1.65		7.44		7.01		16.20		14.39		11.57								9		2.7		55.3		49.1		262.4		207.1		133.9		0.0		0.0				9		0.0025		0.2209		0.1024		0.0324		0.0036		0.2025		0.00		0.00

				10		1.66		7.65		7.12		16.35		14.70		11.66								10		2.8		58.5		50.7		267.3		216.1		136.0		0.0		0.0				10		0.0049		0.0256		0.0004		0.0400		0.4761		0.0400		0.0000		0.0000

				11		1.83		8.25		7.57		16.91		14.73		11.92								11		3.3		68.1		57.3		285.8		217.0		142.0		0.0		0.0				11		0.0196		0.0144		0.1369		0.3025		0.2916		0.1156		0.0000		0.0000

				12		2.08		8.51		8.44		17.72		16.85		12.01								12		4.3		72.3		71.2		314.0		283.8		144.2		0.0		0.0				12		0.1764		0.1521		0.1600		0.0196		0.0009		0.1444		0.0000		0.0000

				13																				13		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				13

				14																				14		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				14

				15																				15		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				15

				16																				16		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				16

				T1=Σ		17.3650		79.4550		75.4150		181.6100		153.8850		131.8		0.0		0.0				T2=Σ		26.3		541.9		486.5		2785.4		2024.3		1454.7		0.0		0.0				T3=Σ		0.3		1.2		1.4		2.1		2.5		1.3		0.0		0.0

				統計量が計算される。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				p		12		12		12		12		12		12		0		0

				T1		17.37		79.46		75.42		181.61		153.89		131.8		0.0		0.0

				T2		26.30		541.87		486.51		2785.37		2024.28		1454.7		0.0		0.0

				T3		0.33		1.20		1.42		2.13		2.47		1.3		0.0		0.0

				sr2		0.01		0.05		0.06		0.09		0.10		0.05		0.000		0.000

				sL2		0.10		1.41		1.11		3.31		4.58		0.63		0.000		0.000

				sR2		0.11		1.46		1.17		3.39		4.68		0.68		0.0		0.0

				m		1.45		6.62		6.28		15.13		12.82		11.0		0.0		0.0

				sr		0.12		0.22		0.24		0.30		0.32		0.2		0.00		0.00

				sR		0.34		1.21		1.08		1.84		2.16		0.8		0.00		0.00

				r95		0.33		0.63		0.68		0.83		0.90		0.6		0.00		0.00

				R95		0.94		3.38		3.03		5.16		6.06		2.3		0.00		0.00

				cvR		23.26		18.24		17.22		12.17		16.87		7.5		0.0		0.0

				cvPRED		15.13		12.04		12.13		10.63		10.90		11.2		0.0		0.0

				HorRat		1.54		1.52		1.42		1.15		1.55		0.7		0.0		0.0

		×１０		ｍ		14.47		66.21		62.85		151.34		128.24		109.8		0.0		0.0

				cvPRED		10.70		8.51		8.58		7.52		7.71		7.9		0.0		0.0

				HorRat R		2.17		2.14		2.01		1.62		2.19		1.0		0.0		0.0

				CVpred		7.13		5.67		5.72		5.01		5.14		5.3		0.0		0.0

				CVr		8.12		3.37		3.87		1.97		2.50		2.1		0.0		0.0

				HorRat r		1.1		0.6		0.7		0.4		0.5		0.4		0.0		0.0

				sr2=T3/2p

				sL2=(pT2-T12)/p(p-1)-sr2/2

				sR2=sL2+sr2

				m=T1/p

				cvPRED=2c-0.1505
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グリアジン12 (外れ値除く)

				データを入力する。

				Ａ表（生データ:yijk）																				Ｂ表（平均値：yij）																				yij-yj				平均との差																(yij-yj)2		平均との差の２乗

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

		アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45								1		1.83		8.51		7.57		16.91		14.73		11.66		0.00		0.00				1		0.42		1.96		1.29		1.77		1.91		0.68		0.00		0.00				1		0.18		3.83		1.65		3.14		3.63		0.46		0.00		0.00

						1.82		8.68		7.29		17.10		14.60		11.87								2				5.51		5.47		15.03		13.95		10.87		0.00		0.00				2				-1.04		-0.82		-0.10		1.12		-0.12		0.00		0.00				2				1.09		0.67		0.01		1.26		0.01		0.00		0.00

		キリン1		2				5.53		5.62		14.97		14.07		10.72								3		1.18		5.16		5.04		11.13		10.32		9.14		0.00		0.00				3		-0.23		-1.39		-1.24		-4.01		-2.50		-1.84		0.00		0.00				3		0.05		1.92		1.55		16.07		6.27		3.40		0.00		0.00

								5.48		5.31		15.09		13.82		11.01								4		1.65		7.25		7.12		17.72		14.70		11.92		0.00		0.00				4		0.24		0.70		0.84		2.59		1.88		0.93		0.00		0.00				4		0.06		0.49		0.70		6.69		3.52		0.87		0.00		0.00

		キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07								5		1.66		8.25		7.01		16.20		16.85		10.90		0.00		0.00				5		0.25		1.70		0.73		1.07		4.02		-0.09		0.00		0.00				5		0.06		2.90		0.53		1.14		16.17		0.01		0.00		0.00

						1.17		5.27		4.86		11.10		10.31		9.21								6		1.28		6.58		6.17		14.42		11.04		11.57		0.00		0.00				6		-0.13		0.03		-0.12		-0.72		-1.78		0.59		0.00		0.00				6		0.02		0.00		0.01		0.52		3.18		0.34		0.00		0.00

		宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83								7		1.57		6.20		5.44		16.35		12.27		10.70		0.00		0.00				7		0.16		-0.35		-0.84		1.22		-0.56		-0.28		0.00		0.00				7		0.03		0.12		0.71		1.48		0.31		0.08		0.00		0.00

						1.65		7.27		7.28		17.97		15.09		12.00								8		1.58		6.43		6.15		15.17		10.91		10.52		0.00		0.00				8		0.17		-0.12		-0.13		0.04		-1.91		-0.47		0.00		0.00				8		0.03		0.01		0.02		0.00		3.66		0.22		0.00		0.00

		森永		5		1.71		7.97		7.15		16.39		16.72		10.70								9		1.09		5.02		5.48		12.83		10.61		10.79		0.00		0.00				9		-0.32		-1.53		-0.80		-2.30		-2.21		-0.20		0.00		0.00				9		0.10		2.35		0.65		5.31		4.90		0.04		0.00		0.00

						1.61		8.53		6.87		16.01		16.97		11.09								10		1.06		5.49		5.10		14.06		10.59		10.28		0.00		0.00				10		-0.35		-1.06		-1.18		-1.07		-2.24		-0.70		0.00		0.00				10		0.12		1.12		1.40		1.15		5.01		0.49		0.00		0.00

		オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79								11		1.20		7.65		6.44		16.20		14.39		11.46		0.00		0.00				11		-0.21		1.10		0.15		1.06		1.57		0.48		0.00		0.00				11		0.04		1.22		0.02		1.13		2.45		0.23		0.00		0.00

						1.28		6.71		5.90		14.43		11.32		11.35								12						8.44		15.61		13.55		12.01		0.00		0.00				12						2.16		0.48		0.72		1.03		0.00		0.00				12						4.65		0.23		0.52		1.05		0.00		0.00

		サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61								13																				13																				13

						1.52		6.16		5.51		16.62		12.39		10.79								14																				14																				14

		和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66								15																				15																				15

						1.68		6.19		6.13		14.70		11.27		10.37								16																				16																				16

		ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56								17																				17																				17

						1.06		5.25		5.32		12.74		10.64		11.01								平均値		1.41		6.55		6.28		15.13		12.82		10.98		0.00		0.00																								Σ		0.70		15.05		12.56		36.85		50.89		7.20		0.00		0.00

		酒類総研		10		1.02		5.41		5.09		14.16		10.24		10.18

						1.09		5.57		5.11		13.96		10.93		10.38								Ｃ表（差:sij:|yij1-yij2|）																				sij2		(yij1-yij2)2		差の２乗

		サントリー1		11		1.27		7.71		6.25		15.92		14.66		11.29										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

						1.13		7.59		6.62		16.47		14.12		11.63								1		0.0		0.4		0.6		0.4		0.3		0.4		0.0		0.0				1		0.00		0.12		0.31		0.15		0.07		0.18		0.00		0.00

		サントリー2		12						8.24		15.54		13.56		12.20								2				0.0		0.3		0.1		0.3		0.3		0.0		0.0				2				0.00		0.10		0.01		0.06		0.08		0.00		0.00

										8.64		15.68		13.53		11.82								3		0.0		0.2		0.4		0.1		0.0		0.1		0.0		0.0				3		0.00		0.05		0.13		0.00		0.00		0.02		0.00		0.00

																								4		0.0		0.0		0.3		0.5		0.8		0.2		0.0		0.0				4		0.00		0.00		0.10		0.25		0.61		0.03		0.00		0.00

																								5		0.1		0.6		0.3		0.4		0.3		0.4		0.0		0.0				5		0.01		0.31		0.08		0.14		0.06		0.15		0.00		0.00

																								6		0.0		0.3		0.5		0.0		0.6		0.4		0.0		0.0				6		0.00		0.07		0.28		0.00		0.31		0.19		0.00		0.00

																								7		0.1		0.1		0.1		0.5		0.3		0.2		0.0		0.0				7		0.01		0.00		0.02		0.29		0.06		0.03		0.00		0.00

																								8		0.2		0.5		0.0		0.9		0.7		0.3		0.0		0.0				8		0.04		0.22		0.00		0.88		0.52		0.08		0.00		0.00

																								9		0.1		0.5		0.3		0.2		0.1		0.4		0.0		0.0				9		0.00		0.22		0.10		0.03		0.00		0.20		0.00		0.00

																								10		0.1		0.2		0.0		0.2		0.7		0.2		0.0		0.0				10		0.00		0.03		0.00		0.04		0.48		0.04		0.00		0.00

																								11		0.1		0.1		0.4		0.5		0.5		0.3		0.0		0.0				11		0.02		0.01		0.14		0.30		0.29		0.12		0.00		0.00

																								12						0.4		0.1		0.0		0.4		0.0		0.0				12						0.16		0.02		0.00		0.14		0.00		0.00

																								13																				13

																								14																				14

				ラボ数ｐ＝		12																		15																				15

																								16																				16

																								17																				17

																																												Σ		0.09		1.04		1.42		2.13		2.47		1.27		0.00		0.00

				Mandel's k　（バラツキの評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		0.23		1.19		1.63		0.92		0.57		1.29		0.00		0.00

				2				0.17		0.90		0.28		0.55		0.89		0.00		0.00

				3		0.12		0.75		1.05		0.12		0.04		0.43		0.00		0.00

				4		0.12		0.17		0.93		1.19		1.72		0.52		0.00		0.00

				5		1.17		1.90		0.81		0.90		0.55		1.20		0.00		0.00

				6		0.12		0.88		1.54		0.07		1.23		1.35		0.00		0.00

				7		1.17		0.24		0.41		1.28		0.55		0.55		0.00		0.00

				8		2.34		1.59		0.12		2.23		1.59		0.89		0.00		0.00

				9		0.58		1.59		0.93		0.43		0.13		1.38		0.00		0.00

				10		0.82		0.54		0.06		0.47		1.52		0.61		0.00		0.00

				11		1.64		0.41		1.07		1.30		1.19		1.04		0.00		0.00

				12						1.16		0.33		0.07		1.17		0.00		0.00

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				12ラボの場合、1%＝2.36、5%＝1.92

				Mandel's h　（平均値の評価）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.68		1.67		1.20		0.97		0.89		0.84		0.00		0.00

				2				-0.89		-0.77		-0.06		0.52		-0.15		0.00		0.00

				3		-0.92		-1.19		-1.16		-2.19		-1.16		-2.28		0.00		0.00

				4		0.94		0.60		0.78		1.41		0.87		1.15		0.00		0.00

				5		1.00		1.46		0.68		0.58		1.87		-0.11		0.00		0.00

				6		-0.53		0.03		-0.11		-0.39		-0.83		0.73		0.00		0.00

				7		0.65		-0.30		-0.79		0.66		-0.26		-0.35		0.00		0.00

				8		0.68		-0.10		-0.13		0.02		-0.89		-0.58		0.00		0.00

				9		-1.28		-1.31		-0.75		-1.26		-1.03		-0.24		0.00		0.00

				10		-1.40		-0.90		-1.11		-0.59		-1.04		-0.87		0.00		0.00

				11		-0.82		0.94		0.14		0.58		0.73		0.59		0.00		0.00

				12						2.02		0.26		0.34		1.27		0.00		0.00

				13

				14

				15

				16

				17

				表からcritical valueを求める。

				12ラボの場合、1%＝2.25、5%＝1.83

				Cochran's test （バラツキの評価）																				Ｃ表（sij）異常値を除いて、大きい順に並べ替える。

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		sij2				サンプルB						サンプルC						サンプルD						サンプルE						サンプルF						サンプルG						サンプルH								サンプルA						サンプルB						サンプルC						サンプルD						サンプルE						サンプルF

				Ｃ		0.4561		0.3004		0.2205		0.4141		0.2465		0.1590		0.0000		0.0000				8		0.2		0.04		5		0.6		0.3136		1		0.6		0.3136		8		0.9		0.8836		4		0.8		0.6084		9		0.4		0.2025						0						0				12		0.42				5		0.56				1		0.56				8		0.94				4		0.78				9		0.45

				表からcritical valueを求める。																				11		0.1		0.0196		8		0.5		0.2209		6		0.5		0.2809		11		0.5		0.3025		8		0.7		0.5184		6		0.4		0.1936						0						0				2		0.26				8		0.47				6		0.53				11		0.55				8		0.72				6		0.44

				ラボ数		10		11		12		12		12		12		0		0				7		0.1		0.01		9		0.5		0.2209		12		0.4		0.16		7		0.5		0.2916		10		0.7		0.4761		1		0.4		0.1764						0						0				8		0.2				9		0.47				12		0.4				7		0.54				10		1				1		0.42

				1%		0.718		0.684		0.653		0.653		0.653		0.653		0.653		0.653				5		0.1		0.01		1		0.4		0.1225		11		0.4		0.1369		4		0.5		0.25		6		0.6		0.3136		5		0.4		0.1521						0						0				11		0.14				12		0.39				11		0.37				4		0.5				6		0.56				5		0.39

				5%		0.602		0.570		0.541		0.541		0.541		0.541		0.541		0.541				10		0.1		0.0049		6		0.3		0.0676		3		0.4		0.1296		1		0.4		0.1521		11		0.5		0.2916		12		0.4		0.1444						0						0				7		0.1				1		0.35				3		0.36				1		0.39				11		1				12		0.38

																								9		0.1		0.0025		3		0.2		0.0484		4		0.3		0.1024		5		0.4		0.1444		1		0.3		0.0676		11		0.3		0.1156						0						0				5		0.1				6		0.26				4		0.32				5		0.38				1		0.26				11		0.34

				12ラボの場合、1%＝0.653、5%＝0.541																				1		0.0		0.0004		10		0.2		0.0256		9		0.3		0.1024		10		0.2		0.04		2		0.3		0.0625		8		0.3		0.0841						0						0				10		0.07				3		0.22				9		0.32				10		0.20				2		0.25				8		0.29

																								3		0.0		0.0001		11		0.1		0.0144		2		0.3		0.0961		9		0.2		0.0324		5		0.3		0.0625		2		0.3		0.0841						0						0				9		0.05				10		0.16				2		0.31				9		0.18				5		0.25				2		0.29

																								4		0.0		0.0001		7		0.1		0.0049		5		0.3		0.0784		12		0.1		0.0196		7		0.3		0.0625		10		0.2		0.04						0						0				1		0.02				11		0.12				5		0.28				12		0.14				7		0.25				10		0.20

																								6		0.0		0.0001		2		0.0		0.0025		7		0.1		0.0196		2		0.1		0.0144		9		0.1		0.0036		7		0.2		0.0324						0						0				3		0.01				7		0.07				7		0.14				2		0.12				9		0.06				7		0.18

																												0		4		0.0		0.0025		8		0.0		0.0016		3		0.1		0.0025		12		0.0		0.0009		4		0.2		0.0289						0						0				4		0.01				2		0.05				8		0.04				3		0.05				12		0.03				4		0.17

																												0						0		10		0.0		0.0004		6		0.0		0.0009		3		0.0		0.0004		3		0.1		0.0196						0						0				6		0.01				4		0.05				10		0.02				6		0.03				3		0.02				3		0.14

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0						0						0						0						0						0						0

																												0						0												0						0						0						0						0

																										Σ		0.0877				Σ		1.0438				Σ		1.4219				Σ		2.134				Σ		2.4681				Σ		1.2737				Σ		0				Σ		0

																																																																																																														1.055		5.015		5.04		11.125		10.32		9.14

																																																																																																														1.085		5.16		5.1		12.83		10.585		10.28

				Grubb's test （平均値の評価）：上端の値、下端の値、大きい２つの値、小さい２つの値を検定する。																																																																																																										1.175		5.49		5.44		14.06		10.61		10.515

				異常値を除いて昇順に並べる。																				異常値を除いて降順に並べる。																								s02の計算		(yi-y)2																		sp-1,p2の計算				(yi-yp-1,p)2																s1,22の計算				(yi-y1,2)2																		1.2		5.505		5.465		14.415		10.91		10.7

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH										サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						1.275		6.195		5.48		15.03		11.04		10.785

				1		1.06		5.02		5.04		11.13		10.32		9.14								1		1.83		8.51		8.44		17.72		16.85		12.01												1		0.1		2.3		1.5		16.1		6.3		3.4		0.0		0.0				1																				1																						1.57		6.425		6.15		15.17		12.265		10.865

				2		1.09		5.16		5.10		12.83		10.59		10.28								2		1.66		8.25		7.57		16.91		14.73		11.92												2		0.1		1.9		1.4		5.3		5.0		0.5		0.0		0.0				2																				2																						1.58		6.58		6.165		15.61		13.545		10.895

				3		1.18		5.49		5.44		14.06		10.61		10.52								3		1.65		7.65		7.12		16.35		14.70		11.66												3		0.1		1.1		0.7		1.2		4.9		0.2		0.0		0.0				3		0.1		2.3		1.4		2.7		6.1		0.8		0.0		0.0				3		0.1		1.9		1.2		2.9		7.2		0.5		0.0		0.0						1.645		7.245		6.435		16.195		13.945		11.46

				4		1.20		5.51		5.47		14.42		10.91		10.70								4		1.58		7.25		7.01		16.20		14.39		11.57												4		0.0		1.1		0.7		0.5		3.7		0.1		0.0		0.0				4		0.1		1.2		1.1		2.3		4.7		0.6		0.0		0.0				4		0.1		1.9		1.1		1.8		5.7		0.3		0.0		0.0						1.66		7.65		7.01		16.2		14.39		11.57

				5		1.28		6.20		5.48		15.03		11.04		10.79								5		1.57		6.58		6.44		16.20		13.95		11.46												5		0.0		0.1		0.6		0.0		3.2		0.0		0.0		0.0				5		0.1		0.2		0.2		2.2		2.9		0.5		0.0		0.0				5		0.0		0.5		1.1		0.5		5.1		0.2		0.0		0.0						1.83		8.25		7.12		16.35		14.7		11.66

				6		1.57		6.43		6.15		15.17		12.27		10.87								6		1.28		6.43		6.17		15.61		13.55		10.90												6		0.0		0.0		0.0		0.0		0.3		0.0		0.0		0.0				6		0.0		0.1		0.1		0.8		1.7		0.0		0.0		0.0				6		0.0		0.2		0.1		0.4		1.1		0.1		0.0		0.0								8.505		7.57		16.905		14.73		11.915

				7		1.58		6.58		6.17		15.61		13.55		10.90								7		1.20		6.20		6.15		15.17		12.27		10.87												7		0.0		0.0		0.0		0.2		0.5		0.0		0.0		0.0				7		0.0		0.0		0.0		0.2		0.0		0.0		0.0		0.0				7		0.0		0.1		0.1		0.0		0.1		0.1		0.0		0.0										8.44		17.72		16.845		12.01

				8		1.65		7.25		6.44		16.20		13.95		11.46								8		1.18		5.51		5.48		15.03		11.04		10.79												8		0.1		0.5		0.0		1.1		1.3		0.2		0.0		0.0				8		0.0		0.4		0.2		0.1		1.4		0.0		0.0		0.0				8		0.0		0.1		0.0		0.2		0.4		0.0		0.0		0.0

				9		1.66		7.65		7.01		16.20		14.39		11.57								9		1.09		5.49		5.47		14.42		10.91		10.70												9		0.1		1.2		0.5		1.1		2.5		0.3		0.0		0.0				9		0.1		0.4		0.2		0.1		1.7		0.0		0.0		0.0				9		0.0		0.6		0.2		0.2		1.2		0.1		0.0		0.0						1.83		8.505		8.44		17.72		16.845		12.01

				10		1.83		8.25		7.12		16.35		14.70		11.66								10		1.06		5.16		5.44		14.06		10.61		10.52												10		0.2		2.9		0.7		1.5		3.5		0.5		0.0		0.0				10		0.1		1.0		0.3		0.4		2.6		0.1		0.0		0.0				10		0.1		1.9		0.4		0.3		2.0		0.2		0.0		0.0						1.66		8.25		7.57		16.905		14.73		11.915

				11				8.51		7.57		16.91		14.73		11.92								11				5.02		5.10		12.83		10.59		10.28												11				3.8		1.7		3.1		3.6		0.9		0.0		0.0				11				1.3		0.7		3.5		2.7		0.3		0.0		0.0				11				2.7		1.1		1.3		2.1		0.5		0.0		0.0						1.645		7.65		7.12		16.35		14.7		11.66

				12						8.44		17.72		16.85		12.01								12						5.04		11.13		10.32		9.14												12						4.6		6.7				1.1		0.0		0.0				12						0.8		12.8				2.7		0.0		0.0				12						3.7		3.8				0.6		0.0		0.0						1.58		7.245		7.01		16.2		14.39		11.57

				13																				13																								13																				13																				13																						1.57		6.58		6.435		16.195		13.945		11.46

				14																				14																								14																				14																				14																						1.275		6.425		6.165		15.61		13.545		10.895

				15																				15																								15																				15																				15																						1.2		6.195		6.15		15.17		12.265		10.865

				16																				16																								16																				16																				16																						1.175		5.505		5.48		15.03		11.04		10.785

				Σ		14.08		72.02		75.42		181.61		153.89		131.80		0.00		0.00																												s02＝Σ		0.7		15.1		12.6		36.9		34.7		7.2		0.0		0.0				sp-1,p2＝Σ		0.4		6.8		5.1		25.1		23.9		4.9		0.0		0.0				s1,22＝Σ		0.4		9.8		9.0		11.5		24.8		2.7		0.0		0.0						1.085		5.49		5.465		14.415		10.91		10.7

				平均値		1.41		6.55		6.28		15.13		12.82		10.98		0.00		0.00																																																																																										1.055		5.16		5.44		14.06		10.61		10.515

				標準偏差		0.28		1.23		1.07		1.83		2.15		0.81		0.00		0.00																																																																																												5.015		5.1		12.83		10.585		10.28

				yp-1,p																				yp-1,p		1.32		6.14		5.94		14.70		12.23		10.79		0.00		0.00		大きいデータ2つを除いた平均値																																																																								5.04		11.125		10.32		9.14

				y1,2		1.49		6.87		6.53		15.77		13.30		11.24		0.00		0.00																						小さいデータ2つを除いた平均値

				One outlieing obserbation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		1.517		1.596		2.017		1.413		1.870		1.269		0.000		0.000				Gp=(yp-y)/s

				smallest		1.266		1.249		1.165		2.190		1.164		2.277		0.000		0.000				G1=(y-y1)/s

				表からcritical valueを求める。

				Critical value（これより小さければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		10		11		12		12		12		12		0		0

				1%		2.482		2.564		2.636		2.636		2.564		2.636		2.636		2.636

				5%		2.290		2.355		2.412		2.412		2.355		2.412		2.412		2.412

				異常値は無い。

				Two outlying observation

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				largest		0.571		0.454		0.404		0.682		0.689		0.680		0.000		0.000				G=sp-1,p2/s02

				smallest		0.591		0.653		0.718		0.312		0.714		0.370		0.000		0.000				G=s1,22/s02

				表からcritical valueを求める。

				Critical value（これより大きければ正常）

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				P		10		11		12		12		12		12		0		0

				1%		0.1150		0.1448		0.1738		0.1738		0.1738		0.1738		0.1738		0.1738

				5%		0.1864		0.2213		0.2537		0.2537		0.2537		0.2537		0.2537		0.2537

				異常値は無い。

				統計量の計算

				異常値を除いて上にある表の値をコピーする。																																								異常値を除いて上にある表の値をコピーする。

				yi　（T1の計算）				yi																yi2　（T2の計算）				yi2																sij2　（T3の計算）				(yi1-yi2)2

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH

				1		1.83		8.51		7.57		16.91		14.73		11.66								1		3.3		72.3		57.3		285.8		217.0		136.0		0.0		0.0				1		0.0004		0.1225		0.3136		0.1521		0.0676		0.1764		0.0000		0.0000

				2				5.51		5.47		15.03		13.95		10.87								2		0.0		30.3		29.9		225.9		194.5		118.0		0.0		0.0				2				0.0025		0.0961		0.0144		0.0625		0.0841		0.0000		0.0000

				3		1.18		5.16		5.04		11.13		10.32		9.14								3		1.4		26.6		25.4		123.8		106.5		83.5		0.0		0.0				3		0.0001		0.0484		0.1296		0.0025		0.0004		0.0196		0.0000		0.0000

				4		1.65		7.25		7.12		17.72		14.70		11.92								4		2.7		52.5		50.7		314.0		216.1		142.0		0.0		0.0				4		0.0001		0.0025		0.1024		0.2500		0.6084		0.0289		0.0000		0.0000

				5		1.66		8.25		7.01		16.20		16.85		10.90								5		2.8		68.1		49.1		262.4		283.8		118.7		0.0		0.0				5		0.0100		0.3136		0.0784		0.1444		0.0625		0.1521		0.0000		0.0000

				6		1.28		6.58		6.17		14.42		11.04		11.57								6		1.6		43.3		38.0		207.8		121.9		133.9		0.0		0.0				6		0.0001		0.0676		0.2809		0.0009		0.3136		0.1936		0.0000		0.0000

				7		1.57		6.20		5.44		16.35		12.27		10.70								7		2.5		38.4		29.6		267.3		150.4		114.5		0.0		0.0				7		0.0100		0.0049		0.0196		0.2916		0.0625		0.0324		0.0000		0.0000

				8		1.58		6.43		6.15		15.17		10.91		10.52								8		2.5		41.3		37.8		230.1		119.0		110.6		0.0		0.0				8		0.0400		0.2209		0.0016		0.8836		0.5184		0.0841		0.00		0.00

				9		1.09		5.02		5.48		12.83		10.61		10.79								9		1.2		25.2		30.0		164.6		112.6		116.3		0.0		0.0				9		0.0025		0.2209		0.1024		0.0324		0.0036		0.2025		0.00		0.00

				10		1.06		5.49		5.10		14.06		10.59		10.28								10		1.1		30.1		26.0		197.7		112.0		105.7		0.0		0.0				10		0.0049		0.0256		0.0004		0.0400		0.4761		0.0400		0.0		0.0

				11		1.20		7.65		6.44		16.20		14.39		11.46								11		1.4		58.5		41.4		262.3		207.1		131.3		0.0		0.0				11		0.0196		0.0144		0.1369		0.3025		0.2916		0.1156		0.0		0.0

				12						8.44		15.61		13.55		12.01								12		0.0		0.0		71.2		243.7		183.5		144.2		0.0		0.0				12						0.1600		0.0196		0.0009		0.1444		0.0		0.0

				13																				13		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				13

				14																				14		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				14

				15																				15		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				15

				16																				16		0.0		0.0		0.0		0.0		0.0		0.0		0.0		0.0				16

				T1=Σ		14.0750		72.0200		75.4150		181.6100		153.8850		131.8		0.0		0.0				T2=Σ		20.5		486.6		486.5		2785.4		2024.3		1454.7		0.0		0.0				T3=Σ		0.1		1.0		1.4		2.1		2.5		1.3		0.0		0.0

				統計量が計算される。																						回収率計算

						サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF		サンプルG		サンプルH		判定（室間精度25％以下でOK）						調製時グリアジン濃度
（μg／mL）		比率								回収率（％）		判定（50～150％でOK）						回収率

				p		10		11		12		12		12		12		0		0		－				ヱビスビール		1.21		0.975						サンプルF		計算値比								調製ビール総平均		10.983

				T1		14.08		72.02		75.42		181.61		153.89		131.8		0.0		0.0						小麦含有ビール		458.33		0.025				1		11.66		92.3		○						ベースビール総平均		1.408

				T2		20.51		486.59		486.51		2785.37		2024.28		1454.7		0.0		0.0						調製ビール（計算値）		12.64		―				2		10.87		86.0		○						添加量		10

				T3		0.09		1.04		1.42		2.13		2.47		1.3		0.0		0.0														3		9.14		72.3		○						回収率（％）		95.8

				sr2		0.00		0.05		0.06		0.09		0.10		0.05		0.000		0.000														4		11.92		94.3		○

				sL2		0.08		1.48		1.11		3.31		4.58		0.63		0.000		0.000														5		10.90		86.2		○

				sR2		0.08		1.53		1.17		3.39		4.68		0.68		0.0		0.0														6		11.57		91.5		○

				m		1.408		6.547		6.285		15.134		12.824		10.983		0.0		0.0														7		10.70		84.7		○

				sr		0.07		0.22		0.24		0.30		0.32		0.23		0.00		0.00														8		10.52		83.2		○

				sR		0.28		1.24		1.08		1.84		2.16		0.83		0.00		0.00														9		10.79		85.3		○

				r95		0.19		0.61		0.68		0.83		0.90		0.65		0.00		0.00														10		10.28		81.3		○

				R95		0.79		3.46		3.03		5.16		6.06		2.31		0.00		0.00														11		11.46		90.7		○

				cvR		20.06		18.89		17.22		12.17		16.87		7.52		0.0		0.0		○												12		12.01		95.0		○

				cvPRED		15.19		12.06		12.13		10.63		10.90		11.15		0.0		0.0																				○

				HorRat		1.32		1.57		1.42		1.15		1.55		0.67		0.0		0.0																				○

		×１０		ｍ		14.08		65.47		62.85		151.34		128.24		109.83		0.0		0.0																				○

				cvPRED		10.74		8.53		8.58		7.52		7.71		7.89		0.0		0.0																				○

				HorRat R		1.87		2.22		2.01		1.62		2.19		0.95		0.0		0.0																				○

				CVpred		7.16		5.68		5.72		5.01		5.14		5.26		0.0		0.0																				○

				CVr		4.70		3.33		3.87		1.97		2.50		2.10		0.0		0.0		－

				HorRat r		0.7		0.6		0.7		0.4		0.5		0.4		0.0		0.0

				sr2=T3/2p

				sL2=(pT2-T12)/p(p-1)-sr2/2

				sR2=sL2+sr2

				m=T1/p

				cvPRED=2c-0.1505
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まとめ

		１．測定データ

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

				アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45

								1.82		8.68		7.29		17.10		14.60		11.87

				キリン1		2				5.53		5.62		14.97		14.07		10.72

										5.48		5.31		15.09		13.82		11.01

				キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07

								1.17		5.27		4.86		11.10		10.31		9.21

				宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83

								1.65		7.27		7.28		17.97		15.09		12.00

				森永		5		1.71		7.97		7.15		16.39		16.72		10.70

								1.61		8.53		6.87		16.01		16.97		11.09

				オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79

								1.28		6.71		5.90		14.43		11.32		11.35

				サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61

								1.52		6.16		5.51		16.62		12.39		10.79

				和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66

								1.68		6.19		6.13		14.70		11.27		10.37

				ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56

								1.06		5.25		5.32		12.74		10.64		11.01

				酒類総研		10		1.02		5.41		5.09		14.16		10.24		10.18

								1.09		5.57		5.11		13.96		10.93		10.38

				サントリー1		11		1.27		7.71		6.25		15.92		14.66		11.29

								1.13		7.59		6.62		16.47		14.12		11.63

				サントリー2		12						8.24		15.54		13.56		12.20

												8.64		15.68		13.53		11.82

										はウェル間のCV値が許容域（20％）を超えたため集計から除外

		２．Cochranの検定

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						Ｃ		0.4561		0.3004		0.2205		0.4141		0.2465		0.1590

						ラボ数		10		11		12		12		12		12

						1%		0.718		0.684		0.653		0.653		0.653		0.653

						5%		0.602		0.570		0.541		0.541		0.541		0.541

						12ラボの場合、1%＝0.653、5%＝0.541

						異常値はない

		３．Grubb'sの検定

						One outlieing obserbation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		1.517		1.596		2.017		1.413		1.870		1.269

						smallest		1.266		1.249		1.165		2.190		1.164		2.277

						Critical value（これより小さければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		2.482		2.564		2.636		2.636		2.564		2.636

						5%		2.290		2.355		2.412		2.412		2.355		2.412

						異常値は無い。

						Two outlying observation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		0.571		0.454		0.404		0.682		0.689		0.680

						smallest		0.591		0.653		0.718		0.312		0.714		0.370

						Critical value（これより大きければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		0.1150		0.1448		0.1738		0.1738		0.1738		0.1738

						5%		0.1864		0.2213		0.2537		0.2537		0.2537		0.2537

						異常値は無い。

		統計量の計算

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール

						p		10		11		12		12		12		12

						m		1.41		6.55		6.28		15.13		12.82		10.98

						sr		0.07		0.22		0.24		0.30		0.32		0.23

						sR		0.28		1.24		1.08		1.84		2.16		0.83

						r95		0.19		0.61		0.68		0.83		0.90		0.65

						R95		0.79		3.46		3.03		5.16		6.06		2.31

						CVR		20.1		18.9		17.2		12.2		16.9		7.5

						CVr		4.7		3.3		3.9		2.0		2.5		2.1

						全てのサンプルのCVRは25％以下であり、許容範囲内であった。

		回収率の計算

						調製ビール総平均				10.983

						ベースビール総平均				1.408

						添加量				10

						回収率（％）				95.8
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まとめ (PP用)

		１．測定データ

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

				アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45

								1.82		8.68		7.29		17.10		14.60		11.87

				キリン1		2				5.53		5.62		14.97		14.07		10.72

										5.48		5.31		15.09		13.82		11.01

				キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07

								1.17		5.27		4.86		11.10		10.31		9.21

				宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83

								1.65		7.27		7.28		17.97		15.09		12.00

				森永		5		1.71		7.97		7.15		16.39		16.72		10.70

								1.61		8.53		6.87		16.01		16.97		11.09

				オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79

								1.28		6.71		5.90		14.43		11.32		11.35

				サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61

								1.52		6.16		5.51		16.62		12.39		10.79

				和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66

								1.68		6.19		6.13		14.70		11.27		10.37

				ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56

								1.06		5.25		5.32		12.74		10.64		11.01

				酒類総研		10		1.02		5.41		5.09		14.16		10.24		10.18

								1.09		5.57		5.11		13.96		10.93		10.38

				サントリー1		11		1.27		7.71		6.25		15.92		14.66		11.29

								1.13		7.59		6.62		16.47		14.12		11.63

				サントリー2		12						8.24		15.54		13.56		12.20

												8.64		15.68		13.53		11.82

										はウェル間のCV値が許容域（20％）を超えたため集計から除外

		２．Cochranの検定

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						Ｃ		0.4561		0.3004		0.2205		0.4141		0.2465		0.1590

						ラボ数		10		11		12		12		12		12

						1%		0.718		0.684		0.653		0.653		0.653		0.653

						5%		0.602		0.570		0.541		0.541		0.541		0.541

						12ラボの場合、1%＝0.653、5%＝0.541

						異常値はない

		３．Grubb'sの検定

						One outlieing obserbation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		1.517		1.596		2.017		1.413		1.870		1.269

						smallest		1.266		1.249		1.165		2.190		1.164		2.277

						Critical value（これより小さければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		2.482		2.564		2.636		2.636		2.564		2.636

						5%		2.290		2.355		2.412		2.412		2.355		2.412

						異常値は無い。

						Two outlying observation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		0.571		0.454		0.404		0.682		0.689		0.680

						smallest		0.591		0.653		0.718		0.312		0.714		0.370

						Critical value（これより大きければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		0.1150		0.1448		0.1738		0.1738		0.1738		0.1738

						5%		0.1864		0.2213		0.2537		0.2537		0.2537		0.2537

						異常値は無い。

								モリナガFASPEKエライザⅡ小麦による小麦タンパク質濃度（ppm）

		統計量の計算

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセル
ベリサリスエール		フローリス　
ストロベリー

						p		10		11		12		12		12

						m		1.41		6.55		6.28		15.13		12.82

						sr		0.07		0.22		0.24		0.30		0.32

						sR		0.28		1.24		1.08		1.84		2.16

						CVR		20.1		18.9		17.2		12.2		16.9

						CVr		4.7		3.3		3.9		2.0		2.5

						全てのサンプルのCVRは25％以下であり、基準内であった								p		：データ数

														m		：平均（ppm）

														sr		：標準偏差（併行精度）

														sR		：標準偏差（室間再現精度）

														CVR		：m/sR

														CVr		：m/sr

						回収率の計算

										結果

						調製ビール総平均				10.98

						エビスビール総平均				1.41

						添加量				10

						回収率（％）				95.8

						回収率の基準である50～150％を満たしている





まとめ (答申書)

		１．測定データ

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール						試料ペアa				試料ペア				試料ペア				試料ペア				試料ペア				試料ペア								Sample Paira				Sample Pair				Sample Pair				Sample Pair				Sample Pair				Sample Pair

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF				実験室		A		B		C		D		E		F		G		H		I		J		K		L				Collaborator		A		B		C		D		E		F		G		H		I		J		K		L

				アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45				1		1.84		1.82		8.33		8.68		7.85		7.29		16.71		17.10		14.86		14.60		11.45		11.87				1		1.84		1.82		8.33		8.68		7.85		7.29		16.71		17.10		14.86		14.60		11.45		11.87

								1.82		8.68		7.29		17.10		14.60		11.87				2		1.34b		1.08b		5.53		5.48		5.62		5.31		14.97		15.09		14.07		13.82		10.72		11.01				2		1.34b		1.08b		5.53		5.48		5.62		5.31		14.97		15.09		14.07		13.82		10.72		11.01

				キリン1		2				5.53		5.62		14.97		14.07		10.72				3		1.18		1.17		5.05		5.27		5.22		4.86		11.15		11.10		10.33		10.31		9.07		9.21				3		1.18		1.17		5.05		5.27		5.22		4.86		11.15		11.10		10.33		10.31		9.07		9.21

										5.48		5.31		15.09		13.82		11.01				4		1.64		1.65		7.22		7.27		6.96		7.28		17.47		17.97		14.31		15.09		11.83		12.00				4		1.64		1.65		7.22		7.27		6.96		7.28		17.47		17.97		14.31		15.09		11.83		12.00

				キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07				5		1.71		1.61		7.97		8.53		7.15		6.87		16.39		16.01		16.72		16.97		10.70		11.09				5		1.71		1.61		7.97		8.53		7.15		6.87		16.39		16.01		16.72		16.97		10.70		11.09

								1.17		5.27		4.86		11.10		10.31		9.21				6		1.27		1.28		6.45		6.71		6.43		5.90		14.40		14.43		10.76		11.32		11.79		11.35				6		1.27		1.28		6.45		6.71		6.43		5.90		14.40		14.43		10.76		11.32		11.79		11.35

				宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83				7		1.62		1.52		6.23		6.16		5.37		5.51		16.08		16.62		12.14		12.39		10.61		10.79				7		1.62		1.52		6.23		6.16		5.37		5.51		16.08		16.62		12.14		12.39		10.61		10.79

								1.65		7.27		7.28		17.97		15.09		12.00				8		1.48		1.68		6.66		6.19		6.17		6.13		15.64		14.70		10.55		11.27		10.66		10.37				8		1.48		1.68		6.66		6.19		6.17		6.13		15.64		14.70		10.55		11.27		10.66		10.37

				森永		5		1.71		7.97		7.15		16.39		16.72		10.70				9		1.11		1.06		4.78		5.25		5.64		5.32		12.92		12.74		10.58		10.64		10.56		11.01				9		1.11		1.06		4.78		5.25		5.64		5.32		12.92		12.74		10.58		10.64		10.56		11.01

								1.61		8.53		6.87		16.01		16.97		11.09				10		1.02		1.09		5.41		5.57		5.09		5.11		14.16		13.96		10.24		10.93		10.18		10.38				10		1.02		1.09		5.41		5.57		5.09		5.11		14.16		13.96		10.24		10.93		10.18		10.38

				オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79				11		1.27		1.13		7.71		7.59		6.25		6.62		15.92		16.47		14.66		14.12		11.29		11.63				11		1.27		1.13		7.71		7.59		6.25		6.62		15.92		16.47		14.66		14.12		11.29		11.63

								1.28		6.71		5.90		14.43		11.32		11.35				12		1.87b		2.29b		7.24b		7.63b		8.24		8.64		15.54		15.68		13.56		13.53		12.20		11.82				12		1.87b		2.29b		7.24b		7.63b		8.24		8.64		15.54		15.68		13.56		13.53		12.20		11.82

				サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61				平均値		1.41		1.40		6.49		6.61		6.33		6.24		15.11		15.16		12.73		12.92		10.92		11.04				Mean		1.41		1.40		6.49		6.61		6.33		6.24		15.11		15.16		12.73		12.92		10.92		11.04

								1.52		6.16		5.51		16.62		12.39		10.79				総平均				1.41				6.55				6.28				15.13				12.82				10.98				Grand Mean				1.41				6.55				6.28				15.13				12.82				10.98

				和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66

								1.68		6.19		6.13		14.70		11.27		10.37

				ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56						試料ペア				試料ペア				試料ペア				試料ペア				試料ペア				試料ペア

								1.06		5.25		5.32		12.74		10.64		11.01				実験室		A		B		C		D		E		F		G		H		I		J		K		L

				酒類総研		10		1.02		5.41		5.09		14.16		10.24		10.18				1		1.84		1.82		8.33		8.68		7.85		7.29		16.71		17.1		14.86		14.6		11.45		11.87

								1.09		5.57		5.11		13.96		10.93		10.38				2						5.53		5.48		5.62		5.31		14.97		15.09		14.07		13.82		10.72		11.01

				サントリー1		11		1.27		7.71		6.25		15.92		14.66		11.29				3		1.18		1.17		5.05		5.27		5.22		4.86		11.15		11.1		10.33		10.31		9.07		9.21

								1.13		7.59		6.62		16.47		14.12		11.63				4		1.64		1.65		7.22		7.27		6.96		7.28		17.47		17.97		14.31		15.09		11.83		12

				サントリー2		12						8.24		15.54		13.56		12.20				5		1.71		1.61		7.97		8.53		7.15		6.87		16.39		16.01		16.72		16.97		10.7		11.09

												8.64		15.68		13.53		11.82				6		1.27		1.28		6.45		6.71		6.43		5.9		14.4		14.43		10.76		11.32		11.79		11.35

																						7		1.62		1.52		6.23		6.16		5.37		5.51		16.08		16.62		12.14		12.39		10.61		10.79

										はウェル間のCV値が許容域（20％）を超えたため集計から除外												8		1.48		1.68		6.66		6.19		6.17		6.13		15.64		14.7		10.55		11.27		10.66		10.37

																						9		1.11		1.06		4.78		5.25		5.64		5.32		12.92		12.74		10.58		10.64		10.56		11.01

		２．Cochranの検定																				10		1.02		1.09		5.41		5.57		5.09		5.11		14.16		13.96		10.24		10.93		10.18		10.38

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF				11		1.27		1.13		7.71		7.59		6.25		6.62		15.92		16.47		14.66		14.12		11.29		11.63

						Ｃ		0.4561		0.3004		0.2205		0.4141		0.2465		0.1590				12										8.24		8.64		15.54		15.68		13.56		13.53		12.2		11.82

																						平均値		1.41		1.40		6.49		6.61		6.33		6.24		15.11		15.16		12.73		12.92		10.92		11.04

						ラボ数		10		11		12		12		12		12				総平均				1.41				6.55				6.28				15.13				12.82				10.98

						1%		0.718		0.684		0.653		0.653		0.653		0.653

						5%		0.602		0.570		0.541		0.541		0.541		0.541

						12ラボの場合、1%＝0.653、5%＝0.541

						異常値はない

		３．Grubb'sの検定

						One outlieing obserbation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		1.517		1.596		2.017		1.413		1.870		1.269

						smallest		1.266		1.249		1.165		2.190		1.164		2.277

						Critical value（これより小さければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		2.482		2.564		2.636		2.636		2.564		2.636

						5%		2.290		2.355		2.412		2.412		2.355		2.412

						異常値は無い。

						Two outlying observation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		0.571		0.454		0.404		0.682		0.689		0.680

						smallest		0.591		0.653		0.718		0.312		0.714		0.370

						Critical value（これより大きければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		0.1150		0.1448		0.1738		0.1738		0.1738		0.1738

						5%		0.1864		0.2213		0.2537		0.2537		0.2537		0.2537

						異常値は無い。

		統計量の計算

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール

						p		10		11		12		12		12		12						試料ペア		試料ペア		試料ペア		試料ペア		試料ペア		試料ペア

						m		1.41		6.55		6.28		15.13		12.82		10.98						A/B		C/D		E/F		G/H		I/J		K/L

						sr		0.07		0.22		0.24		0.30		0.32		0.23				実験室数		10		11		12		12		12		12

						sR		0.28		1.24		1.08		1.84		2.16		0.83				総平均値 (m)		1.41		6.55		6.28		15.13		12.82		10.98

						r95		0.19		0.61		0.68		0.83		0.90		0.65				併行標準偏差 (Sr)		0.07		0.22		0.24		0.30		0.32		－

						R95		0.79		3.46		3.03		5.16		6.06		2.31				併行相対標準偏差 (RSDr,%)		4.7		3.3		3.9		2.0		2.5		－

						CVR		20.1		18.9		17.2		12.2		16.9		7.5				室間再現標準偏差 (SR)		0.28		1.24		1.08		1.84		2.16		－

						CVr		4.7		3.3		3.9		2.0		2.5		2.1				室間再現相対標準偏差 (RSDR,%)		20.1		18.9		17.2		12.2		16.9		－

						全てのサンプルのCVRは25％以下であり、許容範囲内であった。																回収率（%）		95.8		－		－		－		－		－

																						回収率は試料ペアA/Bと試料ペアK/Lの差を添加量で割って算出した

		回収率の計算

						調製ビール総平均				10.983

						ベースビール総平均				1.408

						添加量				10

						回収率（％）				95.8





まとめ (答申書) (2)

		１．測定データ

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール						試料ペア				試料ペア				試料ペア				試料ペア				試料ペア				試料ペア

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF				実験室		A		B		C		D		E		F		G		H		I		J		K		L

				アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45				1		1.84		1.82		8.33		8.68		7.85		7.29		16.71		17.10		14.86		14.60		11.45		11.87

								1.82		8.68		7.29		17.10		14.60		11.87				2		1.34a		1.08a		5.53		5.48		5.62		5.31		14.97		15.09		14.07		13.82		10.72		11.01

				キリン1		2				5.53		5.62		14.97		14.07		10.72				3		1.18		1.17		5.05		5.27		5.22		4.86		11.15		11.10		10.33		10.31		9.07		9.21

										5.48		5.31		15.09		13.82		11.01				4		1.64		1.65		7.22		7.27		6.96		7.28		17.47		17.97		14.31		15.09		11.83		12.00

				キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07				5		1.71		1.61		7.97		8.53		7.15		6.87		16.39		16.01		16.72		16.97		10.70		11.09

								1.17		5.27		4.86		11.10		10.31		9.21				6		1.27		1.28		6.45		6.71		6.43		5.90		14.40		14.43		10.76		11.32		11.79		11.35

				宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83				7		1.62		1.52		6.23		6.16		5.37		5.51		16.08		16.62		12.14		12.39		10.61		10.79

								1.65		7.27		7.28		17.97		15.09		12.00				8		1.48		1.68		6.66		6.19		6.17		6.13		15.64		14.70		10.55		11.27		10.66		10.37

				森永		5		1.71		7.97		7.15		16.39		16.72		10.70				9		1.11		1.06		4.78		5.25		5.64		5.32		12.92		12.74		10.58		10.64		10.56		11.01

								1.61		8.53		6.87		16.01		16.97		11.09				10		1.02		1.09		5.41		5.57		5.09		5.11		14.16		13.96		10.24		10.93		10.18		10.38

				オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79				11		1.27		1.13		7.71		7.59		6.25		6.62		15.92		16.47		14.66		14.12		11.29		11.63

								1.28		6.71		5.90		14.43		11.32		11.35				12		1.87a		2.29a		7.24a		7.63a		8.24		8.64		15.54		15.68		13.56		13.53		12.20		11.82

				サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61				平均値		1.41		1.40		6.49		6.61		6.33		6.24		15.11		15.16		12.73		12.92		10.92		11.04

								1.52		6.16		5.51		16.62		12.39		10.79				総平均				1.41				6.55				6.28				15.13				12.82				10.98

				和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66

								1.68		6.19		6.13		14.70		11.27		10.37

				ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56						試料ペア				試料ペア				試料ペア				試料ペア				試料ペア				試料ペア

								1.06		5.25		5.32		12.74		10.64		11.01				実験室		A		B		C		D		E		F		G		H		I		J		K		L

				酒類総研		10		1.02		5.41		5.09		14.16		10.24		10.18				1		1.84		1.82		8.33		8.68		7.85		7.29		16.71		17.1		14.86		14.6		11.45		11.87

								1.09		5.57		5.11		13.96		10.93		10.38				2						5.53		5.48		5.62		5.31		14.97		15.09		14.07		13.82		10.72		11.01

				サントリー1		11		1.27		7.71		6.25		15.92		14.66		11.29				3		1.18		1.17		5.05		5.27		5.22		4.86		11.15		11.1		10.33		10.31		9.07		9.21

								1.13		7.59		6.62		16.47		14.12		11.63				4		1.64		1.65		7.22		7.27		6.96		7.28		17.47		17.97		14.31		15.09		11.83		12

				サントリー2		12						8.24		15.54		13.56		12.20				5		1.71		1.61		7.97		8.53		7.15		6.87		16.39		16.01		16.72		16.97		10.7		11.09

												8.64		15.68		13.53		11.82				6		1.27		1.28		6.45		6.71		6.43		5.9		14.4		14.43		10.76		11.32		11.79		11.35

																						7		1.62		1.52		6.23		6.16		5.37		5.51		16.08		16.62		12.14		12.39		10.61		10.79

										はウェル間のCV値が許容域（20％）を超えたため集計から除外												8		1.48		1.68		6.66		6.19		6.17		6.13		15.64		14.7		10.55		11.27		10.66		10.37

																						9		1.11		1.06		4.78		5.25		5.64		5.32		12.92		12.74		10.58		10.64		10.56		11.01

		２．Cochranの検定																				10		1.02		1.09		5.41		5.57		5.09		5.11		14.16		13.96		10.24		10.93		10.18		10.38

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF				11		1.27		1.13		7.71		7.59		6.25		6.62		15.92		16.47		14.66		14.12		11.29		11.63

						Ｃ		0.4561		0.3004		0.2205		0.4141		0.2465		0.1590				12										8.24		8.64		15.54		15.68		13.56		13.53		12.2		11.82

																						平均値		1.41		1.40		6.49		6.61		6.33		6.24		15.11		15.16		12.73		12.92		10.92		11.04

						ラボ数		10		11		12		12		12		12				総平均				1.41				6.55				6.28				15.13				12.82				10.98

						1%		0.718		0.684		0.653		0.653		0.653		0.653

						5%		0.602		0.570		0.541		0.541		0.541		0.541

						12ラボの場合、1%＝0.653、5%＝0.541

						異常値はない

		３．Grubb'sの検定

						One outlieing obserbation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		1.517		1.596		2.017		1.413		1.870		1.269

						smallest		1.266		1.249		1.165		2.190		1.164		2.277

						Critical value（これより小さければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		2.482		2.564		2.636		2.636		2.564		2.636

						5%		2.290		2.355		2.412		2.412		2.355		2.412

						異常値は無い。

						Two outlying observation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		0.571		0.454		0.404		0.682		0.689		0.680

						smallest		0.591		0.653		0.718		0.312		0.714		0.370

						Critical value（これより大きければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		0.1150		0.1448		0.1738		0.1738		0.1738		0.1738

						5%		0.1864		0.2213		0.2537		0.2537		0.2537		0.2537

						異常値は無い。

		統計量の計算

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール

						p		10		11		12		12		12		12						試料ペア		試料ペア		試料ペア		試料ペア		試料ペア		試料ペア						Sample Pair		Sample Pair		Sample Pair		Sample Pair		Sample Pair		Sample Pair

						m		1.41		6.55		6.28		15.13		12.82		10.98						A/B		C/D		E/F		G/H		I/J		K/L						A/B		C/D		E/F		G/H		I/J		K/L

						sr		0.07		0.22		0.24		0.30		0.32		0.23				Number of Laboratories		10		11		12		12		12		12				Number of Laboratories		10		11		12		12		12		12

						sR		0.28		1.24		1.08		1.84		2.16		0.83				総平均値 (m)		1.41		6.55		6.28		15.13		12.82		10.98				Grand mean (m)		1.41		6.55		6.28		15.13		12.82		10.98

						r95		0.19		0.61		0.68		0.83		0.90		0.65				併行標準偏差 (Sr)		0.07		0.22		0.24		0.30		0.32		0.23				Repeatability Standard Deviation (Sr)		0.07		0.22		0.24		0.30		0.32		0.23

						R95		0.79		3.46		3.03		5.16		6.06		2.31				併行相対標準偏差 (RSDr,%)		4.7		3.3		3.9		2.0		2.5		2.1				Relative Repeatability Standard
Deviation (RSDr,%)		4.7		3.3		3.9		2.0		2.5		2.1

						CVR		20.1		18.9		17.2		12.2		16.9		7.5				室間再現標準偏差 (SR)		0.28		1.24		1.08		1.84		2.16		0.83				Reproducibility Standard Deviation (SR)		0.28		1.24		1.08		1.84		2.16		0.83

						CVr		4.7		3.3		3.9		2.0		2.5		2.1				室間再現相対標準偏差 (RSDR,%)		20.1		18.9		17.2		12.2		16.9		7.5				Relative Reproducibility Standard 
Deviation (RSDR,%)		20.1		18.9		17.2		12.2		16.9		7.5

						全てのサンプルのCVRは25％以下であり、許容範囲内であった。																回収率（%）		－		－		－		－		－		83.8				Recovery（%）		－		－		－		－		－		83.8

																						回収率は試料ペアA/Bと試料ペアK/Lの差を添加量で割って算出した

		回収率の計算

						調製ビール総平均				10.983

						ベースビール総平均				1.408

						添加量				10

						回収率（％）				95.8





まとめ (答申書) (3)

		１．測定データ

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール						試料ペア				試料ペア				試料ペア				試料ペア				試料ペア				試料ペア

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF				実験室		A		B		C		D		E		F		G		H		I		J		K		L

				アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45				1		1.84		1.82		8.33		8.68		7.85		7.29		16.71		17.10		14.86		14.60		11.45		11.87

								1.82		8.68		7.29		17.10		14.60		11.87				2		1.34a		1.08a		5.53		5.48		5.62		5.31		14.97		15.09		14.07		13.82		10.72		11.01

				キリン1		2				5.53		5.62		14.97		14.07		10.72				3		1.18		1.17		5.05		5.27		5.22		4.86		11.15		11.10		10.33		10.31		9.07		9.21

										5.48		5.31		15.09		13.82		11.01				4		1.64		1.65		7.22		7.27		6.96		7.28		17.47		17.97		14.31		15.09		11.83		12.00

				キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07				5		1.71		1.61		7.97		8.53		7.15		6.87		16.39		16.01		16.72		16.97		10.70		11.09

								1.17		5.27		4.86		11.10		10.31		9.21				6		1.27		1.28		6.45		6.71		6.43		5.90		14.40		14.43		10.76		11.32		11.79		11.35

				宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83				7		1.62		1.52		6.23		6.16		5.37		5.51		16.08		16.62		12.14		12.39		10.61		10.79

								1.65		7.27		7.28		17.97		15.09		12.00				8		1.48		1.68		6.66		6.19		6.17		6.13		15.64		14.70		10.55		11.27		10.66		10.37

				森永		5		1.71		7.97		7.15		16.39		16.72		10.70				9		1.11		1.06		4.78		5.25		5.64		5.32		12.92		12.74		10.58		10.64		10.56		11.01

								1.61		8.53		6.87		16.01		16.97		11.09				10		1.02		1.09		5.41		5.57		5.09		5.11		14.16		13.96		10.24		10.93		10.18		10.38

				オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79				11		1.27		1.13		7.71		7.59		6.25		6.62		15.92		16.47		14.66		14.12		11.29		11.63

								1.28		6.71		5.90		14.43		11.32		11.35				12		1.87a		2.29a		7.24a		7.63a		8.24		8.64		15.54		15.68		13.56		13.53		12.20		11.82

				サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61				平均値		1.41		1.40		6.49		6.61		6.33		6.24		15.11		15.16		12.73		12.92		10.92		11.04

								1.52		6.16		5.51		16.62		12.39		10.79				総平均				1.41				6.55				6.28				15.13				12.82				10.98

				和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66

								1.68		6.19		6.13		14.70		11.27		10.37

				ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56						試料ペア				試料ペア				試料ペア				試料ペア				試料ペア				試料ペア

								1.06		5.25		5.32		12.74		10.64		11.01				実験室		A		B		C		D		E		F		G		H		I		J		K		L

				酒類総研		10		1.02		5.41		5.09		14.16		10.24		10.18				1		1.84		1.82		8.33		8.68		7.85		7.29		16.71		17.1		14.86		14.6		11.45		11.87

								1.09		5.57		5.11		13.96		10.93		10.38				2						5.53		5.48		5.62		5.31		14.97		15.09		14.07		13.82		10.72		11.01

				サントリー1		11		1.27		7.71		6.25		15.92		14.66		11.29				3		1.18		1.17		5.05		5.27		5.22		4.86		11.15		11.1		10.33		10.31		9.07		9.21

								1.13		7.59		6.62		16.47		14.12		11.63				4		1.64		1.65		7.22		7.27		6.96		7.28		17.47		17.97		14.31		15.09		11.83		12

				サントリー2		12						8.24		15.54		13.56		12.20				5		1.71		1.61		7.97		8.53		7.15		6.87		16.39		16.01		16.72		16.97		10.7		11.09

												8.64		15.68		13.53		11.82				6		1.27		1.28		6.45		6.71		6.43		5.9		14.4		14.43		10.76		11.32		11.79		11.35

																						7		1.62		1.52		6.23		6.16		5.37		5.51		16.08		16.62		12.14		12.39		10.61		10.79

										はウェル間のCV値が許容域（20％）を超えたため集計から除外												8		1.48		1.68		6.66		6.19		6.17		6.13		15.64		14.7		10.55		11.27		10.66		10.37

																						9		1.11		1.06		4.78		5.25		5.64		5.32		12.92		12.74		10.58		10.64		10.56		11.01

		２．Cochranの検定																				10		1.02		1.09		5.41		5.57		5.09		5.11		14.16		13.96		10.24		10.93		10.18		10.38

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF				11		1.27		1.13		7.71		7.59		6.25		6.62		15.92		16.47		14.66		14.12		11.29		11.63

						Ｃ		0.4561		0.3004		0.2205		0.4141		0.2465		0.1590				12										8.24		8.64		15.54		15.68		13.56		13.53		12.2		11.82

																						平均値		1.41		1.40		6.49		6.61		6.33		6.24		15.11		15.16		12.73		12.92		10.92		11.04

						ラボ数		10		11		12		12		12		12				総平均				1.41				6.55				6.28				15.13				12.82				10.98

						1%		0.718		0.684		0.653		0.653		0.653		0.653

						5%		0.602		0.570		0.541		0.541		0.541		0.541

						12ラボの場合、1%＝0.653、5%＝0.541

						異常値はない

		３．Grubb'sの検定

						One outlieing obserbation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		1.517		1.596		2.017		1.413		1.870		1.269

						smallest		1.266		1.249		1.165		2.190		1.164		2.277

						Critical value（これより小さければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		2.482		2.564		2.636		2.636		2.564		2.636

						5%		2.290		2.355		2.412		2.412		2.355		2.412

						異常値は無い。

						Two outlying observation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		0.571		0.454		0.404		0.682		0.689		0.680

						smallest		0.591		0.653		0.718		0.312		0.714		0.370

						Critical value（これより大きければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		0.1150		0.1448		0.1738		0.1738		0.1738		0.1738

						5%		0.1864		0.2213		0.2537		0.2537		0.2537		0.2537

						異常値は無い。

		統計量の計算

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール

						p		10		11		12		12		12		12						試料ペア		試料ペア		試料ペア		試料ペア		試料ペア		試料ペア						Sample Pair

						m		1.41		6.55		6.28		15.13		12.82		10.98						A/B		C/D		E/F		G/H		I/J		K/L						A/B		C/D		E/F		G/H		I/J		K/L

						sr		0.07		0.22		0.24		0.30		0.32		0.23				Number of Laboratories		10		11		12		12		12		12				Number of Laboratories		10		11		12		12		12		12

						sR		0.28		1.24		1.08		1.84		2.16		0.83				総平均値 (m)		1.41		6.55		6.28		15.13		12.82		10.98				Grand Mean (m)		1.41		6.55		6.28		15.13		12.82		10.98

						r95		0.19		0.61		0.68		0.83		0.90		0.65				併行標準偏差 (Sr)		0.07		0.22		0.24		0.30		0.32		0.23				Repeatability Standard Deviation (Sr)		0.07		0.22		0.24		0.30		0.32		0.23

						R95		0.79		3.46		3.03		5.16		6.06		2.31				併行相対標準偏差 (RSDr,%)		4.7		3.3		3.9		2.0		2.5		2.1				Relative Repeatability Standard Deviation (RSDr,%)		4.7		3.3		3.9		2.0		2.5		2.1

						CVR		20.1		18.9		17.2		12.2		16.9		7.5				室間再現標準偏差 (SR)		0.28		1.24		1.08		1.84		2.16		0.83				Reproducibility Standard Deviation (SR)		0.28		1.24		1.08		1.84		2.16		0.83

						CVr		4.7		3.3		3.9		2.0		2.5		2.1				室間再現相対標準偏差 (RSDR,%)		20.1		18.9		17.2		12.2		16.9		7.5				Relative Reproducibility Standard Deviation (RSDR,%)		20.1		18.9		17.2		12.2		16.9		7.5

						全てのサンプルのCVRは25％以下であり、許容範囲内であった。																回収率（%）		－		－		－		－		－		83.8				Recovery（%）		－		－		－		－		－		83.8

																						回収率は試料ペアA/Bと試料ペアK/Lの差を添加量で割って算出した

		回収率の計算

						調製ビール総平均				10.983

						ベースビール総平均				1.408

						添加量				10

						回収率（％）				95.8





まとめ (答申書) (4)

		１．測定データ

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール						試料ペア				試料ペア				試料ペア				試料ペア				試料ペア				試料ペア

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF				実験室		A		B		C		D		E		F		G		H		I		J		K		L

				アサヒ		1		1.84		8.33		7.85		16.71		14.86		11.45				1		1.84		1.82		8.33		8.68		7.85		7.29		16.71		17.10		14.86		14.60		11.45		11.87

								1.82		8.68		7.29		17.10		14.60		11.87				2		1.34a		1.08a		5.53		5.48		5.62		5.31		14.97		15.09		14.07		13.82		10.72		11.01

				キリン1		2				5.53		5.62		14.97		14.07		10.72				3		1.18		1.17		5.05		5.27		5.22		4.86		11.15		11.10		10.33		10.31		9.07		9.21

										5.48		5.31		15.09		13.82		11.01				4		1.64		1.65		7.22		7.27		6.96		7.28		17.47		17.97		14.31		15.09		11.83		12.00

				キリン2		3		1.18		5.05		5.22		11.15		10.33		9.07				5		1.71		1.61		7.97		8.53		7.15		6.87		16.39		16.01		16.72		16.97		10.70		11.09

								1.17		5.27		4.86		11.10		10.31		9.21				6		1.27		1.28		6.45		6.71		6.43		5.90		14.40		14.43		10.76		11.32		11.79		11.35

				宮城大		4		1.64		7.22		6.96		17.47		14.31		11.83				7		1.62		1.52		6.23		6.16		5.37		5.51		16.08		16.62		12.14		12.39		10.61		10.79

								1.65		7.27		7.28		17.97		15.09		12.00				8		1.48		1.68		6.66		6.19		6.17		6.13		15.64		14.70		10.55		11.27		10.66		10.37

				森永		5		1.71		7.97		7.15		16.39		16.72		10.70				9		1.11		1.06		4.78		5.25		5.64		5.32		12.92		12.74		10.58		10.64		10.56		11.01

								1.61		8.53		6.87		16.01		16.97		11.09				10		1.02		1.09		5.41		5.57		5.09		5.11		14.16		13.96		10.24		10.93		10.18		10.38

				オリオン		6		1.27		6.45		6.43		14.40		10.76		11.79				11		1.27		1.13		7.71		7.59		6.25		6.62		15.92		16.47		14.66		14.12		11.29		11.63

								1.28		6.71		5.90		14.43		11.32		11.35				12		1.87a		2.29a		7.24a		7.63a		8.24		8.64		15.54		15.68		13.56		13.53		12.20		11.82

				サッポロ		7		1.62		6.23		5.37		16.08		12.14		10.61				平均値		1.41		1.40		6.49		6.61		6.33		6.24		15.11		15.16		12.73		12.92		10.92		11.04

								1.52		6.16		5.51		16.62		12.39		10.79				総平均				1.41				6.55				6.28				15.13				12.82				10.98

				和光堂		8		1.48		6.66		6.17		15.64		10.55		10.66

								1.68		6.19		6.13		14.70		11.27		10.37

				ポッカサッポロ		9		1.11		4.78		5.64		12.92		10.58		10.56						試料ペア				試料ペア				試料ペア				試料ペア				試料ペア				試料ペア

								1.06		5.25		5.32		12.74		10.64		11.01				実験室		A		B		C		D		E		F		G		H		I		J		K		L

				酒類総研		10		1.02		5.41		5.09		14.16		10.24		10.18				1		1.84		1.82		8.33		8.68		7.85		7.29		16.71		17.1		14.86		14.6		11.45		11.87

								1.09		5.57		5.11		13.96		10.93		10.38				2						5.53		5.48		5.62		5.31		14.97		15.09		14.07		13.82		10.72		11.01

				サントリー1		11		1.27		7.71		6.25		15.92		14.66		11.29				3		1.18		1.17		5.05		5.27		5.22		4.86		11.15		11.1		10.33		10.31		9.07		9.21

								1.13		7.59		6.62		16.47		14.12		11.63				4		1.64		1.65		7.22		7.27		6.96		7.28		17.47		17.97		14.31		15.09		11.83		12

				サントリー2		12						8.24		15.54		13.56		12.20				5		1.71		1.61		7.97		8.53		7.15		6.87		16.39		16.01		16.72		16.97		10.7		11.09

												8.64		15.68		13.53		11.82				6		1.27		1.28		6.45		6.71		6.43		5.9		14.4		14.43		10.76		11.32		11.79		11.35

																						7		1.62		1.52		6.23		6.16		5.37		5.51		16.08		16.62		12.14		12.39		10.61		10.79

										はウェル間のCV値が許容域（20％）を超えたため集計から除外												8		1.48		1.68		6.66		6.19		6.17		6.13		15.64		14.7		10.55		11.27		10.66		10.37

																						9		1.11		1.06		4.78		5.25		5.64		5.32		12.92		12.74		10.58		10.64		10.56		11.01

		２．Cochranの検定																				10		1.02		1.09		5.41		5.57		5.09		5.11		14.16		13.96		10.24		10.93		10.18		10.38

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF				11		1.27		1.13		7.71		7.59		6.25		6.62		15.92		16.47		14.66		14.12		11.29		11.63

						Ｃ		0.4561		0.3004		0.2205		0.4141		0.2465		0.1590				12										8.24		8.64		15.54		15.68		13.56		13.53		12.2		11.82

																						平均値		1.41		1.40		6.49		6.61		6.33		6.24		15.11		15.16		12.73		12.92		10.92		11.04

						ラボ数		10		11		12		12		12		12				総平均				1.41				6.55				6.28				15.13				12.82				10.98

						1%		0.718		0.684		0.653		0.653		0.653		0.653

						5%		0.602		0.570		0.541		0.541		0.541		0.541

						12ラボの場合、1%＝0.653、5%＝0.541

						異常値はない

		３．Grubb'sの検定

						One outlieing obserbation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		1.517		1.596		2.017		1.413		1.870		1.269

						smallest		1.266		1.249		1.165		2.190		1.164		2.277

						Critical value（これより小さければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		2.482		2.564		2.636		2.636		2.564		2.636

						5%		2.290		2.355		2.412		2.412		2.355		2.412

						異常値は無い。

						Two outlying observation

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						largest		0.571		0.454		0.404		0.682		0.689		0.680

						smallest		0.591		0.653		0.718		0.312		0.714		0.370

						Critical value（これより大きければ正常）

								サンプルA		サンプルB		サンプルC		サンプルD		サンプルE		サンプルF

						P		10		11		12		12		12		12

						1%		0.1150		0.1448		0.1738		0.1738		0.1738		0.1738

						5%		0.1864		0.2213		0.2537		0.2537		0.2537		0.2537

						異常値は無い。

		統計量の計算

								ヱビスビール		シメイ　
ホワイト		シメイ　
ブルー		オードビアセルベリサリスエール		フローリス　
ストロベリー		小麦含有ビールを添加した調製ビール

						p		10		11		12		12		12		12						試料ペア		試料ペア		試料ペア		試料ペア		試料ペア		試料ペア						Sample Pair

						m		1.41		6.55		6.28		15.13		12.82		10.98						A/B		C/D		E/F		G/H		I/J		K/L						A/B		C/D		E/F		G/H		I/J		K/L

						sr		0.07		0.22		0.24		0.30		0.32		0.23				Number of Laboratories		10		11		12		12		12		12				Number of Laboratories		10		11		12		12		12		12

						sR		0.28		1.24		1.08		1.84		2.16		0.83				総平均値 (m)		1.41		6.55		6.28		15.13		12.82		10.98				Grand Mean (m)		1.41		6.55		6.28		15.13		12.82		10.98

						r95		0.19		0.61		0.68		0.83		0.90		0.65				併行標準偏差 (Sr)		0.07		0.22		0.24		0.30		0.32		0.23				Repeatability Standard Deviation (Sr)		0.07		0.22		0.24		0.30		0.32		0.23

						R95		0.79		3.46		3.03		5.16		6.06		2.31				併行相対標準偏差 (RSDr,%)		4.7		3.3		3.9		2.0		2.5		2.1				Relative Repeatability Standard Deviation (RSDr,%)		4.7		3.3		3.9		2.0		2.5		2.1

						CVR		20.1		18.9		17.2		12.2		16.9		7.5				室間再現標準偏差 (SR)		0.28		1.24		1.08		1.84		2.16		0.83				Reproducibility Standard Deviation (SR)		0.28		1.24		1.08		1.84		2.16		0.83

						CVr		4.7		3.3		3.9		2.0		2.5		2.1				室間再現相対標準偏差 (RSDR,%)		20.1		18.9		17.2		12.2		16.9		7.5				Relative Reproducibility Standard Deviation (RSDR,%)		20.1		18.9		17.2		12.2		16.9		7.5

						全てのサンプルのCVRは25％以下であり、許容範囲内であった。																回収率（%）		－		－		－		－		－		83.8				Recovery（%）		－		－		－		－		－		83.8

																						回収率は試料ペアA/Bと試料ペアK/Lの差を添加量で割って算出した

		回収率の計算

						調製ビール総平均				10.983

						ベースビール総平均				1.408

						添加量				10

						回収率（％）				95.8
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